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Objective
Paper Code
2502

Intermediate

Time: 20 Minutes

Part Second

BIOLOGY (Objective) GROUP -1

Marks: 17

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

Roll No. :

¥

fill the relevant circle in front of that question number on computerized answer sheet. Use marker or pen to

QONs fill the circles. Cutting or filling two or more circles will result in zero marks in that question. Attempt as
many questions as given in objective type question paper and leave other circles blank.
S.# Questions A B C D
1 | Sodium uptake in nephron is promoted by: Aldosterone ADH FSH Glucagon
2 | The number of cervical vertebrate are: 22 33 12 7
3 Muscle fatigue is caused due to accumulation Glucose | Lactic acid Fats ATP
of: 2N
Y . . Grave’s | Parkinson’s | Addison’s |Alzheimer’s
4 | Exces }IS secreted in: " . : .
> disease disease disease disease
5 At which i df regflancy, hymanembrys 1 month | 2" month | 3“month | 4™ month
is referred to a tus:
J s& : Larval
6 | Gray vegetal cytopla ‘gl s rise to: Notochord S Muscle cells Gut
@)
7 | Study of aging is called: /] > Gerontology| Teratology |Paleontology| Cytology
S
v
8 | Which one of these is not stop co&%ﬁ.{ J AUG UAA UAG UGA
i Genetic Asexual
9 | All of these are significances of mitosis exceﬂ}egeneration e . Growth
7S variation |reproduction
10 Protruding tongue, broad face and squint eyes' ‘fy'u er’s Edward Down’s Jacob’s
are symptoms of’ sydropsg | syndrome | syndrome | syndrome
. . . Y7
Which of these traits zigzags from maternal K, D ' . % aiid ¢
11 | grandfather through carrier daughter to | Autosomil linked Y-linked idad
grandson? )
] —— ﬁ Cystic
12 | A balloon catheter is used to treat: coronary S N ; Cancer
6 fibrosis
artery
13 The enzyme luciferase is not produced by an Butterily BruitAly . Hbuswily
insect except: )‘ %
A A . . u
14 Accor.dmg to endosyml?lotlc hypothesis, Lysosome [Mitochondria Ribosomé?\/lesosome
aerobic bacteria developed into:
15 (RER) Gl s O OV RPRIRIS 1S Grazing Predation |Commensalism| Parasitism
example of:
16 The average rainfall in temperate deciduous | 600 — 1500 | 750 — 1500 | 650 — 1500 | 700 — 1500
forest is between: mm mm mm mm
17 | Lung cancer is caused due to: CFC’s O).udes of Sglphur Carbqn
nitrogen dioxide monoxide




Objective
Paper Code
2504

Intermediate

Time: 20 Minutes

Part Second

BIOLOGY (Objective) GROUP -1

Marks: 17

Roll No. :

comns
3

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

fill the relevant circle in front of that question number on computerized answer sheet. Use marker or pen to

QONs fill the circles. Cutting or filling two or more circles will result in zero marks in that question. Attempt as
many questions as given in objective type question paper and leave other circles blank.
S.# Questions A B C D
1 | The number of cervical vertebrate are: 22 33 12 7
) gft{.Llscle fatigue is caused due to accumulation Glucose | Lactic acid Fats ATP
3 | Excess MSH is secreted in: G_rave s Parl_<1nson s Ad_dlson s Alzl_lelmer s
disease disease disease disease
4 AtM onih of pregnancy, Iuman:embrye 1 month | 2™ month | 3“month | 4" month
is refe }& as the fetus:
5 | Gray ve et:.l/ @ m gives rise to: Notochord Lyl Muscle cells Gut
Yy Veg )@S R g ) epidermis
N
6 | Study of aging is calk: )\ Gerontology| Teratology |Paleontology| Cytology
7 | Which one of these is not st%}nq AUG UAA UAG UGA
8 | All of these are significances of mﬂ chept Regeneration Gep el Asexua.l Growth
variation |reproduction
9 Protruding tongue, broad face and squit en Turner’s Edward Down’s Jacob’s
are symptoms of: drome | syndrome | syndrome | syndrome
Which of these traits zigzags from maternal "?“ % and
10 | grandfather through carrier daughter to X-linked Y-linked .
linked
grandson? P8
Close i Cystic
11 | A balloon catheter is used to treat: coronary \Zg D THES Cancer
fibrosis
artery NS
12 The enzyme luciferase is not produced by an Butterfly Fmi%x Fire fly Housely
insect except:
According to endosymbiotic hypothesis, . . .
13 aerobic bacteria developed jnto: Lysosome [Mitochondria R )g(; Mesosome
A . . A u
14 The relationship of shark with remoras is an Grazing Predation Commensalé?l)arasitism
example of:
15 The average rainfall in temperate deciduous | 600 — 1500 | 750 — 1500 | 650 — 1500 | 700 — 1500
forest is between: mm mm mm mm
16 | Lung cancer is caused due to: CFC’s O).(ldes - Sglpl:lur Carbqn
nitrogen dioxide | monoxide
17 | Sodium uptake in nephron is promoted by: Aldosterone ADH FSH Glucagon




Objective
Paper Code
2506

Intermediate

Time: 20 Minutes

Part Second

BIOLOGY (Objective) GROUP -1

Marks: 17

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

Roll No. :

¢
3

%

fill the relevant circle in front of that question number on computerized answer sheet. Use marker or pen to

QONs fill the circles. Cutting or filling two or more circles will result in zero marks in that question. Attempt as
many questions as given in objective type question paper and leave other circles blank.
S.# Questions A B C D
Which of these traits zigzags from maternal X and Y
1 | grandfather through carrier daughter to | Autosomal | X-linked Y-linked linked
grandson?
Closed ¥t
2 | A balloon catheter is used to treat: coronary SCID YSUC Cancer
fibrosis
)\ artery
e luciferase is not produced by an ; ;
3 - Butterfly Fruit fly Fire fly House fly
4 Accor'dmguz »endosymblotlc Epithieats, Lysosome [Mitochondria] Ribosome | Mesosome
aerobic bacter\adey¥loped into:
5 The relationisip J.? ¥, AL, SEHORAR 15 86 Grazing Predation |Commensalism| Parasitism
example of:
The average rainfall m%erate deciduous | 600 — 1500 | 750 — 1500 | 650 — 1500 | 700 — 1500
6
forest is between: mm mm mm mm
5 Oxides of | Sulphur Carbon
7 | Lung cancer is caused due to: ﬁf CFC’s - e dioxide siiioRids
8 | Sodium uptake in nephron is promoted by: d Aldosterone ADH FSH Glucagon
N\
9 | The number of cervical vertebrate are: “’g\% 33 12 7
. . » ~ A
10 0Mf}lscle fatigue is caused due to accumulation Glu‘c ; ({)Lactlc - Bt ATP
e ¢ —— —;
11 | Excess MSH is secreted in: G-rave 4 Qﬁrkl G Ad.d nkd Alzhelmer 2
disease asy disease disease
12 At which month of pregnancy, human embryo 1 month | 2nd m&{sxyd month | 4™ month
is referred to as the fetus:
A . Larval
13 | Gray vegetal cytoplasm gives rise to: Notochord spfidlermis Mq%lls Gut
14 | Study of aging is called: Gerontology| Teratology Paleont&lc/éP Cytology
15 | Which one of these is not stop codon? AUG UAA UAG UGA
. . . Genetic Asexual
16 | All of these are significances of mitosis except: Regeneration o 7o . Growth
variation |reproduction
17 Protruding tongue, broad face and squint eyes | Turner’s Edward Down’s Jacob’s
are symptoms of: syndrome | syndrome | syndrome | syndrome




Objective
Paper Code

2508

Intermediate Part Second

BIOLOGY (Objective) GROUP -1
Time: 20 Minutes

Marks: 17

Roll No. :

oo
3

s
pA¢

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

fill the relevant circle in front of that question number on computerized answer sheet. Use marker or pen to

QONs fill the circles. Cutting or filling two or more circles will result in zero marks in that question. Attempt as
many questions as given in objective type question paper and leave other circles blank.
S.# Questions A B C D
1 Accor'dmg to endosymblotlc hypothesis, Lysosome [Mitochondria] Ribosome | Mesosome
aerobic bacteria developed into:
2 tihes eSO ok Rl en g = b Grazing Predation |Commensalism| Parasitism
example of:
3 The average rainfall in temperate deciduous | 600 — 1500 | 750 — 1500 | 650 — 1500 | 700 — 1500
foresQ¥s, between: mm mm mm mm
4 Lur}/ e@}ﬂs caused due to: CFC’s O).(ldes of Sl.llpl.mr Carbqn
> nitrogen dioxide monoxide
\ 4
5 | Sodium uptak@whron is promoted by: Aldosterone ADH FSH Glucagon
J AN
6 | The number of cervi v%brate are: 22 33 12 7
7 Ig/;‘uscle fatigue is causea&d()/)]accumulatlon Atsisin | Dapteas Fats ATP
8 | Excess MEE el I ~<§ G.rave s Parl_(mson S Ad.dlson S Alzhelmer s
i disease disease disease disease
At which month of pregnancy, human ‘e'mbry ad i th
9 SR e B JZ/ S“month | 2™ month | 3" month | 4" month
10 | Gray vegetal cytoplasm gives rise to: \y rd Largl Muscle cells Gut
yveg yop & ’ sé epidermis
11 | Study of aging is called: Geron&og?)Teratology Paleontology| Cytology
12 | Which one of these is not stop codon? \<<§ N UAG UGA
13 | All of these are significances of mitosis except: [Regeneration Gen‘é&w&SX Asexua.l Growth
variatiom™reproduction
14 Protruding tongue, broad face and squint eyes | Turner’s Edward D@)"s Jacob’s
are symptoms of: syndrome | syndrome | syndrgfnos | syndrome
Which of these traits zigzags from maternal b X and Y
15 | grandfather through carrier daughter to | Autosomal | X-linked Y-linked finked
grandson?
Closed Cvstic
16 | A balloon catheter is used to treat: coronary SCID YSHe Cancer
fibrosis
artery
17 The enzyme .lumferase is not produced by an Butterfly Fruit fly Fire fly House fly
Insect except:




Intermediate Part Second Roll No. :

BIOLOGY (Subjective) GROUP -1
Time: 02:40 Hours Marks: 68

SECTION —1
2. Write short answers to any EIGHT parts. 16
(1) Homeostasis is the central requirement in the maintenance of an organism. How?
(i1) Differentiate between osmoregulators and osmoconformers.
(iii)  What is anhydrobiosis?
(iv)  Explain vertebral column.
v) What are hinge joint?
(vi)  What is hematoma formation?
(vii)  What is gestation period? Discuss.
(viii) Discuss the phenomenon of ovulation in human female. Also discuss the role of hormones in ovulation.
(ix)  What are phytoplanktons?
(x) Discuss adaptation for terrestrial ecosystem.
(xi) at is eutrophication?
(xii) ‘@a note on industrial effluents.
3. Writes Q wers to any EIGHT parts. 16
(1) How zed nervous system is better than a diffused nervous system?
(i1) Commen dden transient alterations in brain function frequently associated with changes in
consciousne
(iii)  Why most horm s haye prolonged or delayed effects in plants?
(iv)  Differentiate betwe pe and phenotype with example.
v) What is law of independ ortment?
(vi)  Define erythroblastosis foc
(vii))  Give two ways to get gene of Q}?
(viii) What is taq polymerase? Give its @cance
(ix)  What is gene therapy?
(x) Differentiate between primary succession a condary succession.
(xi)  What is grazing? Give its significance.
(xii)  How population sizes of predator and prey are ‘g ?ged in an ecosystem?
4. Write short answers to any SIX parts. 12
(1) Write down some important physiological changes tha' ace durmg aging.
(i1) Which metabolic defects are responsible for abnormal de%?s
(iii)  Differentiate between transcription and translation.
(iv)  What is meant by universality of genetic code? (g
) What is transformation? C
(vi)  State diplotene.
(vii)  Define Turner’s syndrome.
(viii) What are homologous organs? {s)
(ix)  How endangered species can be preserved? 0}\
| SECTION - II Attempt any THREE questions. Each question carries 08 e d ‘
5. (a) Write a note on kidney stones. Mention the incidence of different types of kidney stones. 04
(b) Give an account of food web. Describe the interactions between different trophic levels. 04
6. (a) Elaborate the role of plant hormones in plant movement. 04
(b) Describe the work of Meselson and Stahl to justify the semi-conservative replication as the 04
correct method of replication.
7. (a) Manipulate working of receptors with special reference to skin. 04
(b) Explain modification of environment. 04
8. (a) Describe the types of parthenogenesis in animals. 04
(b) What is dominance? Discuss the details of complete dominance and incomplete dominance. 04
9. (a) Discuss the various external factors that affect the growth of plants. 04
(b) Suggest and explain the various factors affecting the gene frequency. 04
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Objective
Paper Code
2501

Time: 20 Minutes

Intermediate Part Second

CHEMISTRY (Objective) GROUP -1

Marks: 17

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

Roll No. :

¥

fill the relevant circle in front of that question number on computerized answer sheet. Use marker or pen to

QONs fill the circles. Cutting or filling two or more circles will result in zero marks in that question. Attempt as
many questions as given in objective type question paper and leave other circles blank.
S.# Questions A B C D
: i C(" (ion)
Na'is 3 Cl*is :
1 | Which statement is correct? smaller than t]}\f:n ;;ng:; smaller than -
Na atom Clatom | (3tom)are
equal in size
Which ion will have the maximum value of . e - 2
2 heat gNhydration? Na Cs Ba Vg
3 Thr gf aluminum is: Na,A(F, |A(,0,.2H,0| A(,0, |A(,0,.H,0
4 | Laughi VG icall NO N,O NO N,O
aughing gas s f:(guca y: - : ,0,
N7
5 | Total number of tran 1ory4ements are: 10 14 40 58
)
6 | The anhydride of HC(O,is: A C(Oo, C(o, CL.O; €0,
N
Linear shape is associated with wgéh et of S > 3 >
7 | hybrid orbitals? va d 5D i ap
4
d7A Halogenation C | Hydroxylation
8 | Preparation of vegetable ghee involves: ¥ i
(§I rogenation D | Dehydrogenation
SubstifiopN Addition | Oxidation | Elimination
9 | Benzene cannot undergo: : 2 A :
reaction pactions reactions reactions
10 | Which of these is not a nucleophile? H,O \<<gs X BE, NH,
11 | Rectified spirit contains ethyl alcohol about: 80% 85;/&/&5» 90% 95%
s ' Primary | Secondary "I:?ﬁ)r
12 | Ketones are prepared by the oxidation of: alsohol alechiol b, l}gl(). All of these
L
13 | Acetic acid is manufactured by: Distillation |Fermentation| Ozonolys¥g _JEsterification
14 The fibre which is made from acrylonitrate as PVC Rayots fibre [Acrylic fibre Polyester
monomer: fibre
15 Mlcr.o—nutrlents are required in quantity 4-40g 6-200g | 6-200kg | 4—40kg
ranging from:
16 | Ecosystem is a smaller unit of: Lithosphere | Hydrosphere | Atmosphere| Biosphere
17 Newspaper can be recycled again and again by ) 3 4 5
how many times?




Objective
Paper Code
2503

Intermediate

Time: 20 Minutes

Part Second

CHEMISTRY (Objective) GROUP -1

Marks: 17

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

Roll No. :

¢
3

fill the relevant circle in front of that question number on computerized answer sheet. Use marker or pen to

QONs fill the circles. Cutting or filling two or more circles will result in zero marks in that question. Attempt as
many questions as given in objective type question paper and leave other circles blank.
S.# Questions A B ¢ D
Which ion will have the maximum value of & - 03 9
1 heat of hydration? Na Cs Ba Mg
2 | The chief ore of aluminum is: Na,A(F, |A(,0,.2H,0| A(,0, |A(,0,.H,0
3 Lau%g gas is chemically: NO N,O NO, N,O,
4 To;a\l/ 11@7{ of transition elements are: 10 14 40 58
\/}
5 | The anhydridd of "HC (O, is: ClO, C(0, C(,0; C(,0,
Linear shape is as{osc;gh: with which set of S 2 3 5
6 | hybrid orbitals? ) }\ P i 5P dap
AN
4? A | Halogenation C | Hydroxylation
7 | Preparation of vegetable ghee 1hvélyes:
J B | Hydrogenation D | Dehydrogenation
v Substitution| Addition | Oxidation | Elimination
8 | Benzene cannot undergo: d? . . . .
¥ xgactions reactions | reactions | reactions
‘\
9 | Which of these is not a nucleophile? (y N H,S BF, NH,
y L4
10 | Rectified spirit contains ethyl alcohol about: 80&?’4) >\85% 90% 95%
o y Primary [NSecohdary | Tertiary
11 | Ketones are prepared by the oxidation of: aleshol Sfhor aleotiol All of these
12 | Acetic acid is manufactured by: Distillation Fermel;éfngbzonolysis Esterification
13 The fibre which is made from acrylonitrate as PVC Ragor tibie |As @bre Polyester
monomer: > fibre
14 Micr'o-nutrients are required in quantity |, 40g 6-200g 6—208/ 4—40kg
ranging from:
15 | Ecosystem is a smaller unit of: Lithosphere |Hydrosphere| Atmosphere| Biosphere
16 Newspaper can be recycled again and again by ’ 3 4 5
how many times?
s i C(7 (ion)
Na" is 5 Cl"is :
17 | Which statement is correct? smaller than tI}:I:n ;\Slz:?;rt%)er; smaller than and. C£
Na atom Ctatom | Btom)are
equal in size




Objective
Paper Code
2505

Intermediate

Time: 20 Minutes

Part Second

CHEMISTRY (Objective) GROUP -1

Marks: 17

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

Roll No. :

¢
3

%

fill the relevant circle in front of that question number on computerized answer sheet. Use marker or pen to

QONs fill the circles. Cutting or filling two or more circles will result in zero marks in that question. Attempt as
many questions as given in objective type question paper and leave other circles blank.
S.# Questions A B C D
1 | Rectified spirit contains ethyl alcohol about: 80% 85% 90% 95%
S ; Primary | Secondary | Tertiary
2 | Ketones are prepared by the oxidation of: dleohiol - alcohol All of these
3 | Acetigacid is manufactured by: Distillation |[Fermentation| Ozonolysis |Esterification|
4 TheNab, hich is made from acrylonitrate as PVC Rayon fibre |Acrylic fibre Polyester
mononer? / > fibre
5 Micr.o—nutr‘i‘eﬂ re required in quantity |, 40g 6-200g | 6-200kg | 4-40kg
ranging from: R
6 | Ecosystem is a sm;{lm]lj?li)of: Lithosphere [Hydrosphere| Atmosphere| Biosphere
& :
7 Newspaper can be recycled@ and again by ) 3 4 5
how many times? o
14 —
ﬁsé Na”is Na" is larger Cl'is CCd(g)?)
8 | Which statement is correct? smaller than 8T | smaller than| 2"
than Na atom (atom) are
Na atom C( atom i
7S, equal in size
Which ion will have the maximum value of 3 0 55 2
g heat of hydration? (yﬁ N\ s Ba Mg
N
10 | The chief ore of aluminum is: Na,A 4)\%\03.2H20 A(,0, |A(,0,H,0
11 | Laughing gas is chemically: NO \<<g0} NO, N,O,
12 | Total number of transition elements are: 10 1:1«/&5» 40 58
13 | The anhydride of HC(O,is: C(0, Cro, e@(}g} C(,0,
Linear shape is associated with which set of 2 ;\/ 2
S 2 3
1% | tybridiorhinls? 4 5 P P
A | Halogenation C | Hydroxylation
15 | Preparation of vegetable ghee involves:
B | Hydrogenation D | Dehydrogenation
) Substitution| Addition | Oxidation | Elimination
16 | Benzene cannot undergo: ; . " "
reactions reactions reactions reactions
17 | Which of these is not a nucleophile? H,O H,S BF, NH,




Objective
Paper Code

2507 Time: 20 Minutes

Intermediate Part Second

CHEMISTRY (Objective) GROUP -1

Marks: 17

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

Roll No. :

¢
3

s
pA¢

fill the relevant circle in front of that question number on computerized answer sheet. Use marker or pen to

QONs fill the circles. Cutting or filling two or more circles will result in zero marks in that question. Attempt as
many questions as given in objective type question paper and leave other circles blank.
S.# Questions A B C D
1 The fibre which is made from acrylonitrate as PVC Riyontibre [Acrylicifibre Polyester
monomer: fibre
) Mlcr'o—nutrlents are required in quantity 4-40g 6-200g | 6-200kg | 4—40kg
ranging from:
3 | Ecosystem is a smaller unit of: Lithosphere |Hydrosphere| Atmosphere| Biosphere
4 Ne‘»'%sp ey can be recycled again and again by ) 3 i 5
how mawy ﬁ’ﬁps?
g )
O Nais Na“ is larger Cl'is Ccd(g?)
5 | Which statemenﬁgo ct? smaller than - atg i smaller than| "
?% Na atom RO . | IGRMIjaES
N )\ equal in size
Which ion will have the fﬁagj um value of A N 5 %
6 heat of hydration? ﬁ % Na Cs Ba Mg
14
7 | The chief ore of aluminum is: : E; f Na,A(F, |A(,0,2H,0| A(,0, |A(,0,H,0
4
8 | Laughing gas is chemically: 2> NO N,O NO, N,O,
< >
9 | Total number of transition elements are: ﬁﬂ N 14 40 58
Oy
10 | The anhydride of HC(O,is: Ce 343 )E:[Oz C(,0; C(,0,
Linear shape is associated with which set of 5 ~ ) 3 3
11| hiybrid orbitals? P » i dep
A | Halogenation ~«/&S»C Hydroxylation
12 | Preparation of vegetable ghee involves:
B | Hydrogenation D ~{§$yg‘rogenation
Substitution| Addition | OxidattSy ¥Elimination
13 | Benzene cannot undergo: 2 : : 5
reactions reactions | reactions “f reactions
14 | Which of these is not a nucleophile? H,O H,S BE, NH,
15 | Rectified spirit contains ethyl alcohol about: 80% 85% 90% 95%
Sy ; Primary | Secondary | Tertiary
16 | Ketones are prepared by the oxidation of: alcohol alcohol alcohol All of these
17 | Acetic acid is manufactured by: Distillation |Fermentation| Ozonolysis |Esterification




Intermediate Part Second Roll No. :

CHEMISTRY  (Subjective) GROUP - I
Time: 02:40 Hours Marks: 68

SECTION —1

2. Write short answers to any EIGHT parts.

(i)
(ii)
(iii)
(iv)
(v)
(vi)
(vii)
(viii)
(ix)
(x)
(xi)
(xii)

(iii)
(iv)
(v)
(vi)
(vii)
(viii)
(ix)
(x)
(xi)
(xii)

Why the second value of electron affinity of an element is usually shown with positive sign?
Write down the two points of similarity between hydrogen and members of carbon family.
Write down the formula of (i) Dolomite (ii) Epsom salt
Discuss the role of gypsum in agriculture.
What is chemical garden?
Why the aqueous solution of borax is alkaline?
Give the two reactions for the formation of laughing gas (N,O).
What is aqua rigia? How does it dissolve gold?
What are typical and non-typical transition elements?

at is chromyl chloride test? Give its reactions.

cement. Give the names of argillaceous materials.
e quations for the manufacture of urea.

3. Write short an§werg to any EIGHT parts.
(1) Discuss th iar behaviour of fluorine (any 4 points).
(i1) Discuss the oxt Lz%@power of halogens. Give its order also.

Define carbonizatton. #ive the products of carbonization of coal.
Discuss the importan canic chemistry in daily life.
pving reactions.

Write down the names and sk&letQf ofall possible isomers of C,H,, .

How ethene is converted into ethylsfcohol? Also give conditions of reactions.
Give IUPAC names of: (a) (CH,CH, ), CBp (b) CBr,

Convert ethene into 1 — Butanol.

Differentiate between thermoplastic and thermfgat‘?flastic.

Define degree of polymerization by giving one ex

Give the reaction of hydrolysis of fats.

4. Write short answers to any SIX parts. ’(?\Z\

(i) Write objections to Kekule’s formula of benzene.

(i)  What are metadirecting groups? Give examples. <§

(iii)  How is ethanol converted to methanol? “C

(iv)  Why is phenol acidic? &

v) What is iodoform test? Give its uses.

(vi)  Write note on reduction of acetic acid. ’/s)

(vii)  Discuss strecker synthesis. 0

(viii) What are leachates? @

(ix)  Briefly explain the terms BOD and COD.

| SECTION —1I Attempt any THREE questions. Each question carries 08 marks.

5. (a) Explain variation of melting and boiling points along the group and period.

(b) Write down any four peculiar behaviour of boron with the members of its own group.
6. (a) Explain preparation of sodium by Down’s cell on commercial scale.

(b) Write a note on these properties of transition elements: (i) Paramagnetism (ii) Colour
7. (a) Discuss coal as a source of organic compounds.

(b) Write a comprehensive note on nucleophilic (S, 1) unimolecular reaction.
8. (a) How does ethyne react with:

(i) Halogen acid  (ii) Hydrogen (iii) Alkaline KMnO, (iv) AgNO,/NH,OH

(b) Define aldol condensation with an example. Give its mechanism.
9. (a) What is resonance? Explain the structure of benzene on the basis of resonance method.

(b) Explain acidic nature of phenol.

16

16

12

04
04
04
04
04
04

04

04
04
04
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< I A 32 Lo e s s Ly 14 Q60 2Bt o sDACBAM2 LN Ly 1
K? JJI.,«LZuf P10 .:«JJ‘J 2/ j,/ .bb’]..d./ /,f uu’lmy(—..{l-g:J A

Ay
1

D C B A Questions | =i vy
oo S e F
1862 +1892 1875 +1920 5 S : : = 1
When was Aligarh University established?
oo™ Sty NP JO1E il e SN S LR,
Maulana Altaf] Syed Ameer Allama Sir Syed ki s wiltten “iavat-eTaved® T 2
Hussain Hali Ali M. Igbal | Ahmed Khan o has c ayat-c-Ja )

'/_)?lulu'/, ,»Gulul}/ »‘/mluLV '/,)f/lulubl/ %QL{LU_V/)LUYL)J/MMV
Hindus and | Muslims and | Muslims and | Muslims and | Lucknow Pact was signed between which two 3
Englishmen £\ Sikhs Hindus Englishmen | nations?

’Q, D ?J_WIJJUFL/&J;BJLK-Q A
650 & 550 500 What were the numbers of princely states at the time 4
A~ of division of subcontinent?
Y R ey
1901 188 1875 1863 o er P Ul | 5
< N When scientific society was established?
7 - S e e
< 5SS E e b1l F TG
44 04 4 34 How many laws were approved by the new 6
( ) ) Constitutional Assembly in its first session?
284 280 2 XV g 254 o B e 161956 |
N 1956 constitution was consisted of how many articles?
"~<6 SIS A LB L U5 L1962
85,000 80,000 32,000 707000 ﬂ What was the number of the members of the Basic | 8
rDamocracies System of 1962?
N s {7t
106 92 104 100 teiSdu Lo | g
styg number of the total members of the Senate?
J3s Juas Ju40 J50 4 el il S e te | 10

35 Years 45 Years 40 Years 50 Years | What is midyimm age limit for President in Pakistan?

Ju68.2 Ju65.4 JL60.8 Ju62.5 ! el bl Isce] | 14
68.2 Years | 65.4 Years | 60.8 Years | 62.5 Years | What is average f women in Pakistan?

(qd;&d,méfLJWLGyJuﬁazo19-20
1.2 % 1.1% 1.5% 1.0 % ?%V”C’«j“-jz 12
According to economic survey 2019-20, what
percentage of our GDP is spent of {€ Jealth sector?
o s " . VBL{LAM{@“&{, &Jg‘j\:«u.b(/ﬁd}’/
J“"f)‘ Obd)’c}l/" L B ‘fu", s dﬁlj l; d What was the first word of the first revela€o) upon the | 13
ustice cdience rotection tudy/Rea RisockeAkrany R Fe o u::_:‘ f'u?
?VS‘L//(KQ/‘Jlﬁéﬂd;ru:uWig
01 03 04 05 How many types of educational institutions are 14
working in Pakistan?
o7 & i A _ viar,[;gc«':d; i.ﬁl%(j;uww "
Eight Five Only Two | Not any one How many national elections were held from creation
of Pakistan to 19562
YT e TR
~1984 /1955 <1975 1980 : 16
When Bandung Conference was held?
(-'gib(/_f-.?r'/:){dw/u_l./uc:dl?iuluﬁ
#1960 +1961 #1962 1963 When territorial agreement was signed between China | 17
and Pakistan?
el Vs Ly S e bt b B | 18
Pakistan British America China In which country multi-party system is enforced?
ﬁl; S o fe ?Aad!:ubf}'})_'r_/'/g%/?(l}l 19
Washington | New York Berlin Chicago Where Secretariat office of United Nations is located?
11919 11946 11921 11945 AT | 59

When United Nations was formed?




:/:’;Ju

3

3

*E :«;&

(s

20:/‘)(

ey

)J(r‘

223003,

Objective
Paper Code
2335

< I A 32 M Lo e s s Ly 14 Q60 2Bt L o sDACBAM2 Ll L1y 1
Lnid JJI.,«I!.uf ARy J 4l 3 4/’ .:«K!..d./ 4:( UsAamlieLi-Eos &

Ay
1

D C B A Questions | =i vy
NPT (B
2 > When Bandung Conference was held?
?@/4;,/(:;&”/0.?/:&0%/5!@5
#1960 #1961 #1962 1963 When territorial agreement was signed between China | 2
and Pakistan?
el s Ly S te bt bS5 | 4
Pakistan British America China In which country multi-party system is enforced?
ﬁl: ,<y ._«C_l:zj J/. e ?;_d:,uqfﬁ;;c}/?K,irlil 4
Washington\y )(av York Berlin Chicago Where Secretariat office of United Nations is located?
“ e o
1919 ,@& 1921 11945 . ‘ Vafihdedl | g
) When United Nations was formed?
~ $dnf6 S g0 ¥
1862 1892 <</ A187 11920 fonf ULl T T | g
’ N\ 75 > o When was Aligarh University established?
St Sty F 2ia ﬁ)@w e 5 ;S W
- " Y ( bl
Maulana Altaf| Syed Ameer A Sir Syed Who h itten “Havat-e-J d,,q‘éﬁLJ Lhdd 7
Hussain Hali Ali N Rl A i Rokii | AN RAIREL Hayaiedavec
%z fiu!u’/‘ imuu/ 5;‘/:13'&1,-1/‘ / ﬁ/ﬂut}/‘ ?L&_Lu?n&ur;»dﬁ:"’gp*bﬁ
Hindus and | Muslims and | Muslims and slyMts and | Lucknow Pact was signed between which two 8
Englishmen Sikhs Hindus EnXjshmen | nations?
A AN
650 600 550 500 d at were the numbers of princely states at the time 9
ivigion of subcontinent?
"’ 0 Fe S L ¥
11901 /1886 /1875 /1863 < _ el Ubrfle | 19
When Xigntii¢ society was established?
< [d; > J‘f:niﬂagwl#;y';u‘f’uvi/w
44 04 14 34 How many s dyere approved by the new | 11
Constitutional As! lyyin its first session?
284 280 234 254 - QP 4ot £761956 | 1
1956 constitution was cor&isyed of how many articles?
o‘frg:l,&;d/u!/éﬂb :/x"?d)_lf'.éf 1962
85,000 80,000 32,000 70,000 What was the number of the m ?bof the Basic | 13
Democracies System of 1962? ) N
106 92 104 100 , e P Lo [ gy
What is the number of the total members of the Senate?
J3s Juas Ju40 Jv-50 el Sl potobl | 45
35 Years 45 Years 40 Years 50 Years | What is minimum age limit for President in Pakistan?
J68.2 J65.4 J-60.8 J62.5 PN SR BTN 16
68.2 Years | 65.4 Years | 60.8 Years | 62.5 Years | What is average age of women in Pakistan?
KBS0 GMg 2t L SO Les r AT1L2019-20
12% 1.1% 1.5 % 1.0 % tetnp i | 17
According to economic survey of 2019-20, what
percentage of our GDP is spent on the health sector?
. s . . ﬂ;_lﬂ;ﬂu:;ﬁf:&f:/, fg“yyj;«/”’gj_‘:fjlf’t}(/ldr/
J”L‘,’” 05’3’," v B o . . d"j l‘l d What was the first word of the first revelation upon the | 18
ustice edience rotection tudy/Read | o @ e Akram BF 4o o) 62
‘.‘u_g(‘-_//(l{;/l)ld}dﬁf:’jfgfuu‘itt
01 03 04 05 How many types of educational institutions are 19
working in Pakistan?
47 4L ey S LSBT E 1956 ol 20
Ei pikd How many national elections were held from creation
ight Five Only Two | Notany one of Pakistan to 19562
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D C B A Questions | =i vy
J68.2 J65.4 J60.8 Ju62.5 P N BTN 1
68.2 Years | 65.4 Years | 60.8 Years | 62.5 Years | What is average age of women in Pakistan?
FUSE g2 L L0 L s L1 L,2019-20
12% 1.1% 1.5% 1.0 % ‘etnp i | )
According to economic survey of 2019-20, what
percentage of our GDP is spent on the health sector?
. . . ‘-'li_b@ﬂll;;(&:df‘-{/_: ﬁ&’i.;pﬁufu(/:dm
J"“f” < ‘5”;’ W y e ) S d“j l‘{ d What was the first word of the first revelation upon the | 3
ustice fbj ience rotection tudy/Read | o l-e-Akram ) 262
vg b 2?//{(@/':’&.&120;{‘):0@@
01 O 04 05 How many types of educational institutions are 4
7 N working in Pakistan?
7 C(;/'_v N \/Z uf’u’-x_" . ?ZLW.'/.;.;&'?'U;Z:.F;1956:.wl"2%(l_5 5
Eight Five OnWl'T Not any one How many national elections were held from creation
- £ of Pakistan to 19567
= TR
+1984 -1955 /1975 1980 WSV | §
I/ When Bandung Conference was held?
I @ WS Lo Gio poen Ll Sl
#1960 #1961 #1962 W63 When territorial agreement was signed between China | 7
d Pakistan?
- hS
ol b Ly st %g e bt LB | g
Pakistan British America China w}&b country multi-party system is enforced?
dbé;, J/p:' J/. e @ vc_d;,uq/)_c/,?r,fr|}| 9
Washington | New York Berlin Chicago Where iat office of United Nations is located?
0 Lo 13
11919 11946 11921 1194 NZ OBl et | 4
3 8 45 When United _pq@was formed?
od/(h J(f/i"wfd‘
1862 1892 1875 +1920 11
When was Aligarh Um @estabhshed"
o™ SWitys F 2ia JOILE ke bRl g . L el
Maulana Altaf| Syed Ameer Allama Sir Syed Whis Hiks wiitten, “Havat-eJaveand e (12
Hussain Hali Ali M. Igbal | Ahmed Khan Y / P
'/_/6/5!3,«51' imuu/ sxzsl U % flulcjl.)‘/ ?L&_Luyuy D ;""‘GMU‘
Hindus and | Muslims and | Muslims and | Muslims and | Lucknow Pact was signed between ich two | 13
Englishmen Sikhs Hindus Englishmen | nations?
?fgjlﬂg}/u?&/(ﬁ');ﬁﬁéﬂ;’ Jﬁ."/
650 600 550 500 What were the numbers of princely states at the time 14
of division of subcontinent?
1901 1886 1875 1863 o WUfT gL | g
When scientific society was established?
?d;dzPJdniszwngzrvLan;L/g:’T(f
44 04 14 34 How many laws were approved by the new 16
Constitutional Assembly in its first session?
284 280 234 254 . B P L T61956 | 44
1956 constitution was consisted of how many articles?
U A LB LUzt L1962
85,000 80,000 32,000 70,000 What was the number of the members of the Basic | 18
Democracies System of 19627
106 92 104 100 , feldlo A S L | g
What is the number of the total members of the Senate?
J35 Ju4s Ju40 Ju50 Sl Ol Sl o el 20
35 Years 45 Years 40 Years 50 Years | What is minimum age limit for President in Pakistan?
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D C B A Questions | =i vy

?d)duﬁ"Jdl;Zu:JUﬂé’_:z’_ﬂLJ-’l}L/u:/TJ

44 04 14 34 How many laws were approved by the new 1

Constitutional Assembly in its first session?

284 280 234 254 . e F 1601956 |
1956 constitution was consisted of how many articles?
SIS A L8 LUzt S £51962

85,000 80,000 32,000 70,000 What was the number of the members of the Basic | 3

N Democracies System of 1962?

106 ‘/O}g 104 100 _ e dbufS L |y
~ What is the number of the total members of the Senate?

35 % J40 50 Vol §e ottt |

35 Years 45 Yeds Py 40 Years 50 Years | What is minimum age limit for President in Pakistan?

Ju68.2 J654 <Y D608 Ju62.5 el LI, |
68.2 Years | 65.4 Years 0.8 Pears | 62.5 Years | What is average age of women in Pakistan?

X O KIS GG gt Lo L L s L1 L,2019-20
12% 1.1% 1.5% /I/ 1.0 % tetnpiidd | g
According to economic survey of 2019-20, what
)‘ percentage of our GDP is spent on the health sector?
. o . V ?Ggyﬂlk;{(;)&é ﬁyioﬁ’u_ﬁ?lfu(ﬁd;’/
7 "’“f“ Og”(’i{’ Y o ‘ﬂy, S df‘//’ E‘{ aﬂ ?N hat was the first word of the first revelation upon the | 8
ustice edience rotection tudy/Re y (@ogl-e- Akram B8 2= o 62
‘I\p ?ugglergjn,uoiwéffru:uu@
01 03 04 05 How' ﬁ types of educational institutions are 9
workingN %Bistan?
~ S 2SN &« il 4
Py i il S E \ ;wf;gwd; 44_’_(,1956:_ut,@rg
. i How many natt ctions were held from creation | 10
Eight Five Only Two | Not any one of Pakistan to 19562
Y s S | 1
i ehetn LR A5G When Bandung Conferen as held?
"Lf;b(/_/’./’:,fd Vﬂéc)l’ﬂluldg
#1960 #1961 #1962 1963 When territorial agreement was si cen China | 12
and Pakistan?
Eor b L Vot e bt 3T 5 | 13
Pakistan British America China In which country multi-party system is enforced?
ﬁb .J//_l:z; J/. fe ?.Ldl,uq/;j)q}/.c%i"'l;l 14
Washington | New York Berlin Chicago Where Secretariat office of United Nations is located?
Wdnfo S
/1919 +1946 £1921 <1945 C 15
When United Nations was formed?
$dnfo SG g0l F
1862 1892 <1875 +1920 . L ".y( TR 16
When was Aligarh University established?
doo” Sty | g JO1Z e e e L S Mot
Maulana Altaf| Syed Ameer Allama Sir Syed Wiis Haswiitten “Hivit-s-Faved™? = |17
Hussain Hali Ali M. Igbal | Ahmed Khan Y ’

'/_/?fu!u'/‘ i/sruu/ sxzsl U '/_fwuu/ ?L.&Luyuﬁuriugf/;”gubﬂ
Hindus and | Muslims and | Muslims and | Muslims and | Lucknow Pact was signed between which two | 18
Englishmen Sikhs Hindus Englishmen | nations?

?d{_l_f'/)lﬂd/ur"’&/uf);:”é(:mg;ﬁu/.
650 600 550 500 What were the numbers of princely states at the time 19
of division of subcontinent?
11901 /1886 /1875 /1863 SS9

When scientific society was established?
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(Part-1 Jil4za )

16 Write short answers to any EIGHT parts. -’4’:.;»2/’3‘ Loandedd 2
Write a single edict of Quaid-e-Azam regarding the Ideology of Pakistan. -_é/j"gjt}..{léf(/u’l?;i.liéul?@,/j (i)
When and where was Scientific Society established? vt WMol G §5 LB (ii)

?J/Jlla.;«l.,éd/ufwz)’?m&/_id:u:/l)l";lé_ul&il,y/ (iii)
Which two English teachers did Sir Syed Ahmad Khan hire for his institutions?

Write any two books written by Sir Syed Ahmad Khan. -é(t&.jf’u?udéﬂfuuilf/ (iv)
When and who presented the objectives resolution? ST P Y) v)
What is meant by independence of Judiciary? Sl Ya's =TS Ju (vi)
When and who dissolve the first Constitutional Assembly? ?y”cr'“;_/ u!._/"f&-" ch/_’/n’J(? (vii)
How feudal system damage to national integration? ?;_tg:{guﬁf J’f”dic)"f R [(, (viii)
Describe any two health problems in Pakistan. <§ugJ/V;;an£J¢u% (ix)
What is meangby equity? Sl /L_/:_;J»»J;“l (x)
How is it p@ o end provincialism? ?‘cdgd“//“l&(&’/‘:&fl:f (xi)
Describe the n@ of foreign policy. <_£gy,fx‘"’m’5g._>,u (xii)
16 Write short & s to any EIGHT parts. -ﬂ.;«l,lﬁ/'? Loandiedd 3
C‘y Sy @’Td,,fu,»;m;@w&d,uf (i)
How long did the first posttigdefdudence interim constitution of Pakistan came into force?
Write down two basic rights regz the objectives resolution. L FOP $nl s} (i1)
f -é(lféid:ﬂ)ld{ﬁ)(cl?d"d:u}_ﬁL;1956 (iii)
Write the names of two constitutional @ ions established under 1956 constitution. .
When was the 1973 constitution enacted 1 isfan? b T6:1973 LIl (iv)
Why the constitution of Pakistan is called Isl stitution? e bl U LT85 kf/l'ﬁul"i (v)
What is the definition of a Muslim under the consz:;on of 1973? ?‘ngb@fy’JuWJL‘f/TLAWj (vi)
Who chairs the Senate? ?;,r/ WfetrSse o (vii)
How many seats in the National assembly are reserved fﬁ ities? S f:} J"’ LU ETIgd (viid)
Write two conditions for eligibility for a member of the Nati.ggI mbly. A0 fad Lo §ALEIG (ix)
Write down the two judicial powers of Parliament. _é.:,u,giu’mué_wf/g (x)
Write any two facilities to the President of Pakistan. (? i F el st (xi)
How long can the Prime Minister of Pakistan hold office? .‘LCCM'/’G/?(_,‘,!'%!..FJqu(ﬁ;l/_;; (xii)
18 Write short answers to any NINE parts. .é..:yzﬁg Loazic s -4
Who and when established Indian National Congress? ?Jf" ] f;gl_ﬂjﬂf{ﬁ@};n (i)
What was the incident of “Chora Chori”? & WSz S (ii)

Write the two objectives of All India Muslim League when it was established? — _z0ozs35 GL..:O(VLJ:UT (iii)
When and who presented the plan of partition of subcontinent? Ve Aol & - (,j A (iv)
What is meant by Vote of No-Confidence? 2 g1 (v)
What is meant by One Unit? Sl /g(.u@;m (vi)
Which institution has the authority to temperate the Judges of Higher Judiciary? ?;r/mrvuf B Uil Jud  (vil)
Bicameral Legislature is the part of which constitution? ?‘Lg:d_’/fuf s Qi (viid)
What does “LUMS” stand for? 99_,;,'; £/ “LUMS” (ix)
Describe Hazrat Umar <44\°, popular saying about justice. I N E e 2 S AL (x)
Write down two disadvantages of sectarianism? eI Lol 3} (xi)
Write down the names of any two organs of the United Nations. _g'/rtéu,/md;guﬁa,é’rn}u (xii)
What is meant by Durand Line? ?g:!/gcdfufv‘/gi (xiii)

ALy 1oy febizlctirf = 3 g gadcas
Part — II, Attempt any THREE questions. Each question carries 10 marks.

Write down the causes to establish the Muslim League. o LB L DM 5
Explain the Ideology of Pakistan. -“éyu,Juu@,/ﬁ -6
Describe the salient features of the constitution of 1956. _"éuy.duwﬂédu’&w% -7

_“éug..;,ym-c‘_/nﬂ&?“ d;u:dl;@:;:’lyq -8
At this time Pakistan’s National Integration is indispensable. Give reasons.
EoketbdenzrJosul L 80l 9

Explain the main features of Pakistan’s Foreign Policy under current international scenario.
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Intermediate Part Second

Computer Science ( Objective )

Time: 20 Minutes Marks: 15

Roll No. :

3

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

fill the relevant circle in front of that question number on computerized answer sheet. Use marker or pen to

QONs fill the circles. Cutting or filling two or more circles will result in zero marks in that question. Attempt as
many questions as given in objective type question paper and leave other circles blank.
( MS-Access )
S# Questions A B C D
1 | A collection of related fields is called: Character Record File Database
2 | A table must have: Sort key  [Secondary key|Composite key| Primary key
Which of these is used to describe the ; ; ; o .
3 characteristics of an object? Attribute Relationship | Cardinality Modality
4 Diffepyqt attributes in two different tables have Svnonvm Homonvm Rl Mutually
sam§ fianmare called: YHony: Y Y exclusive
5 | The ouutbpa query is in the form of a: Report Form Table Query
6 !n a re!at@ atabase, a single piece of Field Record Entity Row
information 1s dalletl:
N
C — Language OR Visual Basic )
P ( C — Language )
7 | Debugitthe processiok X O/7 Creating bugs | Identify and | Identifying | Removing
* in program | remove errors errors errors
The process of running an excoudbld) file is ; i3 : ;
8 Kknown as: ~ Debugging | Compiling Executing Saving
9 | Which of these is a valid character constad@ , “6” “b” a =
10 | Which of these symbol is used for AND operator? |} \\ ! && id
1 Which characte; use for the beginning of a 7 ( \ / /
escape sequence’ < 4 AL
12 | All of these are control statements except: Se’f;qgﬂt?a}\ Repetition Selection Relation
13 | One execution of a loop is known as a(n): Cycle™ ?|» Duration Iteration Test
) Actualv.(j-) ummy Original Referenced
14 | Formal arguments are also called: Asgnmenits | Vigtiments | Zreuments | JSseomenis
Which of these mode open only an existing file for o N ﬁg G %5 G i
i3 both reading and writing? W /‘ i ki
OR  ( Visual Basic \’(Q
; ; : : ; Entity
7 A gr:\phl'f}?l rc.:preslin(tftlon of the steps involved in I?DIgorlthm iswlage l?)a?$l;m Relationship
an algorithm is called: lagram h ayf‘ "%l Disgram
8 | Basic was introduced in: The 1940s The 1950s The 19608, ADThe 1970s
: Y
A portion of VB IDE used to browse files of a Drajent : Form Layout | ...
9 : Explorer [Form Window ; File Manager
program is called: ; Window
Window
10 Which form property will put text in the title bar Title Border Text Caption Header
of the form?
Which method, loads a form in memory if not
i loaded already and displays it on the screen? Lond Shew Unload Laok
12 How.mar?y bytes are occupied by decimal data 2 3 12 16
type in Visual Basic?
13 Tht? statement that forces the declaration of all Stitic ReDim Optl.Ol’.l Dim
variables is: Explicit
What does <> symbol mean when used in a Gredist taat Less than or |Greater than or|
14 S but not equal | Not equal to
decision structure? ol equal to equal to
15 | The increment in a For --- Next loop can be: Positive 0 Negative Any
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A

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

fill the relevant circle in front of that question number on computerized answer sheet. Use marker or pen to

QONs fill the circles. Cutting or filling two or more circles will result in zero marks in that question. Attempt as
many questions as given in objective type question paper and leave other circles blank.
( MS-Access )
S.# Questions A B C D
1 | The output of a query is in the form of a: Report Form Table Query
2 !n a re_lathnal database, a single piece of Field Record Entity Row
information is called:
3 | A collection of related fields is called: Character Record File Database
4 | A tap@)nust have: Sort key  [Secondary key|Composite key| Primary key
Whinly these is used to describe the ; : ; o ’
5 characiSeietigd of an object? Attribute Relationship | Cardinality Modality
Different aui¥f in two different tables have Mutually
6 Synonym Homonym Acronym §
same name are Qalled» exclusive
ﬁ?\( C — Language OR Visual Basic )
o~ (C—Language)
7 | One execution of a loop is knofn gs p(n): Cycle Duration Iteration Test
4 Actual Dummy Original Referenced
i S Za < Arguments | Arguments | Arguments | Arguments
Which of these mode open only an existil‘g&é for . e iy o9 € 99
9 both reading and writing? W -l rr ok
10! | Debugisiicpioecisioh (%atmg bugs| Identify and | Identifying | Removing
ngogram | remove errors errors errors
The process of running an executable file is | \ - . .
11 i Dggglh’?\ Compiling Executing Saving
12 | Which of these is a valid character constant? “6 o L\ b a =
13 | Which of these symbol is used for AND operator? N PN && #
Which character use for the beginning of an X
14 5 { / f
escape sequence’ P
15 | All of these are control statements except: Sequential Repetiﬁ({) Selection Relation
OR ( Visual Basic © .
7 Thc? statement that forces the declaration of all Static ReDim 0) : Dim
variables is: Ex q( »
What does <> symbol mean when used in a ey Less than o< eater than or|
8 o but not equal | Not equal to
decision structure? to equal to equal to
9 | The increment in a For --- Next loop can be: Positive 0 Negative Any
: : ; 3 ; Entity
10 A graph!cal representation of the steps involved in Algorlthm Hieveclingt Da.ta Flow Relationsitip
an algorithm is called: Diagram Diagram ;
Diagram
11 | Basic was introduced in: The 1940s The 1950s The 1960s The 1970s
; Project
12 A portion of VB IDE used to browse files of a Explarer  |Borm Window Fom Layout File Manager
program is called: ; Window
Window
13 Which form property will put text in the title bar Title Border Text gkl Header
of the form?
Which method, loads a form in memory if not
14 loaded already and displays it on the screen? Load Sitow Unload Loal
15 How'mal'ly bytes are occupied by decimal data 4 p 12 16
type in Visual Basic?
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%

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

fill the relevant circle in front of that question number on computerized answer sheet. Use marker or pen to

QONs fill the circles. Cutting or filling two or more circles will result in zero marks in that question. Attempt as
many questions as given in objective type question paper and leave other circles blank.
( MS-Access )
S.# Questions A B C D
Which of these is used to describe the : z ; S i ;
1 characteristics of an object? Attribute Relationship | Cardinality Modality
Different attributes in two different tables have Mutually
2 Synonym Homonym Acronym :
same name are called: exclusive
3 | The gdput of a query is in the form of a: Report Form Table Query
4 In ’Q\Zré {onal database, a single piece of Field Recoid Entit i
inform: Pealled: Y
5 |A collectio(ygﬁle‘ted fields is called: Character Record File Database
6 | A table must h:{@: ’) Sort key  [Secondary key|Composite key| Primary key
ﬁ?\( C — Language OR Visual Basic )
o~ (C—Language)
7 Which characte; use for me@l ning of an ' \ / /
escape sequence’ Pl
8 | All of these are control statements e N Sequential Repetition Selection Relation
9 | One execution of a loop is known as a(n)(:f Cycle Duration Iteration Test
b Actual Dummy Original Referenced
10 | Formal arguments are also called: <1 fpegamens | Arguments | Avgumens | Atguments
Which of these mode open only an existing file for %g s 5 05 Yo 55
§ vz + +
s both reading and writing? “% a r W
13| Diebugikilieprosessol C'reatﬂ(g b, Identify and | Identifying Removing
in progragy A¥jnove errors errors errors
The process of running an executable file is . r - . .
13 Known as: Debugging | C, %lmg Executing Saving
14 | Which of these is a valid character constant? “6” <Y 2 a =
15 | Which of these symbol is used for AND operator? \\ ! ‘(, && #
OR ( Visual Basic © .
Which method, loads a form in memory if not U(§(
7 loaded already and displays it on the screen? o Eiow ? » Tk
i i |\
8 How.mar.ly bytes are occupied by decimal data 4 3 12 < 16
type in Visual Basic?
9 The' statement that forces the declaration of all Static ReDim Optl'Ol’.l Dim
variables is: Explicit
What does <> symbol mean when used in a Gireatir than Less than or |Greater than or|
10 .. but not equal | Not equal to
decision structure? to equal to equal to
11 | The increment in a For --- Next loop can be: Positive 0 Negative Any
. : s : ’ Entity
12 A graph!cal representation of the steps involved in Algorlthm Flowchart Da.ta Flow Relationship
an algorithm is called: Diagram Diagram .
Diagram
13 | Basic was introduced in: The 1940s The 1950s The 1960s The 1970s
. Project
14 A portion of VB IDE used to browse files of a Haplorer  |HormWindow Form Layout FileMiamper
program is called: ; Window
Window
15 Which form property will put text in the title bar Title Border Text Caption Monitboe
of the form?
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You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

fill the relevant circle in front of that question number on computerized answer sheet. Use marker or pen to

QONs fill the circles. Cutting or filling two or more circles will result in zero marks in that question. Attempt as
many questions as given in objective type question paper and leave other circles blank.
( MS-Access )
S.# Questions A B C D
1 !n a re}atlgnal database, a single piece of Field Resiid Entity Row
information is called:
2 | A collection of related fields is called: Character Record File Database
3 | A table must have: Sort key  |Secondary key|Composite key| Primary key
Whi of these is used to describe the ? ’ ; T -
4 chafdiepcs of an object? Attribute | Relationship | Cardinality Modality
5 Differehtattbytes in two different tables have Svnonvm Homonvm Acronvm Mutually
same name Qug/caled: ynony Y Y exclusive
6 | The output of algueryys in the form of a: Report Form Table Query
ﬁ?\( C — Language OR Visual Basic )
< (C-Language)
7 | Which of these is a valid cha\raéer} stant? 6™ “b> a =
8 | Which of these symbol is used fa'r'vlﬁ%}qperator? \\ ! && #
Which character use for the begi an
9 o { \ /I /
escape sequence?
10 | All of these are control statements except: v » Sequential Repetition Selection Relation
11 | One execution of a loop is known as a(n): ('[4‘ Cycle Duration Iteration Test
Neetyal Dummy Original Referenced
12 | Formal arguments are also called: ﬁ:ﬁhg Arguments | Arguments | Arsuments
. . L. ‘
13 Which of -these modc? open only an existing file for “W’\é» g pp —
both reading and writing? /
. N . . . .
14, | Debugis e prosessoF C_reatmg bugs | [[deify and | Identifying Removing
in program | re¥Rovgrrors errors errors
The process of running an executable file is . bl 4 . .
15 Kot Debugging Comg € 'Executmg Saving
OR ( Visual Basic © .
; Project
7 A portion of VB IDE used to browse files of a Explorer |Form Windbw Fomf §€ t Fiile Mimsges
program is called: : Wind
Window A
8 Which form property will put text in the title bar Title Border Text Ciaption Header
of the form?
Which method, loads a form in memory if not
? loaded already and displays it on the screen? Load Shiow Untlgatl Laak
10 How_mar_ly bytes are occupied by decimal data 4 3 12 16
type in Visual Basic?
1 The' statement that forces the declaration of all Static ReDim Optlpr} Dim
variables is: Explicit
What does <> symbol mean when used in a Gredrer than Less than or |Greater than or
12 o but not equal | Not equal to
decision structure? ol equal to equal to
13 | The increment in a For --- Next loop can be: Positive 0 Negative Any
. . . . : Entity
14 A graphl.cal representation of the steps involved in Algorlthm Flowihiatt Da'ta Flow Relitsenship
an algorithm is called: Diagram Diagram .
Diagram
15 | Basic was introduced in: The 1940s The 1950s The 1960s The 1970s




Intermediate Part Second Roll No. :

Computer Science ( Subjective )
Time: 02:10 Hours Marks: 60

SECTION —1
2. Write short answers to any SIX parts. 12
(MS — Access )
(1) Write responsibilities of Database Administrator.
(ii) Differentiate between candidate key and primary key.
(i)  List basic data distribution strategies.
(iv)  Define data modeling.
v) What is a transitive dependency?
(vi)  How Synonyms differ from Homonyms?
(vii)  Enlist major database objects.
(viii)  What is sub form?
(1x) Deﬁne a command button.
3. answers to any SIX parts. 12
é ( C — Language )
(1) pate between Preprocessor Directive and the Compiler.
(1) What now about C — Statement?
(iii))  Write the ng statement in C code:
or(egI een 50 and 60 inclusive.
(iv)  Find errors in th ng code segment:
mt X,Y; \24
=x=vy;
>, G i i
y=X; <§
printf (“Result = %d”, @
v) Define relational operators.
(vi)  What do you mean by Compound Asmgng% erator?
(vii)  Describe Format Specifier. (g
(viii)  Trace out the errors in the following code segm E?)
void main () {
int A=10
printf (“%d” , a} ‘(?
(ix)  Predict the output of the following code segment: \Z\
intx = 10; (g
inty = 20; C
int temp; &
temp = X;
x=y; ./sf
y = temp; 0
printf (“%d” , x); @
printf (“%d” , y);
OR ( Visual Basic)
(1) How object program, source program and compiler are related?
(i1) What is source code?
(iii)  Write the syntax of Mouse Up.
(iv)  Write the syntax of Input Box.
v) Identify and correct the error:
Dim false as integer
Xty=z
(vi)  Give two examples of message box.
(vil)  Name and describe any four major parts of VB IDE.
(viii)  What is the difference between project file and form file?
(ix)  What is the purpose of Name property of a control?

(Continued P/2)
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Write short answers to any SIX parts. 12
( C — Language )
(1) Define selection structure.
(ii) Predict the output:
intp=3,q=35;
if (p>q)

printf (“%d” , p);
else
printf (“%d” , q);
(iii)  Define sentinel value.
(iv)  Predict the output:
int m;
for(m=0;m<10; m=m+ 2)
printf (“%d” , m);

v) nvert the given program in while-loop:
O for(i=3;i<=9;i+=3)
0 printf (“*\t*\t*\n");

(vi) Define fL)Q@@w der.

(vii)  What do you %out user-defined function?

(viii))  What is the life tthe ofMocal variable?

(ix)  What is binary streati? O
OR ( Visual Basic)

(i) Define control structure.

(i1) What is if-then statement? Alsgﬁ;z(s syntax.

(iii)  Find the output of given code:

a=17

b=3 (%7

if (amod 3) = 1 then (g
print a ~?§

(iv) What is counter variable?
(v) Differentiate between outer and inner loop.

(vi) Find error from the given code: ; \Z‘
a=10 <?

while a > 9 then
print a
(vil)  Write any two types of code blocks.
(viii)  Define global variable.
(ix) What is standard code module?

| SECTION —I1  Each question carries 08 marks. | 0
( MS-Access ) Attempt any ONE question from the following:

What is File? Explain File types from usage point of view.
How would you explain Field Validation Rules, Input Masks, Default Value and Join

Attempt any TWO questions either from C-Language OR Visual Basic
( C—Language )
Define Bug. Discuss different types of bugs.

Write a program that inputs a number from user and determines whether it is positive, negative or zero.
What is While loop? Write down syntax, flowchart and working of while loop with example.

( Visual Basic )

Define bug. Discuss different types of bugs.
Write a program in VB that inputs a number from user and determines whether it is positive, negative or zero.
What is while wend loop? Write down syntax, flowchart and working of while wend loop with example.
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D ¢ B A Questions | =yi» Y-y
Joéy Joof Joss Joof e b6 P80 |
Five Years | Three Years | Two Years One Year | Duration of the measurement of national income is:
= % 3 JC :+J¢¢u£ 11 G 2
Wage Profit Zakat Tax Transfer payments are include in:
Ryl I\/Iﬂfbi’l) iyt el s %t‘lobffg{:;f-’i?lLiL?’ 3
Credit money wee Paper money | Barter system | The exchange of goods with goods is called:
A\._money
O™ o
I /QC:J/ i Ll & "C-’d/l'f, [ :gt’lﬁ.&_ugufug}a 4
Islamic Bank o 2| Central Bank orr};r::]ima Bill of exchange are rediscounted by:
14
{/}JI}_ {//’dﬂ‘;"'« b/”db} K55 24.’7.&5:}05
e . talllc ; ; ¢ i 5
Plastic money | Credit moneyy onﬁy Paper money | Cross cheque is an instrument of:
i Ao = r@ 4P Ay LIS e 6
Governor Director Mma / President | The head of the State Bank of Pakistan is called:
inister S
aA31 65231 30 \’? é?ao e b BRG] | 4
318 March | 31% January [30" September June | Financial year of Pakistan meets to its end:
Cdﬁ? L}gg// Jg)-/ &gff./ Jg&,ﬂ ﬂ7 Z‘GVMJ'?/__'FI 8
entgmyxmse Sales Tax | Custom Duty | Income Tax on goods is called:
)g: Fel 5 J;JL Absol ’;(;]I; : 3 d;/uy‘l}) (:;b: J“ 9
Pigue Adam Smith Ricardo Marshall 50 tage SRR SIS ERRE RIS
presente
BIAlE | apaA | W24 el dneste ki | g
Perishable Invisible - . .
Both A & B Visible goods | Balance of trade co @an.
goods goods g
= Sy = Sy vo :)‘L._«'j'&c_./(&i.?’p(uw/_& 1
Agriculture | Construction Industry Trade Major sector of Pakistan’s economyis
& o o W &m;;ufum "
2 ; Methods to measurement of the natigpdl dMcome of
Five Four Three Two P
akistan are:
Ceut? Ko alloss K\j*/‘; ;“" Keu :.Lf L& 13
Long term | Medium term eg:n oxt Short term | Economic development is a process of:
Jeus Jog Jéi Jose B 2bondd | 14
Ten years Six years Five years Four years | The duration of Colombo Plan was:
92) 7 =l é}. :wu.t_:f..ﬁ'?'ufut'r’l 15
Ten Eight Seven Five Dry ports in Pakistan are:
1 FE TGS
/1952 1950 <1949 +1947 . . ! s = 16
National Bank of Pakistan was established in:
0N 7 S é}__ :J_’d:sf‘é?f) 17
Fifteen Eight Ten Five The deservers of Zakat are:
M-4 M-3 M-2 M-1 W catrifpiim | 4g
Lahore to Islamabad motorway is called:
S N 4 e e aTa780ed | g
Rice Oil Wheat Tea The important export of Pakistan is:
Ko sl "y ESsnlo! e b S u 20
Industry Agriculture Trade Monopoly | Islam opposes:
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N ) w.,«lﬁul( P10 A od d/ 58 4/ .‘—FLL/ 4)/ u,ﬂwy:_._ﬁ-g:, Y3 1
D ¢ B A Questions | =yi» Y-y
11952 11950 11949 11947 ol B ¥ |
National Bank of Pakistan was established in:
3 #7 [9g) é_L' U_,Td—a’/‘ﬁ'if) 2
Fifteen Eight Ten Five The deservers of Zakat are:
M-4 M-3 M-2 M-I QW esirAleitm | g
Lahore to Islamabad motorway is called:
Jig ,<:\ 4 il P e aTae oSt 4
Rice v /\Oil Wheat Tea The important export of Pakistan is:
For V I (1574 §5 0ol !{_t'/;ﬂl?(llfi 5
Industry 1Ty, Trade Monopoly | Islam opposes:
Jetl Joed= Joss Joogi e b fEPU84TST | 6
Five Years | Three Years ¥ TA® Years One Year | Duration of the measurement of national income is:
=2 Lo X 2 Jg :g_Jtiu:u,f?mdu“:l 7
Wage Profit km Tax Transfer payments are include in:
= g
Ry M’ /dul’l)' iy 1 I Ll e bl £ q:u:’ Ll 4l 8
Credit money me(:se;c Paper money stem | The exchange of goods with goods is called:
..,G_:JM -‘gd‘l u@d// :LV@.&upu(u{i‘/: 9
Islamic Bank Industrial Central Bank Commcrc % of exchange are rediscounted by: ‘
Bank Bank *4_,(9 g Y
S N
(/J._&Ig {/JJA?'I I\Zl/tdlla; §5%¢ :‘LJ"-&M/‘C)&; 10
; ¥ etallic
Plastic money | Credit money money Paper money | Cross ?ﬁé:;] /@ an instrument of:
/'/f /5{/,5 F-T'gt/“;’ g wifall/éul/’/h_" _L-/" 11
Governor Director I\/llinnairs‘tceer President | The head of the S\ﬁgByxk of Pakistan is called:
8431 $3231 30 230 N bl dLoe] | 1,
31" March | 31% January [30" September| 30" June Financial year of Pakistan Mfeets to jts end:
Sl | e | Gy | «S’Ogm_w is
entral Excise ; .
Duty Sales Tax | Custom Duty | Income Tax | Tax on goods is called: /0
£ 5’()7 56 f/L ‘L’(&Z:‘—' d;AM(;«/ng -
Pigue A Sk Ricards Maishall gsrl;ss,c;:::t; %c)ilf/antage Theory of International trade was
PUAZ’? UssBuaIA ‘l':’d//! L’"é/ :J_‘IJytJlﬁu:-:«/?c)ﬂ;' 15
Perishable Invisible o : .
Both A & B Visible goods | Balance of trade consists on:
goods goods
=H =l o= oy :‘L._»'EIZ;.__/(&:”JUWE 16
Agriculture | Construction Industry Trade Major sector of Pakistan’s economy is:
:, . P i} WAL IS5,
i % Methods to measurement of the national income of | 17
Five Four Three Two Pakistan are:
9 K&A/‘:;d‘:// P . w
" 1O vV n Sy -‘va_('d/db‘ 18
Long term | Medium term eg;n ey Short term | Economic development is a process of:
Jous Jog Jeéy Jost G ko, | 19
Ten years Six years Five years Four years | The duration of Colombo Plan was:
U £7 =l éE lwul;:f..‘@duly/!.: 20
Ten Eight Seven Five Dry ports in Pakistan are:
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Kns? w.‘alﬁuf P9 AT o d/ GE {/ _‘«ULL/ },:( u’/'l:ugic_».{l-é.': A 1
D ¢ B A Questions | =¥ Y-y
=Fli .:«!/:"7 o = :‘a.;rﬁ!‘/.a__/(;i.?’d/ul"/@ 1
Agriculture | Construction Industry Trade Major sector of Pakistan’s economy is:
' : 8 L PS8 S
& e P4 » Lty |y
e * Methods to measurement of the national income of
Five Four Three Two : .
Pakistan are:
Keults {&AJL/’JJ %*/‘;}‘fw K.:',)/‘i; 59“-{'(};&."‘ 3
Long term << edium term b Short term | Economic development is a process of:
A term
4 S
Jeun (,b Jvég Jose :G,-v,,)Kulgr!f 4
Ten years Si)&m\ Five years Four years | The duration of Colombo Plan was:
r 217 el & s 5
Ten Eight Reven Five Dry ports in Pakistan are:
4 P
11952 ass0 | X 11947 , , 1L ALS™ | g
7\ National Bank of Pakistan was established in:
3 Z7 J)u / é}_ 2@_‘103"}/‘4:3}() 7
Fifteen Eight Ten I " JFive The deservers of Zakat are:
< = .
M-4 M-3 M-2 1@1 W stz Alewtiom) | g
Lahore to Islamabad motorway is called:
Jslg Jf (Af ng 7 1.4,97/,0_';(7!‘}/&&’1 9
Rice Oil Wheat Tea M_,Rﬁ i'rAnportant export of Pakistan is:
forts =y b df ket | N {3 et S | 10
Industry Agriculture Trade Monopoly | Isla q@e&
Jeél Joef Jos Jogi e bre FEPRU0ATST | 44
Five Years | Three Years | Two Years One Year | Duration of thg }ésqremcnt of national income is:
: z A " i
=2 S 34 o ﬁ e SEEUE e 12
Wage Profit Zakat Tax Transfer payments aradncludg in:
.1 ~Ya\?
PRA-T M"‘tﬂ‘l’l’ B 1 ety el AL s L 13
: etallic : ;
Credit money money Paper money | Barter system | The exchange of goods with goodj@iﬂed.
X e L4
L I f{/ | ._,QJ/(/ & ‘-‘gd/l{ ” = F@Qu,{uz}: 14
Islamic Bank NAUSTIAL | Central Bank | ~Oemerelal | gii) of exchange are rediscounted by:
Bank Bank
y PN K/)Jlm — s - —_—
Kokl K. 80% . K558 e Ji _.Czwuu 1
oo e o Metallic . . . ; 2 5
Plastic money | Credit money ey Paper money | Cross cheque is an instrument of:
/'/,f /:{/’ﬁ F-::’yt/";’ yd ng&/ﬁl/./éul'}@._’!'.«@_'éy 16
Governor Director I\/Ilinnairs‘tceer President | The head of the State Bank of Pakistan is called:
&A31 $.5231 30 w230 e bne Lol 17
31" March | 31% January [30" September| 30" June Financial year of Pakistan meets to its end:
dz”l’gd‘/’( Jg}"’ &5(‘/ JgJiT Iét'ﬂ:fgf?/.l:" 18
Central Excise Sales T C D I T T A ieaiieds : i
Duty ales Tax ustom Duty | Income Tax | Tax on goods is called:
;Q 5"(:7 By 1) f/L ‘g‘z;L—d;./.urg)’j(;u?Jk -
Pigue Adam Smith Ricardo Marshall Absolute AdYantage Theory of International trade was
presented by:
DA | ipaa | PO g, L P!
erishable | Both A & B IVISIDIE | yrisible goods | Balance of trade consists on:
goods goods
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D ¢ B A Questions | =yi» Y-y
i A F"TA")L/"J’ e U fi!(v'4/£dw/£~""-*§—":" 1
Governor Director I\/l]innairslfeer President | The head of the State Bank of Pakistan is called:
A3l $4231 30 230 e b FEIAL o] | 5
318 March | 31 January [30" September] 30" June | Financial year of Pakistan meets to its end:
SpALisS, S du” AL e bl 3
Central Excis >\Sales Tax | Custom Duty | Income Tax | Tax on goods is called: l )
Duty Vi Y g ;
~ AL . . o -
;ﬁ U' ()’ By j A -,L.’(J.;é—id/l.ur:/’) K.;«/Ef J“ 4
Pigue Ada Ricardo Marshall Absolute Adyantage Theory of International trade was
presented by:
FU"&Z/? UsnBualA \ _lf"lé/ :u}Jy:Jtﬁu:a/Ec))l?
Perishable Both A & B ble Visibl ds| Bal ftrad ; . 5
gods ot isible goods | Balance of trade consists on:
=f :,lta :)‘(2/ = :‘L,gﬁlkc.ff(cﬁ?'u(ul?l 6
Agriculture | Construction Industry syTrade Major sector of Pakistan’s economy is:
L 7 . -
i i v "y ) ZUJ&)LJ"L@JGJW«}/UD‘E
% & Methods to measurement of the national income of | 7
Five Four Three 0
f Pakistan are:
K.:«Aut}’ {;«AJL”/) K\j’*/qu i{._«,e/"’ qﬁ éf-{'é;o:lr 8
Long term | Medium term egnsnort Short term \?yc development is a process of:
Jous Jog Jeéi Josk B Lkondd | g
Ten years Six years Five years Four years | The duratl& quombo Plan was:
Ten Eight Seven Five Dry ports in Pakiﬂlrg
Y ’ ot
1nfE LT G
+1952 #1950 #1949 +1947 * & 11
National Bank of Pakistar&& established in:
01k 27 o & & g Ly 12
Fifteen Eight Ten Five The deservers of Zakat are: s
M-4 M-3 M-2 M-1 {%dM (Wil | 43
Lahore to Islamabad motorway is called:
J’lg Jf (Af " :4:_,474@}(“&1-)[?1 14
Rice Oil Wheat Tea The important export of Pakistan is:
(15 [1OW)] K_“,A;" (d/')a/lg‘ Igt'/(:,ul?(llfl 15
Industry Agriculture Trade Monopoly | Islam opposes:
&L Jof Jiess Jocfi e brefER004TST | 16
Five Years | Three Years | Two Years One Year | Duration of the measurement of national income is:
=7 Ee g £ e JELULISE 17
Wage Profit Zakat Tax Transfer payments are include in:
PRAT MA dbil)' i1 NECEY, e bl A L s L 18
Credit money mi)tﬁe;c Paper money | Barter system | The exchange of goods with goods is called:
LS ‘Q"/ LS, ok ’ et 2okasd Ul 19
Islamic Bank Tidsteial Central Bank Cominercial Bill of exchange are rediscounted by: ‘
Bank Bank & ¥
Ko K55 i Jl’f K558 e ST Lo
’ ; Metallic L = 20

Plastic money

Credit money

money

Paper money

Cross cheque is an instrument of:
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(Part—1 Jildzaa )

16 Write short answers to any EIGHT parts. -'ngz/‘? LAZIJ’T:,J/ 2
Define Gross National Product. -"é_@/’u‘/ml,g,d;(w (1)
What is meant by national income? S"g,u/t_f:,&,.n'di (ii)
What is meant by depreciation expenditure? ?e}l/gc.",l‘pl]'!d:j)y} (iii)
What is meant by average propensity to consume? Sl Pl e TPl sl (iv)
What is meant by money? S sl pfe i v)
What is meant by metallic money? Sl Ll iy (vi)
Define credit money. Sy A (vid)
Define quantity theory of money. FEw s f (viil)
What is meant by commercial bank? ?9;c/g;q§3,g; (ix)
Write four lipKg of credit money creation. _éugkw/ngg}I.gJ/Jng‘l (x)
What is me&? en market operation? ?‘g)l/&rc_,fézi)!,é{ (xi)
What is meant gl bank? Sesl Ve S, (xii)
16 Write short a @o any EIGHT parts. .ﬁayzﬁ? Py VAl ;éf 3
Write two differences be public and private finance. ey A J/'”u:;yuf: »ISK (i)
What is meant by import an e@h uties? ?‘g)n/g;.;,u/d,u'/.,d,,l',, (ii)
What is the difference between fe&gg ice? fe JA s w2 (i)
What is meant by cannon of diversity ion? Se Ve bFUmLld /. i (i)
Write two differences between domestic ahg/Angynational trade. & Gin e gd mg}mf (v)
Write two disadvantages of international tradg.?n

C -_é4};tuﬁ,;£:,/gidliv’¢ (vi)
State the theory of comparative advantage of trade® -éfuy.;,/g?, }J KJ}/,J’.@ (vii)

et e Emgny  (vidi)
What is meant by small and medium enterprises? .(? ?;’_»/g;u?"d’;n';yumé_,@’ (ix)
Write four lines on the importance of agriculture. } -_é/_;‘jfzﬂjlg/‘:.:{_ﬂg&l/} (x)

What is meant by tax culture? ’éj? ?‘c:'/g:-/fgf? (xi)

What is meant by balance of payment?

Write two measures to increase in per capita income. End CbgtdlTS B (xid)

vz Llanic S 4
L, @:_J/Lu,';n;w}uj}fw (i)
R U R (1)

18 Write short answers to any NINE parts.
Write any two factors affecting on economic development.

Narrate the concept of economic planning.

Write the difference between intensive cultivation and extensive cultivation. -E 1702 PR5-" 91y 405" (1))
Write any two causes of unemployment in Pakistan. ez ¢ ; (iv)
What is meant by horizontal mobility of labour? Sl e Ui v)
What is meant by cost push inflation? St p e b L SF 20 s (vi)
What do you know about capital market? S T AL it (vid)
Write any four sources of revenue of provincial government. -_é/_;’uﬁéu}/lg;JJ/L:/;’;ép‘ (viii)
Write two lines on the significance of Usher in Islamic Economic System. _é,,bf,,é;lej/“ Ui g (iX)
Write the difference between fixed exchange rate and floating exchange rate. -&= 73/ Ut FAsdm el o (x)
What are the two major impacts of WTO on Pakistan? eibne $ U LEWTO  (xi)
What is the concept of consumption of wealth in Islam? ?9,,Jgg;),,3/u:(w' (xii)
Why interest is prohibited in Islam? ?‘Qrf]uz()yu:"ljfi (xiii)
DAL iy oy f oz Lty f o (S phgadcan
Part — I, Attempt any THREE questions. Each question carries 10 marks.
Explain quantity theory of money with the help of formula. - b iesosSifs L 5
Explain items of public revenues in detail. _FEeobilanlal ks -6
Write notes on: (i) Globalization (ii) World Trade Organization s e (i) e (i) :29ei _7
Explain important problems of agriculture sector in Pakistan. _gf_wu,d’ J/l/(fld:,gf"(f /Ju:ul"/g 8

What are causes of deficit in balance of payments in Pakistan? ¢z J17 U I Z sl dl"/'/,E, 9
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cdeLLﬁ}l;ﬁW&Wéyfﬁu/)cgﬁ U)/'l)é'c,)&bédlr /;4‘%( Léli.-(,{!i{.) D.s1Ce B‘Aa&l;‘!;ﬁ /kéd"’ '

Knsd w,,uzu/ §19 -:a/r‘d/ sy {,/ &QL/ /':( uu’uug):_,{v-g;; A 1
D C B A Questions | =i V- yd
a/f e I e - -‘M‘jﬁ'u: yEy o Ivd 1l 1
Masjid-e-NimraMasjid-e-QubaMasjid-e-Nabvi Kaaba The first regular Islamic madrasah was established in:
SGIsmtle Seren Susids SdisF v et et 2
Allama Zarnaujii Ibn-e-Sina |Ibn-e-Khaldoon|Imam Ghazali| Kemya-e-Saadat is written by:
éE /lg u.'.: I} -_V(f-:‘/ WA [(’ké_l&‘g/l 3
five four three two Ibn-e-Sina divided uloom in categories.
Fo :5 iz Pk fu A e ST 4
= A/ 5 : Objectives of : ; il
/Administratio ing Teaching : The basic element in the system of education is:
. Education
% , i i > L FE et
A JL M. g 2 5
Bengsl Madrar(<{] ,Assam Behar In Plassi war, thc East India Company conquered the
Y A province.
P 7 P - k&7, s
3y S *(;?‘u s :m//‘d/‘/gm[cf(ﬁl.,@ 6
Lord Hurding | Lord Curzon | Lord\¥lacamtyy | Lord Benting | The secretary of Public Instruction Committee was:
S Md?fbvff”fbMdiftf% Sy By LB |
a aulana Yaqoob|Maulana Qast aulvi . ]
Wali-Ullah Nanotavi Nanotavi ﬁrﬁ Dok Ali The first head of Darul-Uloom Deoband was:
saes | gag | gon | R nvar
Ahr:1ra d);ghan Shibli Nomani| Shaukat Ali :ﬁajr:}ﬂ ? vﬂ'}e founder of Aligarh College was:
ot i N ao [ e fioe |
Political Religious |Non-ideological| Ideological | Pak tax)@y state of:
o[ JLT[’IJKI d’/ )] ﬁ -d/)""‘g}‘ /;KL}‘:L‘/& 10
Multan Islamabad Karachi Lahore The first edu atl@al conference was held in:
6.4 H s :Ju’JLu’“
#1972 #1971 #1959 1947 Establishing Educa Q%ore was recommended in | 11
education p
-ufJJ,u/JLS‘%u Jﬁkutdijgdf”
#1992 #1979 1972 1970 Establishing of Town School ommended in | 12
education policy. >
99.5% 95% 90% 80% . . . :%/JQ/I 13
The literacy rate in Australia is:
Sk ) J;/:(E‘ J’J;(LJ :‘at'lk'(t/(dkgd/ﬁijf.glbl 14
Slavery Imprison Discipline |Administration| To act upon the rules of institution is called:
e = e /f :‘aulegﬁ-’iiff-"!&é 15
Madrasah Maktab Masjid Home The first centre of education of child is:
JJU"F el =/ ';L%I'f: ‘J:M.’ iceﬁdchJJﬂit‘u’:dM 16
Lack of | School drop- Rapidly growing . - b . g *
Poverty ; The main reason of illiteracy in Pakistan is:
schools out population
S (:Ud//'c ¢ Edﬁw{'{’ 37 i :igt'mif,/gfyfégf 17
EQretEy O ucation oo Minister] Governor | The head of provincial department of education is:
Education Minister
5 =of "y =of Gl = G 0/ si | 8
Military District Provincial Federal National Education Poliev isizds by: '
Government | Government | Government | Government TR RO O O EIRE D
P LR 1K I e bl KA 19
Vice Chancellor| Chairman Secretary Controller | The head of technical education board is:
70% 60% 50% 40% _ o = OATESR | g9
Rural population of Pakistan is:
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cdeLLﬁ}l;ﬁW&Wéyfﬁu/)cgﬁ U)/'l)é'c,)&bédlr /;4‘%( Léli.-(,{!i{.) D.s1Ce B‘Aa&l;‘!;ﬁ /kéd"’ '

Knsd w,,uzu/ §19 -:a/r‘d/ sy {,/ &QL/ /':( u,/’uuy:,.{l-g;; A 1
D C B A Questions | =i V- yd
{Ji)i S }://‘l;(; Y4 ';b.w/:d:d"L.T +e562L¥JLfi'ftufuL>@ 1
i R Poverty Rapidly growing The main reason of illiteracy in Pakistan is:
schools out population
ok | Eo |, wf i Fhi |
Secretary of | Education . .. - ) f
: s Chief Minister| Governor | The head of provincial department of education is:
Education Minister
il bl | el | i 3t |
Military <y I5Uict Frovineial Fcticrl National Education Policy is made by: )
Government Y @overnment | Government | Government Y e
5 % N~ 5
)"ngu @ d/’; )5/”/ :9rx,|4/K5/zdf"J 4
Vice Chancellor Cham@ N Secretary Controller | The head of technical education board is:
70% 60% "f/ 0% 40% , e e TEderl |
Rural population of Pakistan is:
s e g et sl |
Masjid-e-NimraMasjid-e- QubaJMaspd-e@v . Kaaba The first regular Islamic madrasah was established in:
J&;J/’/ﬁi d/v.:d-' Ju:xl’ul / dly'(U :c"__ié‘j.a)b/é_g.r 7
Allama Zarnauji| Ibn-e-Sina _|Ibn-e-Khaldoon|Tg)m Bhazali| Kemya-e-Saadat is written by:
ég A o “(, - Skl r e 8
five four three two ﬂ n-e-Sina divided uloom in categories.
RS
G Shzer Rk (" N4 e AEBEEE | g
/Administration] Plannin Teachin Objectivesiof an lement in the system of education is:
& g Education ,Z% o
o M, y"LdeM./Ig"Ju.ﬁ
Jg} Ju |’l/f M 0
In P13551 warl thg/Kast India Company conquered the 1
Bengal Madras Assam Behar ;
provce, )
..ff/:LJJ u}/(?/ll L.K_ALU ..«@_‘,’.5/!1 ‘(y lx;}’d}f{ﬁfujﬁl& 11
Lord Hurding | Lord Curzon |Lord Macaulay| Lord Benting | The secretary of PublicNast@@ytion Committee was:
4 5 . ey e J
dials | TR | By | SSE G opg b L i | 1
Shah Maulana Yaqoob|Maulana Qasim Maulvi The first head of Darul-Ul D&
Wali-Ullah |  Nanotavi Nanotavi | Miarnlook Alf | =76 1S:1080 0L LAt io0m e
hrws | g | gor | a4 S SYpPD ;
Ahr;ra dylghan Shibli Nomani| Shaukat Ali Xliﬁrgﬁz : The founder of Aligarh College was:
Uk o dp 2 dF e ool | 14
Political Religious  |Non-ideological| Ideological | Pakistan is a state of:
) AT &S ) Y-~ Wl 15
Multan Islamabad Karachi Lahore The first educational conference was held in:
oS Fe i H pasys”
#1972 #1971 #1959 1947 Establishing Education Core was recommended in | 16
education policy.
RN N
#1992 #1979 1972 #1970 Establishing of Town School was recommended in | 17
education policy.
99.5% 95% 90% 80% . , . e LU AT | g
The literacy rate in Australia is:
Sk ) J:/;(E' J)’(y :.Lt'lkv(t/dhgg}/ﬁlicﬁc./l)l 19
Slavery Imprison Discipline |Administration| To act upon the rules of institution is called:
il .../"{ Af ; 2+uj|xfdg5|{ﬂuJé; 20
Madrasah Maktab Masjid Home The first centre of education of child is:
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cdeLLﬁ}l;ﬁW&Wéyfﬁu/)cgﬁ U)/'l)é'c,)&bédlr /;4‘%( Léli.-(,{!i{.) D.s1Ce B‘Aa&l;‘!;ﬁ /kéd"’ '

Knsd w,,uzu/ §19 -:a/r‘d/ sy {,/ &QL/ /':( u,/’uuy:,.{l-g;; A 1
D C B A Questions | =i V- yd
oSS A piasy s
1972 #1971 #1959 1947 Establishing Education Core was recommended in | 1
education policy.
oS SedF T s
#1992 1979 1972 1970 Establishing of Town School was recommended in | 2
education policy.
99.5% QN 95% 90% 80% , , o e b pE AT | 4
(‘V PN The literacy rate in Australia is:
N 7 s o -
S ( X M}(E f}(& Z.gﬂl:(f/di:gg;/ﬂi Ll 4
Slavery Imprjon, | Discipline |Administration| To act upon the rules of institution is called:
b ‘j(. Y & ; :‘Lu’xf‘jf-,?'(ﬂuu(é &
Madrasah Maktab <$ Aasjid Home The first centre of education of child is:
(Sus¥ AR - )
g neTY 3 ARGl e e $E it e,
Lack of | School drop- Rapidly growing . - % . g 1 6
Po e@ . The main reason of illiteracy in Pakistan is:
schools out ) . population
J s e I/ S
S ('ud//? ) Edr:u/“t/'! S0 4 e bl 6 F Qe 7
coretaty .o UCAtion | i f Minister © emor The head of provincial department of education is:
Education Minister
whs | b e TG Lo | g
Military District Provincial Federal o ¢l Blication Reliev iinds b s
Government | Government | Government | Government & Y y:
rra— < >3 -
)"Ig‘fu 01 gj/’/-C ):P/ \( :‘Lt'%aif,/“/!,d}vg 9
Vice Chancellor| Chairman Secretary Controller | The hé ﬁqhmcal education board is:
70% 60% 50% 40% OZ\ wOATESeR | g
Rural populati )knstan is:
a// e Ry A (’bu’ s hn G Kb 11
Masjid-e-NimraMasjid-e-QubaMasjid-e-Nabvi| ~ Kaaba The first regular Islam eﬁ?ﬂsah was established in:
JJJ/)MI}& Jl?.:y/-l Juulécﬂl Jdlfru L_M"..«)lygb‘f 12
Allama Zarnauji Ibn-e-Sina _|Ibn-e-Khaldoon|Imam Ghazali| Kemya-e-Saadat is written by
&L e & % A e é ifska_vw 13
five four three two Ibn-e-Sina divided uloom in
\Administration] Planning Teaching JECHVES O The basic element in the system of education is:
Education
R =y PLF et
- ey v % In Plassi war, the East India C dthe | 15
Bengsl Madras Wi Behar n Plassi war, the East India Company conquered the
province.
s Sy L By :m//"d/‘)?ﬁjf P 16
Lord Hurding | Lord Curzon |Lord Macaulay | Lord Benting | The secretary of Public Instruction Committee was:
4;'}‘5’;5 Md;ljt-.'fw” ; Md;l;tﬂgw' J‘;[/‘#l‘j"” :é’.,u/é;.:z:xf.g,()”uu 17
a aulana Y aqool aulana Qasim aulvi 3 Y z
Wali-Ullah Nanotavi Nanotavi Niarmlook Al The first head of Darul-Uloom Deoband was:
oA VI T S 2Lb0l | 18
Ahnl1ra dylghan Shibli Nomani| Shaukat Ali Xli?'?:; ? The founder of Aligarh College was:
oL o & d 3L e five] | 19
Political Religious |Non-ideological| Ideological | Pakistan is a state of:
ok AT Pl &S St s SR 20
Multan Islamabad Karachi Lahore The first educational conference was held in:
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B Ao 363, l!vé...fi./»cufu;/béc.)élzédlr s, Q(dli-wié__;DulC B« Autlijjkﬁdlr 9

Knsd w.,l:?w( SRS {,f s 4:( Usimsl e Kl &os A 1
D C B A Questions | =i Y-y
i By L Eens a6 A |
Lord Hurding | Lord Curzon |Lord Macaulay| Lord Benting | The secretary of Public Instruction Committee was:
4;'#’;? Md;];r‘r":;"}t”” " Md;l"tﬂg”’f J‘I\;’/J“']d"f &y & L gsr P 2
a aulana Y aqool aulana Qasim aulvi 2 »
Wali-Ullah Nanotavi Nanotavi Niarmlook All The first head of Darul-Uloom Deoband was:
g?‘g’fg W FeS? " fif& 4 i & WLk S F 3
ir Sye . uhamma ; i .
Ahmad Kh gblbll Nomani| Shaukat Ali Ali Johar The founder of Aligarh College was:
N4 TR . 1
Political }as\ Non-ideological| Ideological | Pakistan is a state of:
ol :u,fuv(g_ qS ) Ny Wl 5
Multan Islamaba “Narachi Lahore The first educational conference was held in:
< Ng\ FSFe S SH asts”
#1972 #1971 5@ 1947 Establishing Education Core was recommended in | 6
y, R education policy.
<V LSS F sty
#1992 1979 1972 A1N0 Establishing of Town School was recommended in | 7
7 education policy.
99.5% 95% 90% 80% \47? , , I S 2L A
Iy literacy rate in Australia is:
S 4 s Ff I @ et S ai Le | g
Slavery Imprison Discipline |Administration| To 26t @)the rules of institution is called:
ik = e /f aa/!;u":lgfwu(i 10
Madrasah Maktab Masjid Home The first centtre g}tducatlon of child is:
U{Ju,"c g =/ JLT"; sz“ g;sd/‘./gfd/x!itu*ul/‘/t 1
Lack of School drop- Rapidly growing
Poverty : The main reason of ilNeracy~in Pakistan is:
schools out population w
S (;wdj/g £ Edﬂw};}" J"/_}, /.J,f : /v‘//{f&féld‘ 12
ECroiarye ucation | opief Minister] Governor | The head of provincial departme(& cation is:
Education Minister
YR _-/:Gu’“ _-/:Gégr’ ;/)’;565 @J u..w
. L o e ittt
Military District Provincial Federal Nitioinal Edication Polisvi d b 13
Government | Government | Government | Government i i it
P SRR 1K N4 e bl K 14
Vice Chancellor| Chairman Secretary Controller | The head of technical education board is:
. o G
70% 60% 50% 40% _ o e GATECL | 45
Rural population of Pakistan is:
e G St g It —sassBLlgfe | 4
Masjid-e-Nimra[Masjid-e-QubaMasjid-e-Nabvi Kaaba The first regular Islamic madrasah was established in:
Gt Sexert Susds Ui pu e | g
/Allama Zarnauji Ibn-e-Sina |Ibn-e-Khaldoon| Imam Ghazali| Kemya-e-Saadat is written by:
ég e W » _Lfr:.} Jla f(J‘LL'»:g:l 18
five four three two Ibn-e-Sina divided uloom in categories.
T S Rui fu il e S 19
b . : Objectives of . . i Pt
Administration|  Planning Teaching Educati The basic element in the system of education is:
ucation
. W el F eyt
5 e ! ¥ In Plassi war, the East India C d the | 20
Bengsl . - - n Plassi w;rr(,) \Ei :ce ast India Company conquered the
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(Part—1  Jjldza)

16 Write short answers to any EIGHT parts. .é.:.pz/"—" LAZI)T;,&:( -2
Differentiate between Maktab and Madrasah. Y 5 0SS sistl (i)
What is meant by prohibited knowledges? Se sl e pripk (ii)
How was initial education started in Muslims period? ?Gt’xdj)k’l‘Kf-’-@JlAl;ﬂ/:)Lu‘JW (iii)
What is meant by recognition of Allah? ?%;i/g:,u?l;)/ (iv)
Write a note on the monitorial system in the Muslim Education System. _av.',,’/?f’/ J;i:'ru:(—*’—’ By (v)
Write two objectives of education according to Ibn-e-Khuldoon. ey v (f'“ el Y (vi)
Write critical evaluation of Dars-e-Nizami in two points. ey F U b4y (Vil)
Write a note on the “deep study method”. e B Pl e S (vidi)
Write two characteristics of Sergeant Report 1944. _&J.:«yr“" ,;J;1944.;,;/;;e/v (ix)
What did Lord Hurding say about graduates of public schools? ?L{J’“Ju.';;gL:l)l:ig(:"jéu,';ﬁdﬁ/';jfﬁbu (x)
Write two i nt recommendations of Wood’s Dispatch. ~ELF .;Li/U/(fla)J e sise (x1)
What was the o cacher in British Education System? NENIL L%L:!'ui’(ig (Uilo"/_fl (xii)
16 Write short afis to any EIGHT parts. .é'.:.yuz/'? L»lzu‘faéf -3
Explain educational me@niffig@f the Ideology of Pakistan. -,éuer}'dfgwl“/@,}] (1)

Write any two educational s of education policy 1998-2010. _g;’ut_,wa,,;.éfazmmp1998\;:@‘5.” (i1)

3?5 ovement. et w7 (i)
Describe two objectives of Ahgarh'g’M ent. EderenloSFELF (V)
Describe the role of Aligarh in promot Wdu language. e L F I F Sl Lhissi v)
What is meant by Town School? °;_~|,-U}.J,C_I>‘ (vi)
1,16 ,udu/nmf,,w%d“& 1979 (viD)

Write two characteristics of D

Describe the role of Islamic institutions in the ]ighéfeducation policy 1979

Write any two points of education policy 1992. _§4f".;6'::;$f£f1992u’:’go‘f;’ (viii)
Write two recommendations about Masjid School. ﬁ LY LJ;A.{‘ (ix)
What was the objective of Textbook Board’s establishment? ?3 ?Q,ﬁ*lf((? Lot (x)
Who are the special children? @ S pnyd’ v&d‘r‘; (xi)
Define Two Nation Theory. .(? Ay FE FGEs (xii)
18 Write short answers to any NINE parts. ez B Lanie§f 4
Define literacy according to UNESCO. "g -‘{J/’J\Lniu’wfé;c’i (1)
How does lack of school leads to illiteracy? ‘C ;,d&uﬂéf&)}ﬁ (i1)

What are the fundamental rights of women, according to the UNO charter? g/ 3% $sl¥i f 0 l&f&//béaf(lii (iii)
What is meant by discipline? J’S?;v/vf;ugf (iv)
How the parents affect the quality of education? A IS ¢ d‘w L Als (v)
What is meant by school dropout in developed countries? Se sl int? S35 (vi)
Write the names of four departments of the provincial education department. -&U(Léur‘ﬁbé z éL,» (vii)

vc_d/l:.uuaj"/;..,wdu‘fﬂfd“a (viii)

What is the responsibility of provincial education department regarding curriculum development?

Write the names of prominent private publishing houses. -’&U(L‘Lu,,l;n‘}’ Clecgdiuld (ix)
What are the responsibilities of Higher Education Commission? s ug/u,;J jfl f»f 7 (x)
Write the two functions of curriculum wing of federal ministry of education. &l UJ,::L(Z‘; .:,/U:JG;.,.LJQ:I e (xi)
Describe the first phase of curriculum implementation. ~E b B LS (i)
For what DAE stands for? S i ¢ DAE  (xiii)

0Ly -y f bzl cirf = 3 g grdcan
Part — II, Attempt any THREE questions. Each question carries 10 marks.

Elaborate curriculum of Muslim education system in subcontinent. v_éyuuf._,uiéff"j (u:v'(‘/ (547 S
State main points of Wood’s Dispatch. -“éuln/..:,lé‘l/hé LBV ITI )

Explain five main recommendations of education policy 1972-80. -éyu,JQGJWﬂ:égJu’!gdngf1972-80 7
-é)Z:??‘afﬁlggbZd“/[C;JJilfgﬂuD@ -8

How can be increased the literacy rate in Pakistan? Give suggestions.

Write a note on the role of textbook board. g Sl fef 9
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Objective
Paper Code
2518

Q.No.1

Intermediate Part Second

ENGLISH ( Objective) Group -1
Time: 30 Minutes

Roll No. :

¥

Marks: 20

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

many questions as given in objective type question paper and leave other circles blank.

fill the relevant circle in front of that question number on computerized answer sheet. Use marker or pen to
fill the circles. Cutting or filling two or more circles will result in zero marks in that question. Attempt as

Choose the correct option of the underlined words from the columns A, B, C and D and fill up the bubbles:

S.# Questions A B C D
| Thisisa remarkaple advance from the bucket Siiiking | Memmordble Stable Invisible
system of supplying homes with water.
2 | I crawled out a decrepit wreck. Allured Sound Furnished Ruined
3 | Muscles are destroyed and bones deformed. | Improved Deferred | Disfigured Diluted
4 He we@ discemment in judging my Neutral  [Discrimination|Achievement Displacement
genSggl lity.
5 i Peo &9(2 ?g_yorousl ggains; the iicartha Stealthily | Cautiously | Intensely Modestly
penicillin man—made invention.
6 Tl}ere lay Izrhis cywded and overflowing Overlooked | Contested Snowing | Congested
with refuges. >~
7 ;1;1}:: g?&s’i ltnf::tfe\:fas *ly mpr—etentlous ot Unaffected | Precious Showy Snowy
8 His recollections lost much\o? Alejr flavour Su i R b E " Creati
witencthey werewritten down S/ .5 ggestions [Remembrances Exaggeration| Creations
. <
9 He e allogether milder Q{@e 5 Fierce  |Unaggressive| Fastidious Anxious
ferocious animal.
10 Just then ther.e came a particularly loud 1/ - Suppression Thrust Crust
explosion — quite near.
<
Choose the correct option for the following blanks from %g Z}tgnns A, B, C and D and fill up the bubbles:
S.# Questions AA%,. B C D
11 | She was waiting the corner. on Y AP (in at for
12 | The bird flew the house. over A o, at in
13 | Will the baby smile her mother? for “ofiSh on at
14 | Keep going I tell you to stop. off 03\( , until to
15 | She apologized me the next day. with to 4D at before
Choose the correct sentence from each of the groups and fill up the bubbles: 5
16 | Of the two plans, this is the best. 17 | Tell me what do you wasf?/" » _
A | Off the two plans, this is the best. A | Tell me what did you WD
B | Of the two plans, this is the better. B | Tell me what will you want?
C | In the two plans, this is the best. C | Tell me what can you want?
D | Of the two plans, this is good. D | Tell me what you want?
18 | Ali is the boy which I like the best. 19 | I dislike you praising me.
Ali is the boy whom I like the best. A | I dislike you praising mine.
Ali is the boy who I like the best. B | I dislike yours praising me.
Ali is a boy which I like the best. C | I dislike your praising me.
Ali is a boy whom I like the best. D | I dislike yours praising mine.
20

None praises a coward.

None praises coward.

None will praise the cowardly.

A
B
C
D
None praises a cowardly.
A
B
C
D

None should praise the cowardly.




Objective
Paper Code
2520

Q.No.1

Intermediate Part Second

ENGLISH ( Objective) Group -1

Time: 30 Minutes Marks: 20

Roll No. :

¢
3

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

many questions as given in objective type question paper and leave other circles blank.

fill the relevant circle in front of that question number on computerized answer sheet. Use marker or pen to
fill the circles. Cutting or filling two or more circles will result in zero marks in that question. Attempt as

Choose the correct option of the underlined words from the columns A, B, C and D and fill up the bubbles:

S.# Questions A B C D
1 He was - an ogetinr mildcy gl Hesa Fierce  |Unaggressive| Fastidious Anxious
ferocious animal.
) Just then ther'e came a particularly loud Bt S Thrust Ciist
explosion — quite near.
3 L —remarkal?le acvanoe from diebucket Striking | Memorable Stable Invisible
sy ofgupplying homes with water.
4 | I crawisd oyt q decrepit wreck. Allured Sound Furnished Ruined
5 | Muscles atkdéstroyed and bones deformed. | Improved | Deferred | Disfigured Diluted
6 He showc?q Miscgpment in judging my Neutral  [Discrimination| Achievement|Displacement
general ability. >~
He protested vigoroudy aginst the idea that s .
7 sienicAllifiogan A n-Thas P Stealthily | Cautiously | Intensely Modestly
There lay Izmir crowded aad Qvgrflowin s
8 wiih retiges, "> Overlooked | Contested Snowing | Congested
The house itself was ugly and pretengoy@but .
9 that didn’t matter. L—rﬂ% Unaffected | Precious Showy Snowy
10 His recollections 1(.)St Rl BLe ﬂavouQ estions [Remembrances|Exaggeration| Creations
when they were written down. S‘
<
Choose the correct option for the following blanks from Eg Mnns A, B, C and D and fill up the bubbles:
S.# Questions AA%,. B C D
11 | The bird flew the house. over Y on at in
12 | Will the baby smile her mother? for t Apap on at
13 | Keep going I tell you to stop. off N W P until to
14 | She apologized me the next day. with to ~< , at before
15 | She was waiting the corner. on in 4D  at for
Choose the correct sentence from each of the groups and fill up the bubbles: 5
16 | Tell me what do you want? 17 | Ali is the boy which I lik€ e pest.
A | Tell me what did you want? A | Ali is the boy whom I't best.
B | Tell me what will you want? B | Ali is the boy who I like the/best.
C | Tell me what can you want? C | Ali is a boy which I like the best.
D | Tell me what you want? D | Aliis a boy whom I like the best.
18 | I dislike you praising me. 19 | None praises a cowardly.
I dislike you praising mine. A | None praises a coward.
I dislike yours praising me. B | None praises coward.
I dislike your praising me. C | None will praise the cowardly.
I dislike yours praising mine. D | None should praise the cowardly.
20

Off the two plans, this is the best.

Of the two plans, this is the better.

In the two plans, this is the best.

A
B
C
D
Of the two plans, this is the best.
A
B
C
D

Of the two plans, this is good.




Objective
Paper Code

Q.No.1

2522

Intermediate Part Second

ENGLISH ( Objective) Group -1
Time: 30 Minutes

Tho%
A

Marks: 20

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

fill the relevant circle in front of that question number on computerized answer sheet. Use marker or pen to
fill the circles. Cutting or filling two or more circles will result in zero marks in that question. Attempt as

many questions as given in objective type question paper and leave other circles blank.

Choose the correct option of the underlined words from the columns A, B, C and D and fill up the bubbles:

S.# Questions A B C D
1 There e 1 Overlooked | Contested Snowing | Congested
with refuges.
) The hpus,e itself was ugly and pretentious but Usiaffectad | Prociais Showy SHawT
that didn’t matter.
3 SEWW?ZL?JS&ﬁf SABIF HAZONE Suggestions [RemembrancesExaggeration| Creations
4 e W i diogether mildes mnd Jless Fierce  |Unaggressive| Fastidious Anxious
ferocious .
5 Just then the‘g cgne a particularly loud Burst Suppression Thrust Crust
explosion — quit yar
6 itSen 7remarkable advan from the bucket Striking | Memorable Stable Invisible
system of supplying homés yetth water.
7 | I crawled out a decrepit wrekk/ ) Allured Sound Furnished Ruined
8 | Muscles are destroyed and bonfdeyrmed. | Improved Deferred | Disfigured Diluted
9 He showe.:q discemment in- judg Y| Neutral |Discrimination|Achievement Displacement
general ability.
10 s pre t?Sted vigorously agginst th.e e that< Ithily | Cautiously | Intensely Modestly
penicillin was a man-made invention.
<
Choose the correct option for the following blanks from %g Z}tgnns A, B, C and D and fill up the bubbles:
S.# Questions AA%,. B C D
11 | Will the baby smile her mother? for Y2 ypon on at
12 | Keep going [ tell you to stop. off l\/?’r& until to
13 | She apologized me the next day. with N *<£/ P at before
14 | She was waiting the corner. on in{, at for
15 | The bird flew the house. over on 4D’ at in
Choose the correct sentence from each of the groups and fill up the bubbles: 5
16 | Al is the boy which I like the best. 17 | 1dislike you praising me¢ /" »
A | Ali is the boy whom I like the best. A | I dislike you praising el
B | Ali is the boy who I like the best. B | 1 dislike yours praising m&~
C | Ali is a boy which I like the best. C | I dislike your praising me.
D | Ali is a boy whom I like the best. D | I dislike yours praising mine.
18 | None praises a cowardly. 19 | Of the two plans, this is the best.
A | None praises a coward. A | Off the two plans, this is the best.
B | None praises coward. B | Of the two plans, this is the better.
C | None will praise the cowardly. C | In the two plans, this is the best.
D | None should praise the cowardly. D | Of the two plans, this is good.
20 | Tell me what do you want?
A | Tell me what did you want?
B | Tell me what will you want?
C | Tell me what can you want?
D | Tell me what you want?




Objective
Paper Code

Q.No.1

2524

Intermediate Part Second

ENGLISH ( Objective) Group -1

Time: 30 Minutes Marks: 20

Roll No. :

¢
3

s
pA¢

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

many questions as given in objective type question paper and leave other circles blank.

fill the relevant circle in front of that question number on computerized answer sheet. Use marker or pen to
fill the circles. Cutting or filling two or more circles will result in zero marks in that question. Attempt as

Choose the correct option of the underlined words from the columns A, B, C and D and fill up the bubbles:

S.# Questions A B C D
1 He showe'c% discemment in judging my Neutral  [Discrimination|Achievement Displacement
general ability.
2 He pro t.ested vigorously Agamst the Ll that Stealthily | Cautiously | Intensely Modestly
penicillin was a man-made invention.
3 ;l:iler Y ISzmlr crowded and gverflowing Overlooked | Contested Snowing | Congested
The hofse/ige]f was ugly and pretentious but .
4 that didn’t afjes, Unaffected | Precious Showy Snowy
5 His recollectilps lgyt much of their flavour Suggestions [Remembrances|Exaggeration| Creations
when they were tefydown.
6 i by altogeder’ yqilder and less Fierce  |Unaggressive| Fastidious Anxious
ferocious animal. \
7 4ast tl_len ther.e came a padgdlgrly loud Burst Suppression Thrust Crust
explosion — quite near. P
8 Thisisa —_remarkable advance from byket Striking | Memorable Stable Invisible
system of supplying homes with wate
9 | I crawled out a decrepit wreck. /] Allured Sound Furnished Ruined
10 | Muscles are destroyed and bones deformed. | Apdroved Deferred | Disfigured Diluted
<
Choose the correct option for the following blanks from %g Mns A, B, C and D and fill up the bubbles:
S.# Questions AA%,. B C D
11 | She apologized me the next day. with V.(S-) 1o at before
12 | She was waiting the corner. on Y I at for
13 | The bird flew the house. over N at in
14 | Will the baby smile her mother? for upond, on at
15 | Keep going I tell you to stop. off on A until to
Choose the correct sentence from each of the groups and fill up the bubbles: 5
16 | None praises a cowardly. 17 | Of the two plans, this is #ig/bept.
A | None praises a coward. A | Off the two plans, this' ¥t Pest.
B | None praises coward. B | Of the two plans, this is tRtbetter.
C | None will praise the cowardly. C | In the two plans, this is the best.
D | None should praise the cowardly. D | Of the two plans, this is good.
18 | Tell me what do you want? 19 | Ali is the boy which I like the best.
A | Tell me what did you want? A | Ali is the boy whom I like the best.
B | Tell me what will you want? B | Ali is the boy who I like the best.
C | Tell me what can you want? C | Ali is a boy which I like the best.
D | Tell me what you want? D | Aliis a boy whom I like the best.
20 | I dislike you praising me.
A | I dislike you praising mine.
B | I dislike yours praising me.
C | I dislike your praising me.
D | I dislike yours praising mine.




Intermediate Part Second Roll No. :

ENGLISH (Subjective) Group - I
Time: 02:30 Hours Marks: 80

SECTION -1
2. Write short answers (in 3-5 lines) to any SIX questions from Book-II: (Modern Prose and Heroes-Part-I) 12
(1) What is the difference between the stars and the planets?
(i)  How has scientific method helped us in the production and preservation of food?
(iii)  What is the heartrending spectacle for the writer? (Why Boys Fail in College)
(iv)  How did Daiches buy his first bicycle?
v) What problem did the writer face while living at a flat in Chelsea? (On Destroying Books)
(vi)  How significant is the doctor’s advice: Don’t stuff your head with things you don’t understand?
(vil)  Write a note on Chinese Women.
(viii) Why is the birth rate not so high in the advanced countries?
(ix)  How much prosperous was Cordova under Muslim rule?
3. Write answers (in 3-5 lines) to any SIX questions from Book-II: (Modern Prose and Heroes-Part-I) 12
(1) sort of questions are asked by your examiners?
(i1) @dea of the size of the Sahara. How does the writer compare it with England?
(i)  Give unt of the little town, name El Golea, and compare it with In Salah.
(iv)  Whyco fgemcﬂlm have been discovered in the research laboratories of America?
(v)  Giveabri ,;% of the early life of Fleming.
(vi)  Give an accou hZsteur’s treatment of hydrophobia.
(vii) How did Pasteur s way to other scientists?
(viii) What was the attlmde%urkish government towards the Allies after the World War 1?
4. Write short answers (in 3-5 lines (? EIGHT questions from the novel, “Good-bye Mr. Chips”. 16
(i)  How did Chips face his firs dkpBrookﬁeld"
(1)  With what was crowded the mantefpiece of Mr. Chips’ room after retirement?
(iii)  How was Chips brought home from the (%at Gable?
(iv)  Why was Katherine’s idea of soccer mat: (?posed"
v) How did Chips treat a boy whenever he had with him after Katherine’s death?
(vi)  Why did the boys write a lot of letters to Mr. @9 April 1% 1898?
(vii) How did Ralston look? What sort of person was
(viii) How did students and their parents come to know ab ow between Chips and Ralston?
(ix)  How did Chips cheer up the boys during the air-raid? H he boys feel?
(x)  How valuable were the visits of the boys to Chips after hls re Rgent“’
(xi)  Who was Merivale and what had he advised Chips during his y visit?
(xii) What did Mr. Chips remember on the last day of his life?

SECTION - I ~’$’
5. Write an essay (300-400 words) on any ONE of the following topics: 0
(i) Corona Pandemic in Pakistan (i) My Favourite Personality .@
(ii1) Fashion and Students (iv) Mobile Phone: A Blessing or a Curse

6. Use any FIVE of the following idioms / phrases / verbs in sentences of your own: 10
(1) Have an axe to grind (ii) Storm in a tea cup (iii) Take heart (iv) Turn Somebody’s head
(v) A wild goose chase (vi) Get on (vii) Take over (viii) Break into

7. Translate the following passage into English: 15
Qhlog 2y 48 2y QLS S Lf’{/UI’)’JQU"L{{_J&/f‘JJ//J'LfJ)/J,«-LJ’J;K’KJXJJJV&L
L(’ut/k&;;,Jdtg/_wal//fl//vafv&;/{jLJ.JJ/I léu/»(;.fﬁ_aquwJJuwv

_‘Lt'}"'n))ldg;d?g[/;rgé.lﬂf%lgu:f-wdu
NOTE: English Medium / Foreign candidates will write a paragraph (150-200 words) on “Drug Addiction”.
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222003,

c.ufgle./n}l: Jb‘?dl!vé.,vli.uuauf u‘v’bé'@.)&l‘/édlr /;44( (}ll-wi@JD»l C ‘B‘Aayi..‘f /gédlr v

Adir

N ) w.,alﬁuf P9 AT o d/ GE {/ _‘«ULL/ /,:( u,/’m:y:..,g-g;) A 1
D C B A Questions | <y V-
Jf Bl Sy / :?Jﬁo(&‘ﬁ/—d_ﬁ{Ji/GVQ 1
Game Examination | Classroom Home The best training centre for a leader is:
A4 S - 1 e Ll U el 5L )
Smart Clever Active Lazy Scientific inventions has made a man:
i os Ush s ) 0 1 o b S e 3
Stomach Blood Veins Liver Muscles get diet from:
3 ’;7 2.8 #2.4 #1.4 e Gnlpld et |
3 meter Aeter 2.4 meter 1.4 meter | The length of small intestine is:
P %Q dee =ld i Sk 5
Carbohydrates| Vitam _K? Fats Proteins The contents of food called tissue builder:
o s s 2 e drse S8l b0 |
Typhoid Flu Bepbeéri Polio Lack of vitamin B is caused the disease in human body:
& & D ) JF eln b Ly |
Cheap Sweet Better Sgimulant | Coffee is much as compare to tea.
» ég s ﬁﬁ ?9_72.%&2":&:):' 8
Two Five Four e How many parts are there of javelin?
5.5 44 33 22 ﬂ7 :u:?é"-‘?e:c‘firégf’fl,élj!'/:uf—;’-gk 9
M,@nges for tries given at every height in high jump are:
27.03 2T 263 X6 N i b AL S ritin /2400 | 10
7.03 meter 7 meter 6.3 meter 6 meter Stagg Zmto 2" lane runner in 400m race is:
e Ao o WF Ko Q\g\.%wwmm@f_;u .
Tobacco Morphine Opium Arsenic is usedN@ thedform of injection for addiction.
Sy el Sk Iy q : mw:d,u;.J_(ij?ju Kf)' 12
Gonorrhea Syphilis AIDS Chancroid | The immune system is Spti i during disease.
ABC ABA ABD ACD . EL'L}”@ (f Lansdiz | 13
Three important ways for first ai 25
&L Je o » ff’@ Sy 14
Five Four Three Two Important ways for artificial respiration 2¢)
-rg s u::‘ . ?‘gt'm)abc.ui’)’?:g:f)'/:} 15
Five Four Three Two How many ways the poison enters in a body?
For Boys Wi,
Lo § 4 Jle )
i Z2i10 el — How high is the goal. ?oi:f{;ﬁ;:ﬁd{;j)i:foiig 16
2.20 meter 2.10 meter 2.14 meter 2.18 meter game?
/630 /650 1./660 #7670 e bkl U e 17
630 gram 650 gram 660 gram 670 gram | The weight of ball is basketball game is:
For Girls U1,
2560 2E50 340 #E30 e b BEUE S 16
60 mm 50 mm 40 mm 30 mm The diameter of table tennis ball is:
KET8 KET6 K74 KET2 e dndigdest ok | 4
78 cm 76 cm 74 cm 72 cm The width of net in badminton game is:
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;q?g/;l./»}u,}b‘?dlbéylzuuauf u‘v’bé'@.)&l‘/édlr /;44( (}ll-wi@JD»l C ‘B‘Aayi..‘f /gédlr v

N ) w?lﬁuf P10 AT od d/ 2 Z‘/ .‘«b’LL}’ {:( u,/’l:ug/‘:....{l-é: ¥ 1
D C B A Questions | <y V-
3 2.8 K24 X1.4 e Gnd g {
3 meter 2.8 meter 2.4 meter 1.4 meter | The length of small intestine is:
A L deg =t? WA endis |
Carbohydrates| Vitamins Fats Proteins The contents of food called tissue builder:
i 0 Sabse oy e e d gt P | 4
Typhoid Flu Beriberi Polio Lack of vitamin B is caused the disease in human body:
& ’;Z}f’-’ A S eln sk eLligdd|
Cheap woet Better Stimulant | Coffee is much as compare to tea.
” (5/0 e £ sl w2 Lo% 5
Two Five _K? Four Three How many parts are there of javelin?
55 4 ‘{2’3}\ 22 | bl LS V:f"‘j? 6
A ances for tries given at every height in high jump are:
#7.03 27 ‘/ #6 e bbb s S SIS LES ot in 2400 7
7.03 meter 7 meter 6. 3 mete § meter Stagger given to 2™ lane runner in 400m race is:
i oA wh Y Aé U BILS L5 g
Tobacco Morphine Opium nic is used in the form of injection for addiction.
Sy &7 4! 52 ﬂ e S (ad 9
Gonorrhea Syphilis AIDS Chancroid Y&? immune system is spoiled during disease.
ABC ABA ABD ACD et LORMAE LS bian | 4
Three 4 rmt ways for first aid are:
&L Je P4 » B AALS S | 4y
Five Four Three Two Important waysor ghificial respiration are:
& s o » b i; tetnfoa VRS 1 | 1y
Five Four Three Two How many ways the posgn{ehters in a body?
S o Ty Ve e Ugb i MEE L | 13
Game Examination | Classroom Home The best training centre for a lead(é?.’ IS
WA S =2 .1 :%qu WAz L 14
Smart Clever Active Lazy Scientific inventions has made a man: @’
Py s Utk s /g -ujZ_/J’bJJf:.—:,W 15
Stomach Blood Veins Liver Muscles get diet from:
For Boys Wi,
/630 /650 /660 /670 e bl L e |
630 gram 650 gram 660 gram 670 gram | The weight of ball is basketball game is:
#2220 22,10 #2.14 #2.18 o ?*S”fé‘f"‘”:’J""{“J_f v -
2.20 meter 2.10 meter 2.14 meter 2.18 meter }g{amglgh isthe.goalpestfromsground leys] imhokey
For Girls U1,
RE | ZETE | xEM | KENR e Onbigdert Pk | 16
78 cm 76 cm 74 cm 72 cm The width of net in badminton game is:
460 KJ50 440 430 e b S FE | o
60 mm 50 mm 40 mm 30 mm The diameter of table tennis ball is:
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Adir

s w.,alﬁuf it i/, {/ sl S, /,:( Usibmsl e K- &os A 1
D C B A Questions | <y V-
0 ¢ H L e0r__ ssdelepdl|
Cheap Sweet Better Stimulant | Coffee is much as compare to tea.
» &L e & \Lr2Z L | 5
Two Five Four Three How many parts are there of javelin?
55 44 33 22 le O LS bgindiendt | g
Chances for tries given at every height in high jump are:
#2103 N7 463 #6 et LIS ot 2400 |
7.03 meter pRter 6.3 meter 6 meter Stagger given to 2™ lane runner in 400m race is:
W MQ o o UL L8| g
Tobacco Morph _K? Opium Arsenic is used in the form of injection for addiction.
iy 57 N 4! 5y _4‘_rngmt_:utwug.o'_rw&‘5uxﬁ 6
Gonorrhea Syphilis A}BSA Chancroid | The immune system is spoiled during disease.
ABC ABA ;Blg)/ ACD WL ORI LAUE I |
> Three important ways for first aid are:
&L Je P4 \’3’ @ wB LS g | g
Five Four Three 0 Important ways for artificial respiration are:
é.l.' s u.‘.; ) ﬂ7 ‘."gt'nfl);,uﬁ{)’?:uffj'/:} 9
Five Four Three Two YJ@V nany ways the poison enters in a body?
N4 e =Aze ) s N e Ol HE55 4 | 10
Game Examination | Classroom Home The b g centre for a leader is:
WA ng . .1 :€_L:Lz/uU|L.;1:L_£«uJV 1
Smart Clever Active Lazy Scientific inven{ong¥as made a man:
Py os Usk s ¥4 ‘(y __(Z_/Jlla_fl/i':_.—.:«w 12
Stomach Blood Veins Liver Muscles get diet from: N, C)
X3 #2.8 #24 #14 e Gl ST | 5
3 meter 2.8 meter 2.4 meter 1.4 meter | The length of small intestine is: IS
P Lo deg =t Sl ndiz 14
Carbohydrates| Vitamins Fats Proteins The contents of food called tissue builde’
e & Sabse o e dnsee dSdrbrt o |
Typhoid Flu Beriberi Polio Lack of vitamin B is caused the disease in human body:
For Boys Wi,
g Pl giide 4V
i Z2i10 el — How high is the goal. ?oi:f{;ﬁ;:ﬁd{;j)i:foiig 16
2.20 meter 2.10 meter 2.14 meter 2.18 meter game?
/630 /650 /660 /670 e bl LU | 4
630 gram 650 gram 660 gram 670 gram | The weight of ball is basketball game is:
For Girls U1,
60 #$50 2440 #2430 e b F |
60 mm 50 mm 40 mm 30 mm The diameter of table tennis ball is:
KET8 KET6 K74 KET2 e dndigdest ok | 4
78 cm 76 cm 74 cm 72 cm The width of net in badminton game is:
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Lﬁk/‘?tﬁ/’b”&l&’éy'ﬁuﬂéd u:/'bi'e_.)&l/édlf ﬁ“é(@lﬁ-wieJDﬂl C ‘B‘A.:«&li..‘f Jlgédlr Y

Adir

N ) w.,alﬁuf P9 AT o d/ GE {/ _‘«ULL/ /,:( u:ﬂ:»g):...{l-{::: A 1
D C B A Questions | <y V-
#7.03 K1 6.3 6 i by SO LSS potin/2400 | 4
7.03 meter 7 meter 6.3 meter 6 meter Stagger given to 2™ lane runner in 400m race is:
Az Ao oE] W e USISSELS  LLE,
Tobacco Morphine Opium Arsenic is used in the form of injection for addiction.
iy o1t 4 58 _q_rt_,mt;u:d/L:‘J_rw;&’juKﬁ 3
Gonorrhea Syphilis AIDS Chancroid | The immune system is spoiled during disease.
ABC :bBA ABD ACD LU At Loausdii 4
Pl Three important ways for first aid are:
&L Q/C o ” B AL g |
Five Fou _K? Three Two Important ways for artificial respiration are:
é&_ /% N N ‘»J %) ?‘erﬁ,cui})’z‘/ﬁﬁ/y; 6
Five Four Ib?e}A Two How many ways the poison enters in a body?
J.j e _~}Lz n/ ye :c‘_&xé_f.;d_;dbfm,g 7
Game Examination | Classroo: SHome The best training centre for a leader is:
WA JUl-‘-' =3 ﬁ{::y :gg:ufuu&u;w&‘v 8
Smart Clever Active Scientific inventions has made a man:
Py s Utk s /6 ﬂ7 -u"lf_./flo..fl/f;._.:«w 9
Stomach Blood Veins Liver Ye@scles get diet from:
23 2.8 224 x1a | ¥ 2 30T | 1
3 meter 2.8 meter 2.4 meter 1.4 meter | The Ie@)}@mall intestine is:
L] L dee eld e b i 1
Carbohydrates| Vitamins Fats Proteins The contents o¥foodXalled tissue builder:
o 7 ez 4 I e dnsradarvasiion] |,
Typhoid Flu Beriberi Polio Lack of vitamin B is catseg {iddisease in human body:
= 5 P 7 e gusth L | s
Cheap Sweet Better Stimulant | Coffee is much as comp. 5.
Two Five Four Three How many parts are there of javelin?
5,5 44 33 030 L O LIS odg ey 15
Chances for tries given at every height in high jump are:
For Boys Wi,
/630 /650 /660 /670 e bl L e |
630 gram 650 gram 660 gram 670 gram | The weight of ball is basketball game is:
#2220 22,10 #2.14 #2.18 o ?*S”fé‘f"‘”:’J""{“J_f v -
2.20 meter 2.10 meter 2.14 meter 2.18 meter }g{amglgh isthe.goalpestfromsground leys] imhokey
For Girls U1,
KE | RET | xFNM | KER e $rdugdect Pk | 16
78 cm 76 cm 74 cm 72 cm The width of net in badminton game is:
360 E50 440 E30 e b BEUE S 17
60 mm 50 mm 40 mm 30 mm The diameter of table tennis ball is:
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(Part-1 J3laza )

16 Write short answers to any EIGHT parts. .é.:«glz/"? L,lZlA’Tc_Jf <2
How sports improve individual performance? ?ugz_w,af i ‘f s /'J:”/ (1)
How do we know that a good player is dutiful? ?LLL-,fJL:&J}d;ML@f{éQd: (i1)
What is meant by sportsmanship? ?9,1/91’;__7}&&/,;’ (ii1)
Why do we play game? ?wszu,[‘)fﬁ (iv)
For Boys Wi,
Write down the length and width of hockey ground. _ag&u,;,,@g,)d/ WSl W)
Why does stroke award? S bl wd S s (Vi)
Write two fou& key game. “EF Hobas L S di o (vid)
When does bully ckey game? ?9&@J,J&'¢JfJg (viii)
Explain the boundary Ii fAasketball court. ~ZEesb§F IS el (ix)
Write a note on basketball gé? tral circle. _§4f¢j4‘)‘/ﬁuﬁfdg&g (x)
Which is called held ball in baskettal gme? s Lt SNl (xi)
Write two rules of basketball game. & _5{/_;@:':}',,0:‘}_{‘)9;}; (xii)
For Girls { =1,

LAl ms el O
Write the measurements of side gallery and back galle % minton.

Write two fouls of service in badminton game. @ ,_é4/’ﬂ55::£vf;/ufdfgf*g (vi)
Write a note on scoring in badminton game. _af.;,j/fj,,ﬁu:‘)f‘j’jf, (vii)
When Let is given in badminton game? \Z\ > rlgp._f(Let).*/Ju:Jfg"“,g. (viii)
Write the length and width of the table in table tennis. .(?‘ avfél;;,,léu‘f/u"fd"' (ix)
What is really in table tennis game? &JZJ’ /u"dj ALK ®
Explain briefly the description of table tennis single match. (x1)
Write four fouls of table tennis game. 4 (xii)
16 Write short answers to any EIGHT parts. uz 2 L5 137§ 3
Write down two fouls of throwing the javelin. i L 6]
Write a short note on the structure of javelin. i fedF aler  (i)
Explain yellow flag in rules of javelin throw. __éyu,d/dl@’&u:@fiégﬁ (iii)
Write a history of throwing the javelin. oS EE (V)
Write two fouls of high jump. Ml L ds (V)
Explain landing area in high jump. _é{_;)u,u(&/_lfj:gu:juo;é,i (vi)
Explain the first principle of resoling tie in high jump. _éyb;JJ/l%Ld/‘l/;J.'fM:é;! (vii)

Describe the shape and measurement of crossbar supports in high jump. _éggfgjglfJ u).?ui’.;zél, (viii)
Sud 5 13 8 St i 24000 ()

A man cannot maintain his highest speed during 400 meter race. Why?

(+64)



Explain the lanes of track in 400 meter race. __é.;ou,gfug/uu&{}u:}»)-ﬁﬂoo (x)
Write down the two rules of 400 meter race. ~E LTI 2400 (xi)
Write stages for start of 400 meter race. L Lo s 2400 (xid)
12 Write short answers to any SIX parts. -ﬂ.:,yz/"? L,lmg;éf -4
Write short note on stomach. Ny L4 (1)
Define muscular system. S flews e (i)
Write four benefits of salts. _é-f/“;"/l},xgé.:,l_,ﬁ" (iii)
Write the benefits of food. 0l (iv)
Write short note on opium. J&ﬁ_',i/‘""’/?u:_"l (v)
What are the effects of morphia on human body? i pel iy Lg,urﬁ du (vi)
What is meant by poison? Sesl e s (Vid)
Write dow@t; kinds of beverages. _é/_/’ru“ld/_»,p/“‘ (viii)
What is mea @8, C in first aid? tei Ve A, B, CUbiugdia  (ix)
yay
\-(?/08Ld’fﬁ-é‘f{}&pﬁé’:&ﬂ’f@f;&}( “{4}.:4..2;
Part — 11, Attsghptyyny THREE questions. Each question carries 08 marks.
X
How we can get benefits from sp iscuss. GessgpL SV ug,’u._/_j/(_u ,yf( 5
Write down the rules and regulations ?velin throw. _g;(/.f"‘f,'li"u;ﬂééf—f,)i _6
_;4:4/’0‘{;’1}£uwl§:ug;‘):.‘y(lﬁlJ.';W o/
Write in detail the types of muscles and also wﬂ@ ¥ benefits.
& L mg,l.tﬁlJ‘ywm;t,m,(;;l):‘_g{_@j"&,y _8
Define AIDS. Also describe in detail the symptoms an ions of AIDS.
_néggu"jl/'éul?u_y"gn D i?{u.‘.\)f&dl,:fl, e, 9
For Boys:  How many officials are there in the game of basketsall®)Write down their duties.
_g;jfﬂ)z:unmz_n}%";g L AN bz 29

For Girls:  How many officials are there in the game of table tennis? Wge down their duties.

«90@
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Objective
Paper Code
2542

223003,

c.ufgle./n}l: Jb‘?dl!vé.,vli.uuauf u‘v’bé'@.)&l‘/édlr /;44( (}ll-wi@JD»l C ‘B‘Aayi..‘f /gédlr v

Adir

N ) w.,alﬁuf P9 AT o d/ GE {/ _‘«ULL/ /,:( u’/'l:ugic_».{l-g;; A 1
D C B A Questions | =i V-
o A o o andndoh_ ATF |
twenty three fourteen thirteen ten The Holy Quran was revealed in years.
Jb ] Eow o =q-:'/:-f )
Qiyas Figah Hadith Quran Secret revelation means:
;ng A o/yl XU Zbg\;«/rdgc.,/d/);fuf/“ 3
Al Kausar Al Nisa Al Bagara Al Maida | The longest Surah of the Holy Quran is:
A, 4 - s o el i |
Eight Hundred o Six Hundred | Five Hundred Cucan MEMOTIZErs were aaastyoed: 0 e balils: 10
ed Yamama:
S %@ sed Lied U, 2T R/ Py O 2 (IS EPY
Bani Isracl The natioan?f nation of | The nation of | To which nation has Allah Almighty reminded us of 5
Thamud ¥ ad Noah His rewards?
X, .
d}.’ /f &: Lf( :90’”(/}’! 6
Spider Mosquito Ano N Bee The meaning of “.2#” is:
314 #7 0/l < / (V) -4’-’_& cf_g):/'/l[f- 7
fourteen eight twelve p?n There were tribes of Bani Israel.
s e 2 S WL | g
Saturday Friday Tuesday Mondayﬂf}le meaning of “&w” is:
. P 4
Just pek JrEl bl 705 Juat L “»(? oS e #
K - =-2Ty'9] Y . Ol
Three Five hundred | Two thousand | One thousand = 0,: 2 S et 9
Eve¥o them wants to live:
thousand years years years years I
. . 4 =T 2 1 . V. o6
SHSsrs | SHT | DA | S s ‘e K EECTA | 0
Towards Towards the | Towards Towards W : cogl ot daain:
Whisiids Nabisi sky Masjid-e-AqsalMasjid-c-Haram e are seeing We Ssmg again and again:
S iy o Gae ~[§ VA2 1] OV 1
Ummavi Nabvi Usmani Siddiqui The compilation of the HAdWi began in the period of:
303 279 256 261 S S N ET)
Imam Bukhari died in 4 ol
C—U’;& Qéb) =% L—J) (/&JW Kes 13
By hands  |From the brain| By tongue By heart Intention is concerned:
8] 35 5 SV e Y513 2 2/ Rl 14
Religion Zakat Fasting Prayer In the light of Hadith what is called benevolence?
b bk s gy S L |
Immoral Yl Wicked Marsied The meaning of g edi” is:
adulterer adulterer i )
= = ol =5 According to the Hadith h ﬁgaw;@ (r; 2—%‘“’3 16
Wealth Salvation Honor Fame it.ccor ing to the Hadith he who remained silent foun
BI04 .61'; 84 3}'//' ‘GJ’ZJU&ILQ" 17
Jihad Preaching Fasting Zakat The peak of the elbow of religion is:
Sk b2 gfxd_. = _é_éc_ ula;/:‘:(;f 18
Illness Old age Fainting Death Spoil health before .
Z Je B4 5 e S L L1 /8y 19
Six Four Three Two According to the Arabic grammar types of Kalma are:
# s o i aad el PP

The plural of “=-" is:
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Objective
Paper Code
2544

223003,

c.qu//L/n}l: Jb‘?dlbé.,vli.uuauf u‘v’bé'@.)&lfédlr /;4(%( (}ll-wigJD»l C ‘B‘Aagli..‘f /gédlr v

Adir

N ) w.,alﬁu,( P9 A od d/ S8 {:f .‘—‘LL/ {:( u:z'bu!._ic—u_ﬁ-é:: A 1
D C B A Questions | =i V-
i =g il =< According to the Hadith h :ﬁgauwrj ﬁ'fu’f‘;—:“; 1
Wealth Salvation Hoiop farie it‘ccor ing to the Hadith he who remained silent foun
P ol 0iss 55 e dado Lo )
Jihad Preaching Fasting Zakat The peak of the elbow of religion is:
Sk b2 L,?:fé._ =y _‘ﬁ_'_c ula;/.’f‘f:)‘ 3
Illness \ Old age Fainting Death Spoil health before .
Z 4 e & 2 U.?LL"‘JJJJ.WL/'/U/ 4
Six %:J} Three Two According to the Arabic grammar types of Kalma are:
\g .
4 : O alat i e G 5
. RY-) pul ¥
a '<$ S The plural of “=+1" is:
3 e < '»?\ v SEV Y S| 6
twenty three fourteen tIxteprm™ ten The Holy Quran was revealed in years.
\f_ls 3 _"fwk/// UT/— :‘L)I/L(};J; 7
Qiyas Figah Hadith I uran Secret revelation means:
24 A 8 A Jﬁl :ba.;urdgc,_./d/éul' 3 8
Al Kausar Al Nisa Al Baqara AlMaida ,| The longest Surah of the Holy Quran is:
ar | x| g 4 47, btk |
Eight Hundred iy Six Hundred | Five Hundred : m.emorlzers were martyred in the battle o
Hundred mpfnd;,
Fis 2 eF sopd vied A ﬁ» ?VgLu);g.;wlzrnéf_,bl'{f(}f'gdb? &)
Bani Isra;el The nation of | The nation of | The nation of | To whic (z@n as Allah Almighty reminded us of 10
Thamud Aad Noah His rewards?* «
X =
¥ A §a ¢ w0
Spider Mosquito Ant Bee The meaning of “ 2y,
34 7 o/l (V2] w -ig Lgﬁ'/’(}: 12
fourteen eight twelve ten There were tribes of Baryi&s)a‘el.
i -2 S Ny (0' 15 L 13
Saturday Friday Tuesday Monday The meaning of “&s” is:
JLN’/“.J: . Jl{yé'l-‘ JLH'}I’J Jlﬂ'ﬁb{’ :a,/ai)ufa.u%i'd/u‘?/rcuﬁul 14
Three Five hundred | Two thousand | One thousand Sam o
Everyone of them wants to live:
thousand years| years years years
J)Jd’f J)JUH J)Ju"’r J}’J"‘]"f :u.’?au{:cil/gltoi-f&?efﬁ 15
Towards Towards the Towards Towards T —— ;1 ditii afidapuia:
Masjid-e-Nabvi sky Masjid-e-Agsa|Masjid-e-Haram SIS YO s g ol
g 74 o G deh T ek 16
Ummavi Nabvi Usmani Siddiqui The compilation of the Hadith began in the period of:
303 279 256 261 N )
Imam Bukhari died in Hijri.
cu)"’k céb =0, cd) :‘Lg}w{:{' 18
By hands  |[From the brain| By tongue By heart Intention is concerned:
08 55 03 pi% ?‘Lgfbfwb_f{;j]@gf’,&_&_w 19
Religion Zakat Fasting Prayer In the light of Hadith what is called benevolence?
e dl)o;d,‘c./! Kx d'):;(.jllﬁ g_’}'@ﬂé\s«‘)\uéﬂ‘ -
Immoral Mamamstl Wicked i The meaning of ;g e is:
adulterer adulterer o )
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223003,

c.ufgz"/l.fu’bjb‘?&l&fé.,v'i.uucdw/’bé'a_.)&lrﬁdlr /;4Q(Qll-wig:DulC ‘B‘Aayﬁ.‘fjlgéf.dlr v

Adir

N ) w.,«lﬁuf P9 AT o d/ GE {/ _‘«ULL/ /,:( u’/'l:ugic_».{l-{::: A 1
D C B A Questions | =i V-
Sl $¥ de Fue dn W HT6coepd |
Ummavi Nabvi Usmani Siddiqui The compilation of the Hadith began in the period of:
303 279 256 261 . Rl GBN | g
Imam Bukhari died in Hijri.
LU};Q :_él.: = ulJ c.d) ;‘L&L’/(&_; 3
By hands  |[From the brain| By tongue By heart Intention is concerned:
o <y 38 2307 v W13 23 LG lecw 4
Religion ’Aakat Fasting Prayer In the light of Hadith what is called benevolence?
&’G U-'; 4, - K J’ioi(-f)l'; g_’?d”&@\)\s——_-‘-“
Immoral Uamarged Wicked Matied. | i meaning of “g' e is: >
adulterSTe/ adulterer bk )
4 S G2 LYy
el . \/I:? A Accordi he Hadith h 'ﬁﬁ‘—v 'Pf/ r:}?"lju’/f% d| 6
Wealth Saivation A ?() Firie it.ccor ing to the Hadith he who remained silent foun
(= N ¥
sz o 5 I /‘ 35 e dgdeh e 7
Jihad Preaching Fasting (@Z at The peak of the elbow of religion is:
Sk b G e L e oS s 8
Illness Old age Fainting Death ) Spoil health before :
£ e u.f- ) <!:7 LEWAJJJU”L/';U/ 9
Six Four Three Two co{*}i’pg to the Arabic grammar types of Kalma are:
! 3=l pl i ; 10
The plur st
= N 4 : s
e J“')? oL (V2] -l:sztufu:'Lz__,@u!/ 1
twenty three fourteen thirteen ten The Holy Quran \’ﬁge\maled in years.
. N Iy
ve & Low o) _ o & iesre 6 | 1o
Qiyas Figah Hadith Quran Secret revelation means:
ZJI A o/?l & U =) djc_/d/,«_fuf/n 13
Al Kausar Al Nisa Al Bagara Al Maida | The longest Surah of the Holy Qui y(* P
7 rel ; A ] }s&?u Lol B
-~y S “ wé i rtyred i battle of | 14
Eight Hundred SHEn Six Hundred | Five Hundred Qumn HEmerizeTs Wele: Magyrs m s e 2
Hundred Yamama:
Fii ;;(5 epd vird ‘.‘@;Lu;:g.;,l.b?v'%iLf.,,bl?ffffé_dwaﬁl
Basii Tseael The nation of | The nation of | The nation of | To which nation has Allah Almighty reminded us of 15
Thamud Aad Noah His rewards?
¥ A 5z d S PP
Spider Mosquito Ant Bee The meaning of “.2#" is:
1Y4 7 o/l [Vg) -ig LJ-{'/IJ, 17
fourteen cight twelve ten There were tribes of Bani Israel.
=3 57 S SNy s Lew 18
Saturday Friday Tuesday Monday The meaning of “&s” is:
el Jurél Stz el e g
¢ ¥ 5= ek e re i
Three Five hundred | Two thousand | One thousand ot a.’ Pl S st 19
Everyone of them wants to live:
thousand years years years years
S A A I g ST eS| 50
Towards Towards the Towards Towards W : f sngpes S8 3 d P
Magfidie-Nabvi ky Masjid-c-AgsalMasjid-e-Haram e are seeing your face rising again and again:
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20:4F  230:20 2548
& :L/ fub,ab»dlkféuli../u;.ufu)/béa)él/édlr //Q(&i-wég;D»lC B« A..«Ui.f/lvédlr/ /' d[ I
N ) w.,«lﬁuf P9 AT o d/ GE {/ _‘«ULL/ /,:( uul:»p:...@-{f:: A 1
D C B A Questions | =i V-
6F A §a ¢ G|
Spider Mosquito Ant Bee The meaning of “.2#" is:
By 2T ok s &4 L&G | 5
fourteen eight twelve ten There were tribes of Bani Israel.
i 22 S Ny S Less 3
Saturday ) Friday Tuesday Monday The meaning of “&” is:
R4 4 ; . . .
Jes et </ﬁ”é£ St JLN'/:V“(' 2c_1ai)o’fc;ﬁlid/f/;;.gﬂul 4
Three red | Two thousand | One thousand Ve
Everyone of them wants to live:
thousand years years years
-~ ' . ' 5 . FAms
SHSsre | SAC SHE | S Ui AN 8 RE T A 5
Towards Towards the | wards Towards W : £ g Vg dagain:
SfigidieNabivi Ak ity AgsalMasjid-e-Haram e are seeing your face rising again and again:
So 7 ‘@Q Gur P T o9k 6
Ummavi Nabvi Usm: / s, Siddiqui The compilation of the Hadith began in the period of:
v . Sl
303 279 256 <§2 I o e Os ST
Imam Bukhari died in Hijri.
LU)‘?Q L—éLJ el & +JWKQ,’ 8
By hands [From the brain| By tongue By heart/ z¢11ention is concerned:
/ . &
Ug] 3 0J8s iV N "Ag_U'L{J/@liingrJu(uJ.ﬁq_w 9
Religion Zakat Fasting Prayer In kof Hadith what is called benevolence?
6 %u,;d)g ,:; ” i;,;g,g ‘(f (G Lo Prei 10
Immoral o Wicked e The meaninglof ,J\.....h” is:
adulterer adulterer
) =¥ =7 oy A di " ﬂ GLL S ”:ikljw’f-"‘; 1
Wealth Saleatisi HisticE Rt ccording to the H n{ ; @o remained silent foun
sz & Y 5 e el Lo 12
Jihad Preaching Fasting Zakat The peak of the elbow of religioig)” » .
Sk i_la‘/. j}f{_ oy -%L— (/ o5 13
Illness Old age Fainting Death Spoil health before : 6
Z /% J-; ) Q.YWJJ.FJWL/U’J/ 14
Six Four Three Two According to the Arabic grammar types of Kalma are:
) - » e Ul
¢ Ry pul l 15
The plural of “=" is:
3 J"'JE U4 o8 Andik U -/.E,C)”/. 16
twenty three fourteen thirteen ten The Holy Quran was revealed in years.
Lfg 3 S Cﬂ; :%)'/C—J}J’ 17
Qiyas Figah Hadith Quran Secret revelation means:
}ng A o/?’ oL U :‘L;’/}’J{L?f&éu”; 18
Al Kausar Al Nisa Al Baqgara Al Maida | The longest Surah of the Holy Quran is:
4l S,:‘L/ I ré& . _L’fﬁ;u’i;? h ;t’luui‘ 19
Bight Hundied even six Hidied | Bive Hindrsi Quran m.emorlzers were martyred in the battle o
Hundred Yamama:
Jf’/'b.‘ »‘."r; ch(,;" C:‘(; ?u}Z.U):E:.Lb;!ZrIL//.rbl?:((;/'adgs&‘
B Tosadt The nation of | The nation of | The nation of | To which nation has Allah Almighty reminded us of 20
Thamud Aad Noah His rewards?
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(Part-1 Jildzas )

12 Write short answers to any SIX parts. .4:«!,!.2/341'121‘3:.&;( -2
Define the word Migqta’aat. «_é..@/."J.:,L:bE‘.Jy! (i)
What is the difference between Wahee and Ilhaam? Vg,J}Lf‘;rLfJu,;J, (i)
Which Surah is called “o7 Zis5? Ce bty G0 ST Pbs (iii)
What is meant by Fatra-tul-Wahee? "a:l/kfcd”ls“/' (iv)
Describe two blessings of Allah Almighty upon Bani Israel. -éubucg'ur“‘u/J/LJme!/ =15 (v)
Write the importance of the last two Aayaat of Surah-tul-Bagrah. kB SURTu AT s (vi)
Write down the meaning of “<4;”. B B (vii)
Write down signs of Muttaqeen according to Surah-tul-Bagrah. «gugﬁffjwég/’.lmr (viii)
Translate: {3 disdd)5ks 5 oedysiey 22 (ix)
12 Write short answers to any SIX parts. .éc«gli/‘?d:dzl{c_éi’ -3

é\ WV QS AL UL L TR NS e (@)
Why did Haz @ -¥) ask water for his nation and how was water bestowed?
& by k'/gfu!hd‘,fdh’.?!ﬁg;u’l?Qy/uiﬁ'(;rfg (1)

What was the rule of )y What punishment was given to those who violated it?

Write the concept of: il Glbu ey e (i)
What were the names and duﬁﬁ)f Angels which were sent to Babal? SEL Pt Ly /Zc_mu’JL (iv)
\Z\ St P b bl 2 s e e 28 S e L A6 v)
What promise Allah Almighty has beeinta rom Hazrat Ibrahim (41 %) and Hazrat Ismail (¢11.¥) about Khana Kaaba?
Who are called Mustashrikeen? ?.‘rw’,@f,@‘:ﬁf" (vi)
What is meant by Hadith-e-Taqreeri? <§ Ses e fene  (vil)
Write the names of compilers of Sahih Bukhari and @Mslim. -éfcéﬁyéﬁ’é”/»@&é' (viii)
_él’té_.ﬂ/udé)/d/;y!v‘,‘l‘.'gl-_;A/_L'f:_;g/ldr’l (ix)
What is meant by Asool-e-Arba? Write the names of any two f Asool-e-Arba.
16  Write short answers to any EIGHT parts. -dggl_z/:” LAZ!)T;,J/ 4

S oo fe i ﬁ?dd:m)lfkﬁw:,_y (1)

Which are the signs of the day of judgment as Nabi (ﬁﬁ’) pointed in Hadt] acel (¢Irk)?

Translate: Sy Jusyiui (? _&¥ 2o oy usi (i)
For how many days man remains in the form of drop of water in mother’s womb? (’c_t'puﬁyb(.’,hﬁg)zu:ul,‘;/gu'l (1i1)
Translate: a iaalas 28 25K kil (iv)
Write a Hadith or its translation about prohibition of anger. { . Ju_,»d; (e el § & v)
Write a Hadith or its translation about modesty. 4@ 7. "L.—rwd[d’&/l’éfb (vi)

Write two valid reasons of killing of Muslim. u//la»Jfl/V (vii)
"u‘c.u:(

What are two words that fill up the vacuum of earth and sky? LT (viii)
Write two examples of past tense. J’LJ" (ix)
Define command verb and write an example. _JJD.{I/,!“' d /nd” (x)
What are & 3ks and Ji=, in grammar? ?ugl_,(u:/ufj\‘n 231 s jadis (xi)
Write feminine of 56 and masculine of ixis. _é/){i&;}um&r(;\.ﬂj (xii)

( Part — II, Each question carries 10 marks. -7 10LZJix ; aig24ias) ‘
06,04 Translate and explain the following Quranic A’yah: Lo P AN R
00 3 a3 S %48 B0 a1 5 ST
ool il i e vtdits -6
Explain any ONE of the following Quranic A’yah with reference to the context:
ppls Al () o3aaegBise ()
Translate and explain the following Hadith: :EC B 2K N it T
350 B gk i 5l 500 o S D el o i 3 i N 258 550 s B
dsiop Sulb 21 50 OIS 39500 Sl
:éy&:c&k:&}g{.ﬂzw!»JJ[LJ:J_}G/J -8
Explain with reference to the context any TWO of the following Ahadith:
SV Gl p 2 s e (@) Wb B B0 (D) e kdh SeSaisiin ()
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Roll No. :

PObjeCéng Intermediate Part Second *
aper Lode MATHEMATICS (Objective) GROUP - 1
2510 Time: 30 Minutes Marks: 20

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,
fill the relevant circle in front of that question number on computerized answer sheet. Use marker or pen to

QONs fill the circles. Cutting or filling two or more circles will result in zero marks in that question. Attempt as
many questions as given in objective type question paper and leave other circles blank.
S.# Questions A B ¢ D
1 | 670, 1 I 7 £,
00 9 7
: 2. . Both even |Neither even
2 | The function f(x)=(x+2)"is: Even Odd sl s sos oA
d
3| —(3"-2)=: n(x"" -2 5 n-2)x"" S
3 x\% e ) ( ) nx (n—-2) X
N, 1
4 |If f(x Zthen f'(—=1) = 1 -1 3 2
d . 2% (n2
5 | —@)= Lﬁ x2* 2*¢n2 -
dx '>\ (n2 2
o | d —_— Y \Z\ 1 o 1 9
—(sin” hx) =
dx nh \/l—x2 \/l—x2 \/l+x2 \/1+xz
7 I 7dx = /V gl | SR | etk | LespE
X" +9 h 3 3 3 3 3 3
A3
ex X ) X _ X X
8 J‘ex_zdxz, ﬁl’(n(e 2)+c|ln(e* -3)+c| e*=2+c e
X i :/
9 Icosxdx = h - 2 1
0 2N
10 Ie (sec” x +tanx)dx = e seC {/4) {‘ secx e* tan x e* tan” x
. . . L9 B
1 The distance of the point (—1,2) from x — axis ) \( 5 )
is: < § P
. . 3 - y 3 2
12 | Slope of the line 3x —5y+2=0is: = — = =
P Y 5 5 6 2 3
13 | Slope of y — axis is: Zero 1 (5)/, Undefined
>
» The distance of the line 2x —5y+13 =0 from 13 13 13\./ P g
the point (0,0) is: 29 \[2_9
15 | (2,1)is in the solution of inequality: 2x+y>0 | x—y>1 |3x+5y<3| 2x+y=>6
16 | The radius of the circle (x —5)* +(y—3)* =8is: 64 4 8 J8
17 | An angle inscribed in a semi-circle is: 0 g T 2n
Equation of tangent to circle x> +y’ =a’at . o T_F X -y
18 . XX, +yy, =a’[xx,—yy,=a’| —=— i
P(Xl,yl)IS: XY X Y
19 | i.j= 0 i j k
b.a b.a i a
20 | The projection of a vector b along vector a is: ITT |_|a a.b %
5 a




Objective
Paper Code
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Part Second

MATHEMATICS (Objective) GROUP -1

Marks: 20

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

Roll No. :

¢
3

fill the relevant circle in front of that question number on computerized answer sheet. Use marker or pen to

QONs fill the circles. Cutting or filling two or more circles will result in zero marks in that question. Attempt as
many questions as given in objective type question paper and leave other circles blank.
S.# Questions A B ¢ D
1 | The radius of the circle (x —5)* +(y—23)* =8is: 64 4 8 8
2 | An angle inscribed in a semi-circle is: 0 g T 2n
3 Equation of tangent to circle x’+y’ =a’at . , , y X -y
. XX, +yy, =a’|xx, —yy, =a’| —=-— s [
P(@ZSZ l 1 ; : Xy X Y
4 |ij= 0 i j k
C) B - B == -
a .a -
5 | The projectiorQ ector b along vector a is: T T a.b =
» b [ b
. sin70 =4 1
6 | (im s : \Z\ — 1 7 -7
00 0 m 5 7
\'{/V Both even |Neither even
. < 2 .
7 | The function f(x)=(x+2)"is! (d . Even Odd atid odd .
d N
8 | —(x"-2)=: ‘C n(x""-2) nx" (n—2)x"" X"
dx Q
(7
9 |If f(x)= l, then f'(-1)=: J,g 1 -1 1 2
X T3 2
d . 4 2" (n2
10 | —(2H) = x@ 2*(n2 .
dx K (n2 2
11 | —(sin "' hx) L s 1 !
—(sin” hx) =
X J1-x ’dﬂx} J1+x2 JI+x3
12 I ,dx = lsin‘I X ltan%xlcos" X lcot‘l X
X +9 3 3 3 3 3 3 3
h :
13 dx = In(e* =2)+c|(n(e* —-3)+c e«—? e*
J‘ g—2 /c A,
14 Icosxdx = 0 —1 2 QS) 1
0
15 Iex (sec’ x +tanx)dx = e* sec’ x e* secx e* tanx e tan’ x
16 The distance of the point (—1,2) from x — axis ) 1 5 )
is:
17 | Slope of the line 3x —5y+2=0is: 3 = 3 2
5 2 3
18 | Slope of y — axis is: Zero 1 2 Undefined
The distance of the line 2x—5y+13=0from 13 13
19 . . — —= 13 2
the point (0,0) is: 29 \/E
20 | (2,1)is in the solution of inequality: 2x+y>0 | x—y>1 |3x+5y<3| 2x+y=6
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MATHEMATICS (Objective) GROUP -1

Marks: 20

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

Roll No. :

¢
3

%

fill the relevant circle in front of that question number on computerized answer sheet. Use marker or pen to

QONs fill the circles. Cutting or filling two or more circles will result in zero marks in that question. Attempt as
many questions as given in objective type question paper and leave other circles blank.
S.# Questions A B ¢ D
1 The distance of the point (—1,2) from x — axis 1 1 5 )
is:
2 | Slope of the line 3x —5y+2=0is: 2 = 2 A
5 2 3
3 Slo%f y — axis is: Zero 1 2 Undefined
i Th\disfMce of the line 2x —5y+13 =0 from 13 13 8 5
the poin (ﬁ)}ﬁ E \/2_9
5 | (2,])isin the Qh}t of inequality: 2x+y>0 | x—-y>1 |3x+5y<3| 2x+y=6
6 | The radius of the c#@;@)z +(y—-3)* =8is: 64 4 8 V8
X
7 | An angle inscribed in a sem@?e is: 0 g T 2n
Equation of tangent to circle V{yyz =a’at R o ox y X -y
8 . XXI+yy1:a' xxl—yyl_—_a' —_— = _—=—
P(x,,y,)1s: ‘C X Y ST £
9 |ij= 0 i ]
j /&% : i j k
I b. - - a
10 | The projection of a vector b along vector a is: I |_|a a.b %
a
N =
. S )
11 | im0 ROEY 7 -7
00 0 7 ),
: gic. Both even [Neither even
12 | The function f(x)=(x+2)"is: Even ?dg ¢ andodd st o
d o
13 | —(x"=-2)=: -l _ o n-1 Ayon-l .
= ( ) n(x ) nx (n /é;( X
14 | If f(x)—ithen f'(-D)= 1 1 ‘{0 2
x’ ) - 2 .{<>
d 2 ] M2
15| —(@29)= *ed o
o (2 x2 2*(n2 ™ >
ic d (sin” hx) 1 -1 1 -1
—(sin” hx) =
dx \ll—x2 \/l—x2 \/l+x' \/1+x~
17 j ,dx = lsin’l 2| Ztan'2 lcos 1z lcot’l X
X +9 3 3 3 3 3 3
18 I ¢ dx= (n(e* —2)+c|In(e* —3)+c| e*—2+c e
e' -2
19 Icosxdx = 0 | 5, 1
0
20 Iex (sec’ x +tanx)dx = e sec’ x e* secx e tanx e* tan® x
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Intermediate

Time: 30 Minutes

Part Second

MATHEMATICS (Objective) GROUP -1

Marks: 20

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

Roll No. :

oo
3

s
pA¢

fill the relevant circle in front of that question number on computerized answer sheet. Use marker or pen to

QONs fill the circles. Cutting or filling two or more circles will result in zero marks in that question. Attempt as
many questions as given in objective type question paper and leave other circles blank.
S.# Questions A B ¢ D
q d (sin” h) 1 -1 1 -1
—(sin” hx) =
dx \/1 x> J1-x2 J1+x2 \/1+x
2 I ,dx = —Sl 18 lta 12 lcos'IE —cot 12
X" +9 3 3 3 3 3 3 3
e
3 = In(e* =2)+c|ln(e* =3)+c| e* -2+ X
EG7S il B
4 J.cos X dx 0 -1 2 1
O,
5 Ie (sec’ x+tan§§{\?3 e*sec’ x e* secx e* tanx e tan’ x
6 The distance of the pmq(f\ 2) from x — axis ) 1 s ’
7 | Slope of the line 3x —5y+2= 'SV 3 -3 3 2
5 5 2 3
8 | Slope of y — axis is: Zero 1 2 Undefined
9 The distance of the line 2x—Sy+13= OfrE{nkr 13 13 5
the point (0,0) s: ? » J—
10 | (2,1)is in the solution of inequality: 2;<+@Z\ -y> 3x+5y<3 | 2x+y=6
<
11 | The radius of the circle (x —5)> +(y—3)’ =8is: 64 )4, 8 J8
12 | An angle inscribed in a semi-circle is: 0 {Q N T 2n
Equation of tangent to circle x*+y’ =a’at X X -y
13 : XX, +yy, =a’|xx, —yy, = &5 —=—
P(x,,y,)1s: YN | XN
14 | 1= 0 i Y &
: : b.a b.a _ a
15 | The projection of a vector b along vector a is: ITT |—T a.b %
5 a
. sl 1
16 | im0 =, I 7 5
00 0 7
. _ 2. Both even |Neither even
17 | The function f(x)=(x+2)"is: Even Odd and odd nor odd
d
18 | —(x"-2)=: n(x"" -2) nx""! (n-2)x™" X"
dx
19 | If f(x):i,then f'(-) = 1 -1 L 2
X" 2
d ok (n2
20 il 2" = x—1 X g
Ix (2%) x2 2*(n2 ) X




Intermediate Part Second Roll No. :

MATHEMATICS (Subjective) GROUP -1
Time: 02:30 Hours Marks: 80

SECTION —1
2. Attempt any EIGHT parts: 16
(1) Define even function and give one example.
(i1) If f(x)=2x+1then findf'(x).
G Sl nl =2
x>0 sin” x
(iv)  If f(x)=2x" +x —5then find Left and Right hand limits of f(x)atx =1.
3 2
(v)  Find Lim[x f"] }

x—-1 X" -

(vi) y=(\/_—%)- then ﬁndd—i.

(vii) IIQ o2 y=3t2 —2t* then ﬁndd—y.
dx
(viii) If y =a&@?i g

gk
X
(ix)y Ify = then f} dﬁ\
(nx
L O
Find y,if y=vXx +—=
(x) yir'y \/; W
(xi)  Define increasing and decreasing gon.

4x>  8x’

(xii)  Apply Maclaurin’s series expansion t pro@hat e =1+2x+ T + T +—————
3. Attempt any EIGHT parts: (j 16
) Find dy of the function defined as f(x)=x*wh 1(?3 and dx=0.01.
(i) By using differentials find j—y if x+2y* =16. (?
X
(iii)  Evaluate J'xxlx2 -1dx \Z\
dx s
i Evaluate | ————+ C
( V) I {_X o _\/; &
(v) Evaluate I(J;+1)2 dx x>0
. 1-+x)? {9
(vi)  Evaluate | ———— dx
s &L
(vii)  Solve the differential equation g—y =-y
X
(viii) Find the area bounded by cos function from x = —g tox =§ ;
(ix)  Find the mid point of the line segment joining the two points A(3,1) ; B(-2,—4).
(x)  Find an equation of the vertical line through (-5,3).
(xi)  Convert 4x + 7y —2=0in normal form.
(xii)  Find the distance from the point P(6,—1) to the line 6x —4y+9=0.
4. Attempt any NINE parts: 18

(1) What is a convex region?
(i)  Graph the solution set of linear inequality in xy —plane: 3x +7y >21

(iii)  Find the centre and radius of the circle 4x* +4y* —8x+12y—25=0
(iv)  Determine whether the point P(-5,6)lies outside, on or inside the circle x* +y* +4x —6y—12=0.
( Continued P/2)



V)
(vi)
(vii)

-2

Find the equation of tangent to the circle x* + y* = 25at point (5cos0, 5sin®).

Find the focus and directrix of the parabola (x —1)* =8(y +2) .
Find the equation of the ellipse with vertex (0,4), focus (0,—3) and centre (0,0) .

(viii) Find vertices and eccentricity of hyperbola 25x* —16y* =400 .

(ix)
(x)

(xi)
(xii)

Find a unit vector in the direction of v = —ﬁi —%J !
Let v =3i—2j+2k,w =5i—j+3k find |3y + w|.
Find a real number a so that u=2ai—j—kandv=i+aj+4kare perpendicular.

If u=2i—j+kandv=4i+2j—k findvxu.

(xiii) Prove that u-(vxw)+v-(wxu)+w-(uxv)=3u-(vxw)

ZRCTION — 11 Attempt any THREE questions. Each question carries 10 marks.

(a)
(b)
(a)

(b)

(a)
(b)
(a)

(b)

(@)

(b)

0
Find: il
@@5,% d
If y=\/tanx+ f?a;+ tanx +......, prove that (2y—1)d—y=sec2x
X

Show that j\/az -x’ dx%1l (i)+%\/a2 -x*+c

a
Find the family of lines througgzlpoint of intersection of the lines 3x —4y—10=0and

x+2y—10=0. Find the member o

e fampily which is parallel to a line with slope — .
Solve the differential equation 2e* tan y&{‘?" ec’ydy =0
nstr.

Maximize f(X,y)=2x+ 5y subject to the co Mt —-x<8;x-y<4;x>0,y>0

Find an equation of the line through the point (¥ @nd the intersection of the lines
2x+5y—-8=0and3x—-4y—-6=0
Show that the lines3x—2y=0and2x+3y—-13=0 ar«?zents to the circle

x*+y +6x—4y=0 &
Find an equation of the tangent to the parabola y’=—6x which 1s paraljel to the line

ra
2x+y+1=0. Also find the point of tangency. /%
355 &
sinA  sinB sinC

In any triangle ABC, prove that

05

05

05
05

05
05

05

05

05
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cﬁ&ﬁtﬁ}l;ﬁ@&@éymu»cuf U)/'I)é'c,)&bédlr /;4‘%( L}lﬁ-g{!i{.) D.s1Ce B‘A-:«Ql;‘!,.'f /kéd"’ v

Knsd w,,uzu/ §19 -:a/r‘d/ sy {/ &QL/ /':( u,/’uug):_,{v-g;; A 1
D C B A Questions | =i V- yd
& d(")t/‘ ol J{'.‘ e SNy SOt e QW WL Lo Aoyl 1
creatiilsenc}i,iet nm;;i)cgrtant Tasty diet Basic diet | Food used to fill the stomach is called:
(PR .Y L‘}':;H‘KMIJIJG
u')bd.b.@d b H:&fdw Not having 5220 4 Lu"l&(d"’é;fb!gu}l;’ 2
Traditional Physical biowledseof| Hardwoik | e i bal ddiet s
dietary hubits|  condition nowledge o ard wor e factor to acquire balanced diet is:
food groups
Ji:r{. .<;\ R % [:/ sljest :ug&x.:«y_/:ﬁél)&'d/ﬂ)l/’ 3
Too liquety Y. Sfatty Too less Too much | Food requirements for old persons would be:
N ¥ < »
Aoy é/ o 7 -_aﬁ'_iél/.s;yc'ubgfléut ;zru:;,ivdy.f.fg-'u,
h dro“ i stitfo O cafboi o; - Presence of in chemical composition of 4
ydrog g N e protein is especially important for growth.
JA2) =l ¥ \A ] uffu: _gﬂz..l’:’-:_gfé_a"l,'l(f)‘ 5
Amino acids Fats Carbg}aéames Proteins keep the body safe from dehydration.
A DT o 3 P
}Jlds/f da s u&(f) ,ul.f;pt S & f{é‘ét”’ﬁ’;’d‘”d”/:d:uj"‘fé 6
LT WG o o Fatty foods have this essential fatty acid by which
Glycerol Acid| Linoleic Acid |Glutamic ACIJ é@mc Acid besdy daes riot pirotune:
Ger'ts gt dorts iﬁ;ﬂu b0 pQBRUFTS SO .
0 g S g S This vitamin produces naturally in human body’s
Vitamin D Vitamin C Vitamin B Vitamin Mﬁ@stines:
= o 4 T e
U4 :,.L:C’d»f - :,.l./ *ﬂ :c‘;t'x/lﬂ;'(&#’g;élp?dlf’l;/la 8
Vitamins Minerals Fats Proteins th of our bone structure depends upon:
S D »
il it dn? P NI P62 L N20L LS P ek
J Il - ;
s WL LT ey 3 g
two and half u“b”” | h dl?fj | d-’b' | }rZ\ aF eS| g
bowls o bowils ALDOW one bowl | To obtain onlyNgrot cooked beans can be
used as food subs ot)of 250 gram meat.
£ 4.‘4//L ;E:JU:LIJ: 4(‘5/115 ;.mmﬂ(f&du_;‘ 10
Time Market cl;:l:;:]cci:; Variety Act of purchasing depend
d"g"zﬁ'? ' (6 diks dik s -L(?,
combined 2 - 11
——— roasting moist heat dry heat Simmering is the example of  °
&L s o » N0 }Lgfawf 12
Five Four Three Two The ways of food serving are:
22 6}6 g e Ig?n@ibéd’?dhgaufg 13
Glass Wood Handle Stand is attached to sewing machine operated with feet.
s J:C Lf,; I\T;JDJ? -‘LJ)’I;«/:/;J ééc/&\/%’.ﬁw‘fiu{l 14
Drafting Scale Scissor e?::;mg is required to stitch a good fitting dress.
}_r’u‘l'/,‘_{ [e24l] LS b)?d}g -‘Lt'!"gyloc /leuJLﬁ‘ufqu;/ 15
Copper oxide | Ammonia Acetate Wood pulp | Rayon Viscos is achieved from cotton linter and:
| s | mads | £ et i)
Singein Mercerization Nz.i i-n Calen de:rin The process which produce shining and strength in the 16
gemng pping € | cloth is called:
/[@r(u;ﬁ/
L’/C"ul,)fuﬁ.'.( ) i
A A as ; " & L ‘-: . > s
Wd dJ‘ﬁ/f Addition of L/‘{W g, Jw/f/ -< ﬂ/:-dkef’cfw/{ 17
oo eyt too much | Selection of JpesD Wardrobe planning means:
clothes sl clothes with clothes

planning
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cdeLLﬁ}l;ﬁW&Wéyfﬁu/)cgﬁ U)/'l)é'c,)&bédlr /;4‘%( Léli.-(,{!i{.) D.s1Ce B‘Aa&l;‘!;ﬁ /kéd"’ '

Knsd w,,uzu/ §19 -:a/r‘d/ il g 4:/( :—51,,4/ 4_{ u’/'buyjc..{l-{;: A 1
D C B A Questions | =i V- yd
iR s Ve lm.'«(b%’/fél)&'
kad.').‘d > u;‘../dlr’ Not having o240 ZLJ&KJ}‘?L.J/’/.P:U/"? 1
Traditional Physical . e
; ; 5.2 knowledge of | Hard work | The factor to acquire balanced diet is:
dietary habits | condition
food groups
Fex GEen Fe sl wbsabnPOEEA/ | 5
Too liquefy Too fatty Too less Too much | Food requirements for old persons would be:
oy o o’f{" -9(’5!4 LV;;"’.(_»*’J:GM : u?rd-f&l/d:lf{g(ué,/__, .
o T cEER b —— Presence of in chemical composition of
ydrog v /h) g ye protein is especially important for growth.
J4 2 0 = cj-':’/,: -ggz.g.;.d/ T f) 4
Amino acids Fatp \Carbohydrates|  Proteins keep the body safe from dehydration.
s Sah "f{ez,,w? | :Z/fuf’ (; .é‘Lt'xu?y‘l}f)'U;udu./d-",gﬂuii ;g‘]; ,
Glycerol Acid| Linoleic Acid tampNAcid| Aspartic Acid Ay Contluhaye s .essentla Aty el Uy wie
R Ay body does not produce:
\C) B R
3047 gt d’ // Ity This vitami &‘Lr”dy{’/ﬁf;»qﬁu;w{f)&;’i%: 6
Vitamin D Vitamin C Vitamin B amin A | . O .VIta.mm procuces: Daturally” in; ‘auman: Dody.s
&7 N intestines:
Lo = G s N e b AP S35 I 7
Vitamins Minerals Fats Proteins p The strength of our bone structure depends upon:
o < 57 Sl Ut S250L L S Pty
U 1 # :
i VL ST .y 3 g
two and half ""b-’” 1 " ‘51;‘1’:’ i d-'b- 1 el | g
bowls two bowls all bow one bow To ly proteins cooked beans can be
used a tykqbstlrutlon of 250 gram meat.
4 g ;,?w“w{d: LSus e b AW LSiss 9
: inancia . ’
Time Market capacity Variety Act of purchasl er?\s upon:
d"wj"/"' Ch Y, Sk </ e Jed w67
combined ; sth deviis Si ine is th ) T = £ 10
method roasting moist heat ry heat immering is the example . cooking.
Five Four Three Two The ways of food serving are: Pay
i sH N L :gméivéﬁfx,g;usg 12
Glass Wood Handle Stand is attached to sewing machine operated with feet.
s S & 1\;’ e e lrend LLLSpuk B | 43
Drafting Scale Scissor e?:;:ng is required to stitch a good fitting dress.
AT ¥ o 225 174 e btxf o S ses f aefies 14
Copper oxide | Ammonia Acetate Wood pulp | Rayon Viscos is achieved from cotton linter and:
el Hi b s s £ ¥ ~U3?f'_c-'feﬁ¢.f,‘,_4’x",,l.1;u:4. ¥ ,?J’ Wi i
Sincein Mercaimtion| R Cidleniasin The process which produce shining and strength in the
gemng pping & | cloth is called:
/nf’@)’{d!;.’.(
L'/C,‘vl,):(u;}‘( ) s
o 4 = * . (= (%] 4 > y
o2 (;"r‘f)”'f | Additionof | =¥ |0 'J‘”‘; e aresih | 16
ot too much | Selection of IS0 Wardrobe planning means:
clothes clothes with clothes
clothes §
planning
'Edgt/'_ﬁ’f&w U"f'.",d”/i ANy SUAS Ldufutgl[iég/ (‘il,«qﬁ 17
esity nimportant Tasty diet Basic diet | Food used to fill the stomach is called:
creative diet diet
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Adir

Knsd w,,uzuf §19 »:a/r'd/ S {/ &QL/ /':( u,/’uuy:,u{l-{:; A 1
D C B A Questions | =i V- yd
o B 5| 6 S i
combined y : . N : —¥¥ 1
ittt roasting moist heat dry heat Simmering is the example of cooking.
éL se o 7 U_Y&)’LL/ﬁW( 2
Five Four Three Two The ways of food serving are:
2 g# ¢ i e b A Lo B e i 3
Glass N Wood Handle Stand is attached to sewing machine operated with feet.
y 7 e 1 . _
L <’OJ—'C tf,:‘ I\:I"'"d’,wk? -‘Ldfi;m/ﬂ! ééé__/:Q'JUK..ﬁuf:l.{l 4
Drafting @ Scissor i is required to stitch a good fitting dress.
~ tape
ZU&,K grn(_ ¥ 225 bf(d}”/ -+t'm)‘bc /leuJLi’-foJ:uT;/ 5
Copper oxide | Ammonid< Y “Mcetate Wood pulp | Rayon Viscos is achieved from cotton linter and:
7 = i
A F \(L'b./l X, ok -u:lbd/._ch;ﬁ%&z"m.@,u:;{,?fuu ’
i iz Mercerization] TaSed @ Calendasin The process which produce shining and strength in the
gemng P p N € | cloth is called:
Sdont /f@y{u,{(?
i /Uil - - i )
SMEOR | ) o of | /" ol -+ relubud | 4
Wardrobe of Selection of s of . ;
too much ; Wardrobe planning means:
clothes clothes clothes with clothes ﬂ
planning N 7 Py
lk‘d!:z_/'-ﬁgl’f ..J/l.u’du/"ﬁ‘ -f‘/i'/b:f ..fl/idJ.L{ ﬁ GJMUJLJ'&LL/’%(:];‘&; 8
Obesity Unimportant Tastv diet Basic diet | F 1l th t‘ b is called:
erestive dist diet asty die asic die 00 }Q e stomach is called:
IR Py s tn;kﬁﬁfslﬁ ¢ l
V”u‘}.’i‘dbl u;“:.fdb“’) Not having 220 4 \Z\ ZGV*VKJY‘?L.«@:;UJIP 9
Traditional Physical 2
: : s knowledge of | Hard work | The factor to acqutr®ybalrced diet is:
dietary habits | condition
food groups .\
- - R 4 - < .
J:.&ff bé':// #M sl it 0 i’ :VFJ”QL/U"(}U"J"/‘/V 10
Too liquefy Too fatty Too less Too much | Food requirements for old persons pquld be:
) Fof K o= i L e psin_ P bllidy 1
hviiogen nitrogen - oxveen Presence of in chemical ition of
B g ve protein is especially important for growt
Jad 2 -2 = gjf:/7 -UJLL{-;J%TB/()' 12
Amino acids Fats Carbohydrates|  Proteins keep the body safe from dehydration.
Jads £ LAl sz ¥ I . ; foﬁ (;é ‘T—“”.Zrli./di”d”./;::: uifgi 13
Glycerol Acid| Linoleic Acid [Glutamic Acid| Aspartic Acid | ; 2y foods have this essential fatty acid by whic
body does not produce:
St st derts cirt o (;»‘”Jy A Jm‘;’i”’,’ 14
Vitamin D Vitamin C Vitamin B Vitamin A | . > .Vlta_mm provncss: ERINUAL ML B B9
intestines:
uf-.l_) .:«_l_fc’d»' 2 .;«-l_f} !‘Lt'ﬁzbf"{ubx&”d/z:;lw’&!f’lgzk 15
Vitamins Minerals Fats Proteins The strength of our bone structure depends upon:
e widnd JDPEeE 02504 Lo S P vty
I -
o and bl | e Skl e | 16
bowls two bowls half bowl one bowl | To obtain only proteins cooked beans can be
used as food substitution of 250 gram meat.
42 /_:_'/_CL ;d&h‘&ld: /_:G'Ilu :‘Lt‘yr/vf.lﬂf‘d:d/l»_/"' 17
Time Market fnancia Variety Act of purchasing depends upon:

capacity
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Objective
Paper Code
2540

222003,

cdeLLﬁ}l;}W&lﬁfégfﬁu»c—gﬁ U)/'l)i'c,)&bédlr /;4‘%( Léli-(,{!i{.) D.s1Ce B‘Aa&lﬁ;ﬁ /kéd"’ '

Adir

Knsd w,,uzuf §19 »:a/r'd/ S {/ &QL/ /':( u,/’uuy:,u{l-{:; A 1
D C B A Questions | =i V- yd
=Y K # ]\;’ g elrenpS LI SpunBEL |
Drafting Scale Scissor c?:;:ng is required to stitch a good fitting dress.
}jm/‘_( Lyl .;;‘&l ’Jf(d}a -c".l,‘y:fla;. AI&/JL,&W’[JMT;/ 2
Copper oxide | Ammonia Acetate Wood pulp | Rayon Viscos is achieved from cotton linter and:
e/ Foy teests Lo Lok et find bt il 3
Sinpein ccerization] Napoin Calendarin The process which produce shining and strength in the
g g(< pping € | cloth is called:
N
’éﬁg) | oo
Suhdord Adﬁ o o/ (IS - spebiaSui | 4
Wardrobe of Selection of | Types of y K
too mul ; Wardrobe planning means:
clothes Y clothes with clothes
clothes ™ | \?3 3
ldnging
l)&'dl’L/ﬁ,ﬁ.gL‘r uﬁ/}d}’ﬁﬁ; 4 i st W B3 s B
Obesity Unimportant B J wd}%"' -l ‘u;{z_ gt R) e 5
esILy. P Tasty d / asic diet | Food used to fill the stomach is called:
creative diet diet N
P L
i K e L'n;(“(ufdué ’<$/
...l;kg%l,.wdlu v‘.’.’-f(db" Not having s :‘LJVKJWZ—J/’/;L‘)J"? 6
Traditional Physical ; S
: : o knowledge of | Hard'work pf The factor to acquire balanced diet is:
dietary habits | condition
food groups 7
- 4 - < -
Ji.:/ Jgu [:/ ol et ~<~(? :V_'_?dxa_l:ﬁﬁdl)ﬁd/;lﬂ/” 7
Too liquefy Too fatty Too less Toomuch |F og%yirements for old persons would be:
~ Do A o a3 v
S Ja Al 091 o’f"f" 1K ”J‘-”bu’:bm—. ::?:’J::)l/dgy(c}:}/‘, 8
ixdtoien Hitfosei irbbis e Presence in chemical composition of
yarog & Y& protein is espegiflly important for growth.
5 Y Z
JA 5 -2y A8 3% (j -wz.gcg(g.l'b(f)' 9
Amino acids Fats Carbohydrates|  Proteins keep the bo ygf;e fxQm dehydration.
P v Y : o
deJ/.‘.( ,QIJ}:.J p_l._.G;'f J{'-f/,.l_r' . ) Z/fdy ié%@’?’]/f/&»dﬂﬂ:ﬁd:l:ﬁ il
Glycerol Acid| Linoleic Acid |Glutamic Acid| Aspartic Acid aity Toous. ive tils .essenna - ) R
body does not produce: Py
W T sl R
St 1047 dcj’t’g It Thi . . (;%rxuyélkf;ﬂq:@ :iti: 11
Vitamin D Vitamin C Vitamin B Vitamin A | . .VIta.mm brodnces: nammally: 1 oS
intestines:
uf-? :—__lfc’dpf _“—g‘;u .-._l_j :‘Lrn/lﬂ;l{&z"‘gﬁibﬂlflg;h 12
Vitamins Minerals Fats Proteins The strength of our bone structure depends upon:
Ubsla U_W,.Jyrus Jﬁlﬁ(&f{';ZSO.ALL/J‘I:d-{U_J/
v Il - '
i L LT .y 3 2
two and half u“b"” | h dl"ff} | d"b" | ) . -u.?dﬁ W/JLWI 13
bowls two bowls all bow one bow To obtain only proteins cooked beans can be
used as food substitution of 250 gram meat.
43 42 ;uwwdtl. e :‘Lr)’uui.'gfédﬂﬁj 14
Time Market mhancsa Variety Act of purchasing depends upon:
capacity
G171 b b Sk e w61 |
combined ; : ; - . e 5
methed roasting moist heat dry heat Simmering is the example of cooking.
é!:' /% Q’f 9 :Vg&)LL/J?'Cl; 16
Five Four Three Two The ways of food serving are:
2 i T i :‘arxéivég?dué;;u;g 17
Glass Wood Handle Stand is attached to sewing machine operated with feet.
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(Part-1 Jil4zaa )

16 Write short answers to any EIGHT parts. _d.:.yn_ef“? Landeldsd 2
Describe important functions of food. Skl (1)
Define staple food. E flEsy (i)
How does food work psychologically in our body? ?4_3/ c_f (K&Lﬂ'gi’ f) g (i)
What is meant by nutrient combination? ?9,I/g;",ﬁﬁ2|gu;" (iv)
Define malnutrition. AP N (v)
Write down the names of factors that create hurdle to achieve balance diet. _’&"}t&Jl FOLIP LS (Vi)
Which type of food is required during infancy period? ?_ggx;,,:ﬁd’._ﬁ,ijffwj-um;LJA}[‘ (vii)
Write a note on food requirements of pregnant women. _ﬁ;%;g,,/&ué&ﬁlﬁ.w (viii)
Write down thg names of essential amino acids. _é‘zc‘ﬁjp_n NS0 2 (ix)
Write dowﬂ@ r functions of protein in body. _g{ugJuulgc_Gfuif-Ldf,/? (x)
Describe the ty&&(bohydrate. “ErUileak  (xi)
Describe in detail the€afiely value. _“édg,._@/‘fc’lﬁfdf_ff (xii)
16 Write short answergi?: EIGHT parts. ez Bl ande S 3
Write down the effects of exces?z ount of fats. 5Bl (i)
Write a note on deficiency disease)&'Q rtamin D. g»f;,y'/?ug/tgdué_mﬁc_de,‘J‘b (i1)
What is the function of vitamin C in O%Bﬁef it. __éug?gr/(Kgufﬁg/hJth (iii)
What do you know about anemia? Narrate i S UIZ b T A Ly sl (iv)
From where do we get iodine? febta o WL (V)
Describe the importance of variety of foods. e SLF LU (Vi)
What points would you keep in mind while purchasing c% ?ég%ﬁ,fuigd/&;ifdﬂti‘fw (vii)
Describe cooking methods in fats and oils. <? B pL Skt (viid)
Write a comprehensive note on parching. @ gy (yufgzgé__fg,g (ix)
Narrate the methods of eating meal while sitting on dining table. (? ~EUESLE W, iz (x)
How do you take care of sewing machine? \Z\ tededdesb i (xi)
Describe the definition of Bias and Selvedge. '(g

{ et ST M (i)
&.éayzﬁ?&uzug.—_éi’ 4

12 Write short answers to any SIX parts.

Write basic principles of drafting. ~E e L (i)
Write a note on silk fiber. ;f@zif@ (ii)
Write any four characteristics of fabrics made from chemical fibers. .2, # = los? AgJJ/ Susi LO@%J&{ (iii)
Narrate the steps of making woolen yarn from woolen fibers. e f1 Lt Aesds MY (iv)
Define felting. ey f B (v)
What is meant by wardrobe planning? Sl P e iz o (Vi)
How do you clean and take care of your hands, feet and nails? ?g}&f{;}&?mJu;Juy‘;t,,lu;g:ig'%l.TT (vii)
Define wrap and weft. gy S (viii)
Which fabrics are suitable for twill weave? S Uirel ZudSdeds  (ix)

_u,’}’/:’208A:Jlr/;-_’é/_/";:«gliéaﬂlrufcgf ‘r-'i}-\hiaa
Part — 11, Attempt any THREE questions. Each question carries 08 marks.
-_éul_f.igai‘"u:;/gLJIidLJlJ#’LJ;}u}:P}:’?c_buﬁﬁffu;’md(_—:ui_/.,t'?lKJ/iu;lP?+)I/gLJ/idjl? =5

R

What is meant by balance diet? What principles should keep in mind to select balanced diet? Also write in
detail about those factors which create hurdle to obtain balanced diet.

Describe in detail the aims and principles of cooking food. ~E T a6
Describe important parts of sewing machine and their functions in detail. -_éugﬂ[_uu'/?(?léu? w7
How does identify fibers? Explain. Ay ?93@{ 4/ =sfus, 8

How do you plan your wardrobe? Explain in detail. -é:»u,?ug[;/ afdxf.,f" Susi T 9
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Objective
Paper Code
2509

Intermediate

Time: 20 Minutes

Part Second

PHYSICS (Objective) GROUP -1

Marks: 17

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

Roll No. :

¥

fill the relevant circle in front of that question number on computerized answer sheet. Use marker or pen to

QONs fill the circles. Cutting or filling two or more circles will result in zero marks in that question. Attempt as
many questions as given in objective type question paper and leave other circles blank.
S.# Questions A B ¢ D
1 | One electron volt is equal to: 1.6x10777 | 1.6%10"™J | 1.6%107#] | 1.6x10™]
If the distance between the two charged bodies
2 |is halved the electric force between them | Doubled Half Four times | One fourth
becomes:
3 Kirclthgff’s ﬁrst rule is the manifestation of law Mass Energy |Momentum| Charge
of dapsePtion:
The fOrdyfd yfor magnetic field due to a )
Y I I NI (
4 | solenoid id Kmyy: ¥ Fo Ho Folt
The number ofelgrons in CRO is controlled X-Deflecting|Y-Deflecting : .
5 Grid Filament
by: 73 plates plates
6 Lenz’s lgw is in 2tcordnce with law of Momagat | Chaie By Angular
conservation of: (). momentum
Ny
7 | S.I unit of self inductance: % Weber Tesla Henry Farad
I
8 | Direct current cannot flow through: Inductor Resistor | Transistor | Capacitor
V.
9 In an A.C circuit with resistor only,. the cunté57 0° 180° 90° 60°
and voltage have a phase (angle) of: <N A
/Y
10 | Young’s modulus for water is: ‘(lé\) 0 2 3
+ N\
s z v D
1 A.photo diode can turn its current ON and OFF 107 s \Z’ 0°s 102 107
in: -
12 | The open loop gain of the amplifier is order of: 10° ¥ A 10° 10"
When a photon collides with an electron which
13 of these of photon increase? Rretpetey Wavelengh? s}s Engrgy
; - Pair Compton [Photeé]
14 | Wave nature of light appears in: srdieton offect offe nterference
15 | X —rays are similar in nature to: Y —rays B —rays o —rays |Cathode rays
16 | One a.m.u is equal to: 1.66x10* kg | 1.66x10"° kg | 1.66x10™ kg | 1.66x107" kg
17 | By mass spectrograph we can find the value of | (c%z sz . (cr: ]BZ - [ ev jB . ( e’ ]B
mass by using formula: 2v 2v 2r 2r
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Intermediate
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Part Second

PHYSICS (Objective) GROUP -1

Marks: 17

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

Roll No. :

¢
3

fill the relevant circle in front of that question number on computerized answer sheet. Use marker or pen to

QONs fill the circles. Cutting or filling two or more circles will result in zero marks in that question. Attempt as
many questions as given in objective type question paper and leave other circles blank.
S.# Questions A B ¢ D
If the distance between the two charged bodies
1 |is halved the electric force between them | Doubled Half Four times | One fourth
becomes:
) Kirchhoft’s flrst rule is the manifestation of law Wik Bneigy | Bomiatuns| (Climge
of conservation:
The ula for magnetic field due to a
: . I I NI '
3 solﬁ;ﬁ given by: Ho Pt "o Hot
The nutwHe electrons in CRO is controlled [X-Deflecting|Y-Deflecting] . .
4 Grid Filament
by: ) plates plates
5 Lenz’s lgw N ccordance with law of Moitiestum | Chaige B Angular
conservation of: momentum
X
6 | S.Iunit of self inductano{\ Weber Tesla Henry Farad
O,
7 | Direct current cannot flow thrd% Inductor Resistor | Transistor | Capacitor
N\
In an A.C circuit with resistor only,‘{hé‘urrent o o R R
B and voltage have a phase (angle) of: 2 0 180 20 ol
; o (lz
9 | Young’s modulus for water is: N4 4 1 0 2 3
L ¢ ~
: = /Y
10 A photo diode can turn its current ON and OFF \6@ 10 s 102 107 s
in: AP
Y ’(T b
11 | The open loop gain of the amplifier is order of: 10° \Z‘B“ 10° 10"
When a photon collides with an electron which
12 of these of photon increase? Hrequency WZJ@}}'\ N Ereiey
g - Pair ComptoiNIPhotoelectric
13 | Wave nature of light appears in: produation offoct eost Interference
<
14 | X —rays are similar in nature to: Y —rays B —rays o ! athode rays
2 9 \- 2
15 | One a.m.u is equal to: 1.66x10 ™ kg | 1.66x10 " kg | 1.66x10** kg | 1.66x107 kg
16 | By mass spectrograph we can find the value of || _(e'r® gl fer)po | =[ ev ]B ()
mass by using formula: 2v 2v 2r’ 2r
17 | One electron volt is equal to: 1.6x107"7J [ 1.6x10"°J | 1.6x107*J | 1.6x10""*J
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2513

Time: 20 Minutes

Intermediate Part Second

PHYSICS (Objective) GROUP -1

Marks: 17

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

Roll No. :

¢
3

%

fill the relevant circle in front of that question number on computerized answer sheet. Use marker or pen to

QONs fill the circles. Cutting or filling two or more circles will result in zero marks in that question. Attempt as
many questions as given in objective type question paper and leave other circles blank.
S# Questions A B C D
1 ﬁl ‘photo diode can turn its current ON and OFF 107 s 10 s 102 10
2 | The open loop gain of the amplifier is order of: 10? 10 10° 10"
When a photon collides with an electron which
3 of thds, of photon increase? Frequency | Wavelength Mass Energy
Y @r . . Pair Compton |Photoelectric
4 | Wave 7.0; light appears in: pofltion offoct offect Interference
\ g
5 | X —rays are s@zgn nature to: Y —rays B —rays o —rays |Cathode rays
6 | Onecamuis "’qual‘{“/S Pa 1.66x107* kg | 1.66x10™" kg | 1.66x10 ™ kg | 1.66x10™" kg
- | By mass spectrograph w?c@ thevalue of | (') ool fer® ), :[ ev ]B me g
mass by using formula: > 2v 2v 2r’ 2r
8 | One electron volt is equal to: ﬁ{ 1.6x107"°7 | 1.6x10"°J | 1.6x107*J | 1.6x10**J
If the distance between the two charged bodi
9 |is halved the electric force between th 7 oubled Half Four times | One fourth
becomes: T S
10 Kirchhoff’s ﬁrst rule is the manifestation of law ‘ﬁ 53 Biidigy | Momengin| Chgte
of conservation: [3
The formula for magnetic field due to a < \Z\ )
S . I | NI ¢
11| o olenoid is given by: P Jllal‘l My Horl
12 The number of electrons in CRO is controlled [X-Deflecting]Y-Dalleffing Grid Hiisnaiit
by: plates platev, ()
13 Lenz’s la}w is in accordance with law of Momsenton | Chaie Biptgy Angular
conservation of: x > » | momentum
. . (
14 | S.I unit of self inductance: Weber Tesla Hen! (<> Farad
o/
15 | Direct current cannot flow through: Inductor Resistor | Transistor | Capacitor
In an A.C circuit with resistor only, the current o o R R
1 and voltage have a phase (angle) of: 0 180 20 50
17 | Young’s modulus for water is: 1 0 2 3
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23515 Time: 20 Minutes

Intermediate Part Second

PHYSICS (Objective) GROUP -1

Marks: 17

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

Roll No. :

¢
37

g
xS

fill the relevant circle in front of that question number on computerized answer sheet. Use marker or pen to

QONs fill the circles. Cutting or filling two or more circles will result in zero marks in that question. Attempt as
many questions as given in objective type question paper and leave other circles blank.
S.# Questions A B C D
. - Pair Compton |Photoelectric
1 | Wave nature of light appears in: production offect offect Interference
2 | X —rays are similar in nature to: Yy —rays B —rays o —rays |Cathode rays
3 One/zgl.u is equal to: 1.66x10 ™ kg | 1.66x10"" kg | 1.66x10** kg | 1.66x107* kg
4 By : ctrograph we can find the value of :[e'r' 8| me i] g | g (G—V,JB A
mass b gformula: 2v 2v 2r’ 2r
V‘Ql ) -19 +19 -18 +18
5 | One electron }(@qual to: 1.6%107°7 | 1:6%10™° 7T | 1.65<107%] | 1.6x10**J
A\
If the distance betﬁ’eq( thatwo charged bodies
6 |is halved the electrlc\é?r\ between them | Doubled Half Four times | One fourth
becomes: é 2
7 Kirchhoft’s ﬁrs? rule is the manﬁ‘b?a on of law Mass Bnergy |Momentum| Chiarge
of conservation: p 8
The formula for magnetic field ‘d(e/ to a :
Sy I I NI (
8 solenoid is given by: 2 Ho Hofl Ho Hol
9 The number of electrons in CRO is controle ‘?eﬂectmg Y-Deflecting Grid Bl
by: P J pidtes plates
10 Lenz’s lz}w is in accordance with law of MS& @/? Chiigs Biiei Angular
conservation of: N momentum
<
11 | S.I unit of self inductance: Weber \Zjﬁla Henry Farad
12 | Direct current cannot flow through: Inductor Resicé )Transistor Capacitor
4
In an A.C circuit with resistor only, the current o o o R
12 and voltage have a phase (angle) of: 0 180 ﬁ)k 60
; 2O
14 | Young’s modulus for water is: 1 0 2 (<> 3
. . N
15 :?1 .photo diode can turn its current ON and OFF 107 s 10 s 102 10°s
16 | The open loop gain of the amplifier is order of: 10? 10 10° 10"
17 When a photon collides with an electron which Brequenicy: | Wavelengdi Wi Bty

of these of photon increase?




Intermediate Part Second Roll No. :

PHYSICS (Subjective) GROUP -1
Time: 02:40 Hours Marks: 68

SECTION —1
2. Write short answers to any EIGHT parts. 16
(1) Does polarization of dielectric is possible without electric field? Explain.

(i)  On what factors, the energy stored in a capacitor depends?

(iii)  The potential is constant throughout a given region of space. Is the electric field zero or non-zero?

(iv)  Describe the force or forces on a positive charge when placed between parallel plates with similar and
equal charge. Explain your answer with diagram.

v) What will be change in magnetic field inside the solenoid if the length and current is doubled?

(vi)  How synchronization is possible in Cathode Ray Oscilloscope?

(vii))  Why the voltmeter should have a very high resistance?

(viii) Why does the picture on a TV screen become distorted when a magnet is brought near the screen?

(ix)  What factors make a fusion reaction difficult to achieve (any two)?

(x) hat do you mean by the term critical mass?
(xi) it possible to separate the isotopes of an element by chemical method? Explain.
(xii) hg element iron is most stable than all other elements?

3. Write shortga;l‘wers to any EIGHT parts. 16
(1) Is the Tifaghen¥ resistance lower or higher in a 500 Watt, 220V light bulb than a 100 Watt, 220V bulb?
(i1) Do bends'} e affect its electrical resistance? Explain.

(iii)  Define temper: ;?gefﬁcient of resistance and also give its unit.
(iv)  What is meant byd.M dd A.M?
v) A sinusoidal currentNgis value of 10A. What is its peak value?
(vi)  Explain power factor. @
(vii)  What is superconductor?
(viii) Differentiate between parama apd diamagnetic material.
(ix)  Define retantivity and coercivity. é
€

(x) Write any two characteristics of oped#ional amplifier.

(xi)  Why charge carriers are not present in depl region?
(xii)  The anode of the diode is 0.2V positive with @ t to its cathode, is it forward biased?

4. Write short answers to any SIX parts. 12
(1) The Lenz’s law is also a statement of law of conse@

f energy. Explain.
(i1) Does the induced e.m.f in a circuit depend on the méﬁ'l of the circuit? Does the induced current
depend on the resistance of the circuit? .(f
(iii)  Can a DC motor be turned into a DC generator? What chan ggzc‘r quired to be done?
(iv)  Write down four factors on which the mutual inductance depen ;(§
) What happens to total radiation from a black body if its absolute te @ure is doubled?
(vi)  Isit possible to create a single electron from energy? Explain.
(vii)  Prove that the rest mass energy of an electron is 0.511 MeV.
(viii) How can you prove that the electron can never be found inside of a nucleus?
(ix)  What do we mean when we say that the atom is excited? & P
| SECTION —1I Attempt any THREE questions. Each question carries 0§ uApss. |
5. (a) Define electric flux and find electric field intensity due to an infinite sheet of char@’ 05
(b) The potential difference between the terminals of a battery in open circuit is 2.2 V. When it 03
is connected across a resistance of 5Q, the potential falls to 1.8 V. Calculate current and
internal resistance of the battery.
6. (a) Derive an expression for energy and energy stored in an inductor. 05
(b) A coil of 0.1mx0.1mand 200 turns carrying a current 1.0 mA is placed in a uniform magnetic 03
field of 0.1 T. Calculate the maximum torque that acts on the coil.
7. (a) Explain how n-p-n transistor can be used as amplifier. Derive the expression for its voltage gain. 05
(b) What is the resonance frequency of a circuit which includes a coil of inductance 2.5 Hand a 03
capacitance 40 uF ?
8. (a) Distinguish between intrinsic and extrinsic semi conductors. How would you obtain n-type 05
and p-type material from pure silicon? Illustrate by schematic diagram.
(b) What is the mass of 70 kg man in space rocket travelling at 0.8 C from us as measured from earth? 03
9. (a) What is radioactivity? Explain the nuclear transmutation. 05
(b) What is the energy in eV of quanta of wavelength of 400 nm? 03
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Objective

2526

L1509,

Paper Code
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A

Kot P o 2o d ez /. /:'/ s 2,f UsiomlieKl-&os A e s 1
D & B A Questions | =iy 27
1951 1950 1949 1948 :Jnugyw;w} 1
1951 1950 1949 1948 Objectives Resolution was passed in:
u;;"fhc > bdey | teds JuF 4 w1 ndl Lo
e -éa t Ali | Muhammad | Muhammad | Who was appointed as the first Prime Minister 2
Mujeeb-ur- L . .
Ali Jinnah | Ali Bogra | of Pakistan?
Rehman
s C ,
d”"c_"% I° 1 i te ol e e
Chief . jt ef - - 3
President Governor | Head of the provincial government is:
Secretary
-5/:“’/,54)2 'l s s (J) “d .. ;
General éw{d/i u(‘;'le 'ﬂ) M:JJ/IZ P T 51973 4
Pervez Yahezelr(ahan A egl iﬁan agfﬁa Who suspended the 1973 constitution?
Musharraf Y yu i
g”.n/“b b JHue deﬂ@zg -‘gt‘nk&KL/f{,t_/;"é | g
rime ; : 3 2 ; . i 4 :
Miiigtes Cabinet |Chief Justice| Army Chief \?gmdent is bound to follow the advice of:
L2007 | 2005 | £2003 | g2001 | "@”"L’{{ ””‘IC“’” oot :
2007 2005 2003 2001 ange i stem of local government in
Pakistan was %t in:
Suas | e | uEn | 820 e Vg
In case of arrest, a ¢ is presented in the | 7
48 hours 24 hours 22 hours 20 hours . .
court of magistrate within:
Lo/lJICJ_ V'qutﬁ.‘r
PCTB PEEF QAED AIOU is an institution in Pu r the | 8
training of teachers.
L1990 | 41986 | 1982 | 978 | ’idgf];‘{?&’(""tfg &;u:ﬂ 5
1990 1986 1982 1978 fa lsFan lo'se the Hockey Wor up for the
irst time in:
d:_‘dg} Jeinl AT ufzslf?: :‘Lébuulju‘f‘ 10
Sialkot Lahore Multan Peshawar | Masjid Wazeer Khan is situated in:
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A

Kot P o 2o d ez /. /:'/ s 2,f UsiomlieKl-&os A e s 1
D C B A Questions | =iy V-
SA990 | 1986 | RA9B2 | AOT® | "é‘}‘i J‘\;{*‘i;’c / &f“u‘}’f '
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et Liaqat Ali Muhar@ Muhammad | Who was appointed as the first Prime Minister | 4
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Secrebiry President Minister Govem% iad of the provincial government is:
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General ubédﬂ Ak Vg"ydﬂ "UJJ’”LJ’//J'TL;1973 6
General General General o
Pervez Yahva Khan| Avub Khan | Zia-ul-Ha Who S d the 1973 constitution?
Musharraf Y yu q
gj.l/_,b g JH o TNl \é/f/;/r‘ﬁ K
rime . . . .
Minister Cabinet |Chief Justice| Army Chief | The premdent is bou o@llow the advice of:
2007|2005 | 82003 | 2001 | . "@”J’f‘flf “”&’G b 8
2007 2005 2003 2001 Change in the system of loca ment in
Pakistan was brought in:
S | s | uEn | o0 e thedec A2 u::\’;ﬁ“’“/
In case of arrest, a citizen is presented in the | 9
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court of magistrate within:
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PCTB PEEF QAED AIOU is an institution in Punjab for the | 10
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first time in:
Sl sl Al el e Chorig” | 4
Sialkot Lahore Multan Peshawar | Masjid Wazeer Khan Rﬁhted in:
1951 1950 1949 1948 rug,wu'»;ml/' 8
1951 1950 1949 1948 Objectives Resolution was pasSed jA* s
: s ) |4
i ; 'Tth Sy | s WSS # e, P AL o
Mu'ez]b-ur- Liagat Ali | Muhammad | Muhammad | Who was appointed as the first Prime Minister 9
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(Part-1 J3laza )
12 Write short answers of any SIX parts of the following. _éoy,z/"? Loz 2
??"/.V/"-:/’id;’héh‘?;&:/ﬁ @
Write the definition of ideology. What is meant by Two-Nation Theory?
What is meant by Islamic welfare state? Write its two duties. _é‘j‘ju/'»Luﬂ?c‘_;u/y’c_up&wdm (i1)
What is meant by sovereignty? ?LL;:/_L{;J‘QIJSI (iii)
L FOP Sl (LU LI L TL,1973 (V)
Write an@iéundamental rights of the citizens of Pakistan according to the 1973 constitution.
-’&gu"jl)»ég,w-.éug&}u:.wféym;/fég (v)
Explain the diff € ¥etween Supreme Court and High Court. Write two duties of judiciary.
onal Secretary. _é4fflfjkédjfgﬂgl (vi)
ug%\??Lor Town Committee. -__éul:._btil(&r qu‘gJ‘v) s (vil)
13U SEIE F (et L Jo T gy (Vil)
Under which article do provincial Q@ments exercise administrative power?
-_éug.;,;?&”un;muyéﬁuﬂmf (ix)
State the status of the President and the Pringe Minister of Azad Jammu and Kashmir.
12 Write short answers of any SIX parts of th owing. -ﬂaglzﬁ? Loandee (4 3

Write four duties o

Give an introduction of

& JPJ(_,»:.J;’Zugf?%:u/L[c.&}’JL: O]
What is meant by political rights? Write any two politicalpfglita of citizens.

Explain the difference between rights and duties. (? -Eukd S AP s (i)
Al LG L P oLz ps ()

Write any four points of United Nations Universal Declaration of Hu ights.

What is meant by professional education? St W 2 S sy (1v)

What is meant by information technology? %o e GIE G (V)

xégl_,,,u/(&»jg%,ul}uwa(%é o] (vi)
Explain the role of Allama Igbal Open University in distance education system in Pakist{n
-,éul.f.auz:%/:éiwfﬂwt-’»&w@ (vii)
Why the game of football could not develop in Pakistan? Explain the reasons. '
ke KLkt ALt S LF (vidd)
Describe the achievements of the famous wrestlers of Pakistan in the sport of wrestling.'
Write two suggestions for the promotion of tourism in Pakistan. _&, 775 nd L, /'L;,).Lru.fdt“/'l (ix)

-u,'!ﬁ‘;ogLJI}’/:-:L:{/";&U}?L.';UU’»cé[ “.3).14..."4;
Part — II, Attempt any TWO questions. Each question carries 08 marks.

Write any eight Islamic provisions of the 1973 constitution. -“é/,/’;,w)dmin'géﬂfdjffz:; 1973 4
-éugJ)ZT;qufJJl)Lu?ﬁégﬂmJG, 5

State any eight differences between functions of federal and provincial governments.

Explain any four areas of vocational education in detail. _gEup.e b= fUs /lgc.éf L(f’j iy -6
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Objective
Paper Code
2558

Intermediate

Time: 20 Minutes

Part Second

STATISTICS ( Objective )

Marks: 17

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

Roll No. :

¥

fill the relevant circle in front of that question number on computerized answer sheet. Use marker or pen to

QONs fill the circles. Cutting or filling two or more circles will result in zero marks in that question. Attempt as
many questions as given in objective type question paper and leave other circles blank.
S.# Questions A B ¢ D
In a normal distribution all odd order moments . .. None of
1 Zero Negative Positive
are: these
2 | In a normal distribution ¢” =5thenp, =: 25 75 0 NG
In a normal distribution Mean deviation 2 o 2 4 4
3 : -0 —c -0 -0
ap;mately: 3 b 5
4 If N\ )d,n = 3, then number of all possible 4 12 24 64
samples peplacement will be:
5 The §tanda\ra'€r3r ecreases when the sample ricveasadl | Dacessad Fixed None of
size is: A these
6 If T be the san.‘lﬁl ; tatigtic and O be the T-0 0_T E(T)—0 None of
parameter then Bias=: . these
: 3 oy Correct None of
7 | A judge can acquit a guilty &é&b) Type-I error [Type-II error deelsion s
8 | An estimator T is unbiased for 0 1Fy { E(T)=06 | E(T)=-6 | E(T)<®6 E(T)>0
V4
9 | Which of them cannot be Null Hypothesis? 47 0=0, 0<0, 0=0, 06,
10 In the regression equation, y=a+bx, a is""'yi ;%3 e6it| Slipe o Tine Depgndent Indepgndent
called: ,& variable variable
11 | If r,, =042, then r, =: —~ }545 )\0.42 -0.24 0.24
If two regression lines are y=a+bxand \,?
12 | X =c+dy, then correlation coefficient between \/l; a@ \/ﬁ Jbd
x and y is: {
13 For two attributes, the number of ultimate class 4 | )
is: e §/ P
14 For test of independence of rxc contingency (=D (c-1) |+ (c+1) (r+1)(g/ r—1T)(c+1)
table degrees of freedom are:
15 | Basic components of time series are: Two Three Four Five
16 | Irregular movements are: Signal Systematic | Secular Noise
17 | Keyboard, mouse and scanner are: Input Out_put Memory Nongof
devices devices storage these
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2560

Intermediate

Time: 20 Minutes

Part Second

STATISTICS ( Objective )

Marks: 17

Roll No. :

comns
3

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

fill the relevant circle in front of that question number on computerized answer sheet. Use marker or pen to

QONs fill the circles. Cutting or filling two or more circles will result in zero marks in that question. Attempt as
many questions as given in objective type question paper and leave other circles blank.
S.# Questions A B ¢ D
1 | In a normal distribution 6° =5thenp, = 25 75 0 NG
In a normal distribution Mean deviation 2 2 4 ,
2 : ) ) -0 -0
approximately: 3 3 5 5
3 If N =4and n =3, then number of all possible 4 12 24 64
with replacement will be:
4 The\sf‘ error decreases when the sample nicisaved | Decssased Fixed None of
size 1s: these
5 If T be t% amkple  statistic and 0 be the T-0 0—T E(T)—0 None of
parameter then these
{» Correct None of
6 | A judge can acquit a ul\?person Type-I error [Type-II error desisia Hisge
7 | An estimator T is unbiased g)???. E(T)=0 | E(T)=-06 | E(T)<9 E(T)>0
V>
8 | Which of them cannot be Null Hyﬁgfs? 0>0, 0<0, 0=0, 0£0,
V4
In the regression equation, y=a+bx, a j . | Dependent |Independent
i called: @Z’ IRECEL Slapearine variable variable
X
10 | If r,, =042, then r, = y% 0.42 -0.24 0.24
If two regression lines are y=a+bxand 4
11 | X =c+dy, then correlation coefficient between Jbe \Z\/; Jad vbd
x and y is:
12 f:r two attributes, the number of ultimate class 4 [.4 N 3 )
For test of independence of rxc contingency
13 (r=D(c-1)|(x+D(c+])|(r+ - | (r=1(c+1)
table degrees of freedom are: P
14 | Basic components of time series are: Two Three Foug'/ Five
15 | Irregular movements are: Signal Systematic | Secular Noise
16 | Keyboard, mouse and scanner are: Input Out_put Memory None of
devices devices storage these
17 In a normal distribution all odd order moments Tt Negative Positive None of
are: these
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You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

Roll No. :

¢
37

%

fill the relevant circle in front of that question number on computerized answer sheet. Use marker or pen to

QONs fill the circles. Cutting or filling two or more circles will result in zero marks in that question. Attempt as
many questions as given in objective type question paper and leave other circles blank.
S.# Questions A B ¢ D
1 |Ifr,=-042,then r, =: -0.42 0.42 —0.24 0.24
If two regression lines are y=a+bxand
2 | x =c+dy, then correlation coefficient between Jbe Jac Jad \Jbd
x and y is:
3 fs(')@%nbutes, the number of ultimate class 4 I 3 ’
N, ~ .
4 For test of fng®pendence of rxc contingency c=Dc=1) |@+Dc+D) | @+D =1 |@-1)(c+1)
table degrecs ¢t fdegdom are:
N
5 | Basic componen‘&ﬂ‘t series are: Two Three Four Five
V4 S\
6 | Irregular movements aré{\ 5 Signal Systematic | Secular Noise
7 | Keyboard, mouse and scannerfrV Ian Out_put Wemary Nomeior
b devices devices storage these
3 In a normal distribution all odd order]{gments Zero Negufive Positive None of
are: /AR these
5 &7
9 | In a normal distribution ¢° =5thenp, =: ‘/‘ %5\ 75 0 J5
In a normal distribution Mean deviation < @ 2 2 4
10 : = -G -G -G
approximately: 3 5
If N=4and n =3, then number of all possible -1 \Z‘
11 samples with replacement will be: * (52 < S 6
N é '
12 Tthe §tandard error decreases when the sample Increased | Decrafggdgly Fixed None of
size 1s: { these
13 If T be the sarpple statistic and 0 be the T-0 0—T E(P-0 None of
parameter then Bias=: P these
14 | A judge can acquit a guilty person: Type-I error |Type-II error| C(;(I.T. < Nosiaf
’ decisio these
15 | An estimator T is unbiased for 0 if: E(T)=0 | E(T)=-6 | E(T)<®9 E(T)>0
16 | Which of them cannot be Null Hypothesis? 0>0, 0<06, 0=0, 0+6,
In th i i y= i . :
17 | the regression equation, y=a+bx, a is v—driteroet| Slope o ling Depe?,ndent Indepgndent
called: variable variable
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Marks: 17

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct,

Roll No. :

¢
3

s
pA¢

fill the relevant circle in front of that question number on computerized answer sheet. Use marker or pen to

QONs fill the circles. Cutting or filling two or more circles will result in zero marks in that question. Attempt as
many questions as given in objective type question paper and leave other circles blank.
S.# Questions A B ¢ D
1 For test of independence of rxc contingency t=D(c=1) | c+D(c+D) | E+D(c=1) | E=1)(c+1)
table degrees of freedom are:
2 | Basic components of time series are: Two Three Four Five
3 | Irregylar movements are: Signal Systematic | Secular Noise
4 Ke}uouse and scanner are: Input Out.put Memory None:of
> devices devices storage these
In a normardigiibution all odd order moments . . None of
5 . Zero Negative Positive
are: R these
NS
6 | In a normal distribut (76 Sthenp, =: 25 75 0 J5
X -
7 In a .norrnal dlstrlbutlor@ n deviation 2 o 2 - 4 o & -
approximately: % 3 3 5 5
8 If N=4aqd n =3, then numberof%fl sible 4 12 24 64
samples with replacement will be: ,
9 The §tandard error decreases when the samp > ncreased | Decreased Fixed None of
size is: these
e A ¢
10 If T be the sarpple statistic and 0 be the 'y 0—T E(T)—6 None of
parameter then Bias=: these
: s : AV Correct None of
11 | A judge can acquit a guilty person: Type-1 € }g\e—ll eIror| 4 iion F s
12 | An estimator T is unbiased for 0if: E(T)=0 WV@ E(T)<6 E(T)>0
. . N, O
13 | Which of them cannot be Null Hypothesis? 0=0, 0<60, 0=0, 0+6,
In th i i y= i . y -
14 |2 the regression equation, y=a+bx, a is o intercent|Slops ob e D@?ﬂ t Indepgndent
called: vaifaple>,| variable
15 | If ,, =—0.42, then r,, =: —0.42 0.42 -0.24 ,) 0.24
If two regression lines are Y =a+bxand
16 | X =c+dy, then correlation coefficient between \/Q Jac Jad Jbd
x and y is:
17 }:Sc')r two attributes, the number of ultimate class 4 | 3 )




Intermediate Part Second Roll No. :

STATISTICS ( Subjective )
Time: 02:40 Hours Marks: 68

SECTION -1
Write short answers to any EIGHT parts. 16
(i) In a normal distribution the value of S.D =4. Find the value of second and fourth moments about Mean.

(i1) In normal distribution Q, =65 and Q, =75 . Find the value of Mean and Median.
(iii)  Define standard normal distribution.

(iv) If X~N(50, 25) then find o .

W) In a normal distribution with u=2, 6> =4. Then find points of inflexions.

(vi)  Differentiate between estimator and estimate.

(vil)  What do you understand by confidence interval?

(viii) What is meant by testing of hypothesis?

(ix)  Define the term simple and composite hypothesis.

(x) fine the term Test Statistic.

(xi1) D@down the main categories of computers.

(xii) r&?te between hardware and software.

Write sho rs to any EIGHT parts. 16

(1) If u=>5a <§2 .25 what would be value of SE(X) if sample of size 4 are drawn with replacement.

(i)  For infinite s3;- let n=36and oy =2. Findo.
(iii)  Define standard error

(iv)  Is parameter a variab @u ent.
v) Differentiate between bid pling error.

(vi)  What is sampling unit?
(vii) If by, =0.11and b, =0.22 fin fcorrelatlon coefficient ‘r

(viii) erte any two properties of correl coefficient.
(ix)  Elaborate no correlation.
(x)  Given X=2,4,6andY =4,4,4 find simple 1on coefficient

(xi)  Distinguish between regressor and regressand
(xii) Inregression of Y on X, if a=130, b=3.956 then @(he estimate of Y for X =12.

Write short answers to any SIX parts.

,<' ) 12
(1) Define a contingency table. \Z\

(i1) Explain the term rank correlation.

(iii)  Interpret the meaning of coefficient of association Q when Q= {gg(
(iv)  Given the pairs of ranks (4, 2), (1, 3), (2, 1), (3, 4). Find X.d".
) Explain what is forecasting in time series.

(vi)  What is meant by business cycle?

(vii)  Explain moving average method. 0
(viii) If Y =10-2X. Find the trend values for X=0, 1,2, 3, 4 @
(ix)  Suggest any two methods of obtaining secular trend.

SECTION — 11 Attempt any THREE questions. Each question carries 08 marks. ‘

(a) If X is a normal random variable with p=24andc =4, write down its probability density

function. Find the ordinate of its normal curve at x =21. Also find its maximum ordinate. 04
(b) If X~N(24,16), then find: (i) P, (i1) D, 04

(a) Draw all possible samples of size 2 without replacement from the population 3, 4, 5, 6. Find
Pqg N-n

the proportion of even numbers in the samples and show that c(m X 04
(b) Given that n, =2, w, =6, o] =2.67, n, =2, u, =4, o; =1.67find (i) py 5 (i) o . .If
sampling is done with replacement. 04

( Continued P/2)



(a)
(b)

(a)

(b)

(a)

(b)

o)

Find a 95% confidence interval for the population mean if a sample of 36 values gave a mean
of 78. Assume ¢ =4

A manufacturer of medicines of allergy claims that his medicine is effective in curing allergy
is at least 75% of the cases. His medicine is applied on 100 patients of allergy and 80 patients
were relieved. Test the manufacturer’s claim at 5% level of significance.

Determine the estimated regression equation Y =a+bX for the following data:
n=100, X =125, Y =80, X XY =1007425, ¥ X* =1585000

For a set of 22 pairs of observations, we have:

Y X =983, XY =409, XX*=61339, X Y*=8475 XY =15811

Find the coefficient of correlation and interpret the result.

Five sacks of coal A, B, C, D and E have different weights, with A being heavier than B, B
heavier than C, and so on. A weight lifter ranks the sacks (heaviest first) in the order A,
% , C. Calculate a coefficient of rank correlation.
TheYofowing table shows the property damaged by road accidents in Punjab for the years
1973 to¥Y79:

| 1973 | 1974 [ 1975 [ 1976 | 1977 | 1978 | 1979
Property Dambaged> | 201 238 392 507 484 649 742
(1) Obtain thé‘se@verages trend line

(i)  Find out the & n@/lﬁ

% 2
4)
&
C&

«90@

04

04
04

04

04
04
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PRE-BOARD EXAM 23 ANSWER KEY

/

Subject: _ CHEMISTEY
Class: 124
G-I

OBJECTIVE OBJECTIVE OBJECTIVE OBJECTIVE
PAPER CODE PAPER CODE PAPER CODE PAPER CODE

) Sol| 2 53 1505 285¢7
Q.# ANS Q.# ANS Q.# ANS Q.# | ANS
1A 1 D 1 D 1 £,

2 OAND 2 B 2 B 2 3

3 1| 3 B 3 Z 3 1o

4 LSS K D 4 C 4 D

5 D N3 D 5 3 5 Ja)

6 D 6 N s 6 D 6 [

7 A N 7 D 7 B

8 B R 8 A 8 | B
9 D 9 < 2,9 D 5 | o
10 C 10 D ‘~4¢1g§ A 10 D
11 D 11 A h 2\“ 7] i A
12 A 12 P 12\%) P 2 | p
13 Iz 13 e 13 < L] 13 D
14 7 14 A 14 I |- 14 C

15 B 15 D 15 B i D
16 D 16 D 16 D N B
17 D 17 A 17 C 175K 5B
18 - 18 I 18 - 18 -
19 . 19 s 19 e 19 | —
20 | 20 - 20 — 20 —

21 I 21 . 21 N—_ 21 -
22 - 22 — | 22 e 2 | —
23 - 23 — | 23 — 23 —
24 - 24 _ 24 o 24 —
25 —_— 25 — 1 25 o 25 —
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_ o/
Subject: __BIOLOGY

Class: /2/#7
(G-I
OBJECTIVE OBJECTIVE OBJECTIVE OBJECTIVE
PAPER CODE PAPER CODE PAPER CODE PAPER CODE
2.5C2 250y P yaa )L.508
Q.# ANS Q.# ANS Q.# ANS Q.# | ANS
1 /A 1 9) 1 A 1 &
2N D 2 A 2 £ 2 C B
3 T, 3 C 3 c 3 B
4 el 4 . 4 A 4 C
5 Ce Yo *5B D 5 C. 5 A
6 D X&), A 6 1% 6 D
7 yz T(V"a A 7 & 7 A
8 A 8 N/p 8 /) 8 | ¢
9 B 9 C 9 D 9 C
10 C 10 B 4K L0 ) 10 D
11 B 11 A | X < 11 A
12 A 12 e VNI 12 A
13 C 13 A 13 N P 13 A
14 A 14 = 14 KA 1 C.
15 el 15 A 15 4 | 15 A
16 B 16 ) 16 _f;__"?%;;w— 7
17 C 17 Ja) 17 C 7’ C
18 — 18 - 18 - 18 —
19 — 19 s 19 i 19 i
20 - 20 . 20 . 20 /
21 — 21 _ 21 - 21 s
22 s 22 - 22 s 22 s
23 — 23 i 23 - 23 -
24 S 24 — 24 - 24 —
25 — 25 — 25 o 25 —




PRE-BOARD EXAM 23  ANSWER KEY

subject: __ OHYSIC S
Class: |2 H’
G-1
OBJECTIVE OBJECTIVE OBJECTIVE OBJECTIVE
| PA PER CODE PAPER CODE PAPER CODE PAPER CODE |
3569 2SI ).S13 v31:9
| Q.# | ANS Q.# ANS Q.# ANS | Q.# ANS |
SV Y N < I OV S
N0, |2 | p |2 1 ¢ 2 | A
3 Uy 3 A 3 p 3 D
N ) N I - B U N B
5 \ c N> [ ¢c |'s A |5 1A
6 ) T, C 6 D 6 | C
__”7 L c | 7V D 7 A 71 b
e v A e A e s
9 }Q 9 [; 5 9 gf __9. -.4_,1_,. ,C:._
L 1 D J/_%_P_R_ R =
R 2 . C sl & % B
12 C. 12 Iz 1247 NC 12 p
13 6 13 D 13 13 | A
14 op 14 4 14 ol 14 | A
15 | A 15 p | 15 1 » 17550
| 16 | D 16 b |6 A [ C
17 B 17 A 17 A 1 Q A
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ST R— 19 e 19 — ¥ ___15_ % ,f“
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Subject: __ M4 THERIATICS
Class: QH?
G-I
OBJECTIVE OBJECTIVE OBJECTIVE OBJECTIVE
PAPER CODE PAPER CODE PAPER CODE PAPER CODE
).S10 2SI 2.514 2.816
Q.# | ANS Q.# ANS Q.# ANS | Q.# ANS
1 & 1 D 1 D 1 C.
2N D 2 & 2 P2 2 A
3 [T (B~ 3 A 3 D 3 A
4 P-4 A 4 Z * A
5 B YR b 5 A 5 C
6 c X)), ¢ 6 D 6 D
7 B 74U 1 7 B 7 A
8 A 8 |[N¢p 8 A 8 D
9 A 9 P Ak 2 A 9 b
0 | 10 P NEC A 10 A
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12 A 12 2 124P »D 12 5
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18 Y7 18 D 18 A 18 A
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20 | A 20 A 20 & 20 2
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23 — 23 — 23 — 23 -
| 24 - 24 — 24 — 24 —
25 — 25 SR 25 _ 25 | —
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Subject: fNC;’USH
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Class:
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OBJECTIVE OBJECTIVE OBJECTIVE OBJECTIVE
PAPER CODE PAPER CODE PAPER CODE PAPER CODE
2§78 5520 3833 y L
Q.# ANS Q.# ANS Q.# ANS Q.# | ANS
1 A 1 Z 1 D 1 A
2 XUND 2 Vi 2 C : C
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4 A (’3 4 D 4 yz 4 C
5 ¢ I3 | C 5 Z 5 | b
6 p | 6, 8 6 | A | & | A
7 C 7 5C 7 D 7 A
s 8 | 8 Yp |8 [ C |8 A
9 A 9 z 9 b 9 D
10 A 10 6 QW C 10 Fe
11 e 11 yz \1’1% D 11 A
NN~ -
12 A 12 D 12 \/i) O 12 "
13 D 13 Ce 13 [Ngp | 13 A
L C 14 b = d‘én - ol D
15 B 15 e 15 JZERN 5 | ¢
% | 5 6 | o |16 | A | L A
17 D 17 /) 17 C 1#/@“«[9{% |
18 /4 18 £ 18 yZi 18 D
19 cC. 19 Y 19 A 19 A
20 A 20 B 20 D 20 C
21 gt 21 — 21 - 21 —
22 - 22 — 22 - 22 —
23 . 23 — 23 g 23 s
24 — 24 — 24 s 24 —
25 — 25 — 25 e 25 s




PRE-BOARD EXAM 23 ANSWER KEY @

Subject: )/
Class: 1My
OBJECTIVE OBJECTIVE OBJECTIVE OBJECTIVE
PAPER CODE PAPER CODE PAPER CODE PAPER CODE
> §25 .52 PPl 7473
Q# | ANS Q# | ANS | Q.# ANS Q.# | ANS
1 I 1 7 1 i 1 'l
2N | o B R
3 D 3 5 3 L 3 il
4 Al g 4 C. 4 4 e,
5 . Y5 D 5 C 5 B
6 b Xey, C 6 D 6 | A
7 1A YN 7 C. 7 »)
8 D 8 I 8 I 8 >
J C s | Mgl o i 0 I
10 B 10 P 4<) 10 2 10 )
12 C 12 C IV A 12 D
13 ) 13 . 13 [N 13 /
14 A 14 - 14 A & 14 C
15 v 15 i 15 co9 15 A
16 1z 16 ol 16 P . A
17 yz 17 /4 17 P MR D
18 D 18 7 18 | 4 18 o
19 £ 19 2 19 | 5 19 A
20 A 20 D 20 # 20 B
21 s 21 - 21 - 21 —
22 - 22 . 22 J— 22 i
23 | . 23 — 23 — 23 —
24 T 24 e 24 — 24 —
25 — 25 — 25 B 25 —




PRE-BOARD EXAM 23  ANSWER KEY

Subject: ’J e e
Class: )4
5ol
OBJECTIVE OBJECTIVE OBJECTIVE OBJECTIVE
PAPER CODE PAPER CODE PAPER CODE PAPER CODE
V526 L5008 2 43¢ 253
| Q.# | ANS Q.# ANS Q.# ANS Q.# ANS
1 L 5 1 1, 1 - 1 y
2 INC 2 e 2 o 2 P
s S 3 L6 [ 3 [ b |3 | ¢
4 A~ . 4 ‘. - [ 4 ~
5 P R A 5 .. 5 2
6 C X, 6 B 6 D
7 i 7 XS0 7 7 1 C
8 A 8 V& 8 I 8 | B
9 L) 9 oA 9 A 9 | C
10 | (. 10 Y B o B
11 o 11 ¢ 1,43 11 -
12 - 12 127 o= 12 | —
13 — 13 5 13 ‘<<§ .| 13 -
I N R I I o S
15 - 15 - 15 i 15 g
16 — 16 - 16 , \’%f) o
17 - 17 — 17 - 1778 -
18 | 18 - 18 | — 8 | —
19 . 19 . 19 — 19 o
20 B 20 — 20 e 20 —
21 A 21 - 21 - 21 —
22 —_ 22 — 22 _ 22 | e
23 | — 23 - 23 i 23 | —
| 24 o 24 e 24 - 24 s
25 — 25 — 25 — 25 —




PRE-BOARD EXAM 23  ANSWER KEY C:/g
7 1

= g J i
Subject: Cjl/iCS L ’
Class: I ‘///
OBJECTIVE OBJECTIVE OBJECTIVE OBJECTIVE
PAPER CODE PAPER CODE PAPER CODE PAPER CODE
2533 2535 2537 2573
Q.# | ANS Q.# ANS Q.# ANS Q.# | ANS
1 7 1 C 1 P 1 D
2 éb D 2 2 2 C. 2 ;%
3 MR |3 C.pp| 3 A 3 | €
i Y S R IS I < R
> A S 7 S /j? > ey
6 0 Xy | 4 6 & 6 D
7 A s D 7 A 7 &
8 C. 8 ¥ 8 | A.p| 8 |
7 P O -
8 A 9 & ‘44 9 g, 9 C.
10 (e 10 4 <0 /1 10 /e
11 D 11 D | DN A 11 -
12 C 12 I 1Y 1 12 y
13 A 13 C 13 |X \,g | 13 [Bop
14 C 14 A 14 &G gy 14 <
15 P 15 . 15 A 5 | A
16 C 16 P 16 i C’ H
17 yz 17 A 17 B 1 >
18 L.C.1D 18 ya, 18 C 18 &)
19 C 19 C 19 /A 19 .
20 /] 20 /) 20 e 20 0
21 - 21 - 21 | . 21 | —
- I - 22 i 22 - 22 —
23 — 23 e 23 - 23 =
24 — 24 = 24 — 24 -
25 — 25 - 25 - 25 —




PRE-BOARD EXAM 23  ANSWER KEY
Subject: FCCNCHICS =72 Lue

/9

Class: /)4[1
OBJECTIVE OBJECTIVE OBJECTIVE OBJECTIVE
PAPER CODE PAPER CODE PAPER CODE | PAPER CODE
3 i 5 W3 208 2647

Q.# ANS Q.# ANS Q.# ANS Q# | ANS
1 L A 1 p 1 [2 1 P

2 IND 2 C 2 2 2 /A

3|7 @ 3 [ 3 D 3 C

4 v _ /T)O‘ R 4_ _ D 3 - 5 c

5 = KR /A 5 C. 5 | A

6 O |60, A | 6 | B 6 D

7 Vi 7 Wy B 7 1< ! b
8 e 8 | ¥ 8 B 8 D

9 | cC 9 5 A9 D 9 C
10 P 10 c YW, = 10 | C
1 7 11 D {1@)\ /) 1B
12 3 12 /9 12 47 % 12 o

13 Iy, 13 < 13 ‘,@97 N 13 I
14 7 14 & 14 A 14 D
15 C 15 A 15 o 1 {1§) H
16 B 16 17, 16 “';_‘p BN

17 e 17 5 17 A 17 < 3

18 2 18 I8) 18 - 18 Y2

19 D 19 e 19 C. 19 Iz

20 A 20 C 20 / 20 |
21 = 21 - 21 — 21 .
22 - 22 — 22 - 22 Sy
23 _ 23 — 23 — 23 —
24 — 24 - 24 —_ 24 -
3B | e 25 il 25 — | = =




PRE-BOARD EXAM 23 ANSWER KEY

Subject: rA/,/uf' A // ) 2 j //,
Class: //
OBJECTIVE OBJECTIVE OBJECTIVE OBJECTIVE
PAPER CODE PAPER CODE PAPER CODE PAPER CODE
587 2559 254 2563
Q.# ANS Q.# ANS Q.# ANS Q# | ANS
N 1 /1 1 | ABGCD 1 12
2 %'{)ﬁ 2 C. ) 2, 2 g
3 '@/\O 3 A 3 | l) 3 D
4 A ,\4 £ 4 b 4 £
5 D N e 5 £ 5 N
6 B %Oy A 6 2 6 |\ABD
7 C 7 V) 7 C 7 C
8 D 8 gf 1T s T g | 8 | p
9 A 9 A Ay, C o | B
0 | A 0 | p 8 | C 0 | A
11 gpL.0 | 1 A RV AN 11 A
12 c 12 C 12 \’ﬁ"})g 12 o
13 ) 13 D 13 ‘@ o 13 /7
14 A 14 /) 14 /}(,‘ ~ 14 C.
15 4 15 7] 15 ) ‘f’ 15 c
16 A 16 |4RC.D | 16 B W B
17 c 17 C 17 P 17 < A
18 A 18 D 18 P 18 h
19 C 19 A 19 A 19 /)
20 C 20 A 20 A 20 D
21 - 21 - 21 — 21 | —
22 e 22 — 22 — 22 —
23 — 23 — 23 —_— 23 -
24 — 24 — 24 — 24 —
25 - 25 — 25 - 5 | —




PRE-BOARD EXA/I\//! 23 ANSWER KEY )
T’ @ s P )7/
Subject: \/;/’W i//'rf/‘f"—/‘j‘//d.ﬁgf @

Class: /ZvL//

OBJECTIVE OBJECTIVE OBJECTIVE OBJECTIVE
PAPER CODE PAPER CODE PAPER CODE PAPER CODE
2573y 28734 2538 28

Q.# ANS Q.# ANS | Q.# ANS Q.# | ANS
A - N A B
2 A 2 A 2 /> 2 V7

3 M | 3 | C 3 | A 3 L&
4 ' j<_7 4 A 4 D 4 P

s e’ [ C s Ta s A
6 C 6 O, L 6 C. 6 ]

7 A 7 ' 7 2 7 I

8 C 8 |Ip 8 yz 8 o

9 L 9 A R i s [ A
10 P 10 A X0 A 10 C

11 A 11 A y?}\_c, 11 A

12 Y 12 /) 12V K 12 | &

13 /) 13 : 13 |2y | 13 D
14 D 14 /) 14 P | 14 /5

15 A 15 C 15 C ‘9"15 A

16 C. 16 A 16 D 1/@/‘/\ A

7 | 5 17 2 17 A 17 ¥R A
18 — 18 5 18 — 18 -
19 — 19 — 19 —_— 19 o
20 — 20 — 20 — 20 —
21 P 21 P 21 s A — |
22 o 22 — 22 — 22 —
23 — 23 — 23 — 23 —
24 — 24 i 24 —_— 24 .
25 P 25 e 25 ansil 25 e




PRE-BOARD EXAM 23 ANSWER KEY

7 s ’7. : 7
Subject: ((/;i;w/;’ L2 /:///,/

2

Class:
OBJECTIVE OBJECTIVE OBJECTIVE OBJECTIVE
PAPER CODE PAPER CODE PAPER CODE PAPER CODE
2842 254 2576 25t
| Q.# ANS Q.# ANS Q# | ANS | Q# | ANS
1 0o 1 € 1 &o 1 C
2<’2>f—’> 2 D 2 2 2 | B
3 o 3 D 3 P 3 D
4 SNy B 4 P 4 A
5 p Y5 | o | 5 | A | 5 | C
9 C 60, D 6 | ¢ | &6 | &
7 Z 7 XVSp 7 D 7 | B
8 D 8 |J \g\ 8 D 8 | A
9 i 9 o 9 B 9 D
e | 10 D'AZ?& p | w4
11 K 11 C h \,2\_,) ifv C.
12 A 12 B 2P 6 12 ¥l
13 /) 13 D 13 L ¢ L) 13 2
14 D 14 Z 14 C 14 A
15 2 15 C. 15 D 15 -]
16 C 16 C. 16 © {6’0 2
17 D 17 A 17 A 175K 5
18 P 18 /4 18 /) 18 /9’ i
N 19 I, 19 i 19 [
20 D 20 P 20 C 20 D
21 | 21 — 21 - 21 e
22 — 22 . 22 e 7, p—
T 23 - 23 — 23 — 23 —
24 — 24 — 24 — 24 | —
25 — 25 — 25 — 25 g




PRE-BOARD EXAM 23 ANSWER KEY

o) o N U2 ) ;,7 T l".
Subject: 4 z/ L/};{l’{ o ({/J
Class: /2'/’/1
OBJECTIVE OBJECTIVE OBJECTIVE OBJECTIVE
PAPER CODE PAPER CODE PAPER CODE PAPER CODE
> §4q ) 5§ 25573 pISLY
| Q.# ANS Q.# ANS Q.# ANS Q.# | ANS |

1 L P 1 B 1 /4 1 D

2 N 2 A 2 7 2 .

3 | C 3 ) 3 ) 3 )

Y .

4 A 4 E s P 4 p

5 ANy |4 5 C 5 | C

6 B X6 b 6 2 6 B

7 2 7<) D 7 D 7 2%

8 /) 8 2 8 C & o

9 b 9 ‘f; ﬂ% g 2 9 e |

10 P 10 D 4 10 Iy 10 b

11 e 11 C CNUNL A 11 A

4 .

12 A 12 A 12V C 12 )

13 ) 13 ) 13 X G 13 s
| 14 il 14 / 14 d 1 £

15 A 15 @ 15 A 5 2
p 16 I p 16 . A 16 A B~ O
B 17 c B 17 A B 17 C. R 4;)7 b
Gl B el C |eBrl B |oBE] C
awi| ¢ |gwia]l B GBI C [Pl H

20 s 20 — 20 - 20 -

21 o 21 — 21 — 21 —
22 | e 22 — » | — | 22 —
23 | — 23 - 73 | — | 23 -

24 = 24 — 24 ~ 24 —

25 — 25 s 25 i 25 —




PRE-BOARD EXAM 23  ANSWER KEY

N
P

Subject: f} : Z/V (v/) }
Class: /,?,%l[

OBJECTIVE OBJECTIVE OBJECTIVE OBJECTIVE
PAPER CODE PAPER CODE PAPER CODE PAPER CODE
2880 2552 2.68Y .55
Q.# ANS Q.# ANS Q.# ANS Q.# | ANS
1 1 D 1 /3 1 A 1 | A
2 INC 2 D 2 2 2 | D
NN 3 | C 3 | B
4 A~ 4 D 4 A 4 B
5 p R C 5 C 5 | C

6 A Xy, D 6 5 6 /)

7 2 7S C 7 B 7 D

8 A RY%E 8 4 E |

9 B o | Al 9 | D °o | A
0| ¢ | 1w h Y8 | C 0 | C
11 P 11 7| 4y D 11 b
12 D 12 7 124P »5C 2 | P

13 e 13 A 3 X | 13 | A
14 /) 14 A 14 A, ¢ 14 )
15 C. 15 C 15 A1 1| C

16 A 16 A 16 A B s D
17 ) 17 N 17 / 174 C
18 7 18 C. 18 A 18 | p
19 | ) 19 A 19 A 19 /]
20 C 20 . 20 r 20 3

21 — 21 p— 21 — 21 J—
22 — 22 — 22 — 22 —
23 — 23 — 23 — 23 —
24 — 24 - 24 — 24 J—
25 —— 25 — 25 - 25 —




PRE-BOARD EXAM 23 ANSWER KEY
Subject: _ STATISTICS

Class: 12)‘}’{"!
OBJECTIVE OBJECTIVE OBJECTIVE OBJECTIVE
PAPER CODE PAPER CODE PAPER CODE PAPER CODE
255K PRYAE b 1% . pR YL
Q.# ANS Q.# ANS | Q.# ANS Q.# ANS
PN /A 1 " 1 /4 1 A
2N B 2 B 2 D 2 C
3 >N 3 P 3 /) 3 ®
4 Bl 4 /1 4 y 4 /1
5 PN C 5 C 5 A
6 . X @ 5 I3 6 i) 6 2
7 £ 74V 5 H 7 A ) D
8 A 8 N/D 8 /1 8 D
9 15 9 AAL 9 A 9 s
10 A 10 7 X< A0 D 10 C
11 yZ 11 D | Xy D 11 b
12 D 12 /) 124 % A 12 /9
13 A 13 A 13 R, 13 D
14 A 14 o 14 Ko 14 A
15 C. 15 D 15 A A5 /)
16 D 16 7 16 D 2| D
17 / 17 i) 17 / 17 A
18 - 18 — 18 — 18 s
19 — 19 _— 19 i 19 -
20 o 20 — 20 — 20 —
21 — 21 — 21 o 21 .
22 — 27 e 22 — 22 —
23 — 23 — 23 - 23 —
24 — 24 — 24 J— 24 s
25 — 25 — | 25 - 25 —




4 Starr Inter Papers [ FyLksees

DUCATIONAL

PRE-BOARD raper

@ Issuance of DATE SHEET like board
@ Issuance of ROLL NO. SLIP like board
@ Issuance of ANSWER SHEET like board

@ Issuance of RESYLT SHEET like board

@ Issuance of ATTENZ:ANCE SHEET like board

SIOBASE V] = < o222,




